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2. 20189 % o3It AYPeT FEE
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3 A-AR-& 174 2H(A) 184 4} (B) S 7+ (B-A) %
Z A 11,695,100,000 |  11,589,570,000 105,530,000 0.9
Z 5 ¢ 5,222,561,000 4,951,108,000 £A271,453,000 A52
O 493 A 20,375,000 20,392,000 17,000 0.1
- A Ak4=9] 877,000 895,000 18,000 2.1
- Aol 16,213,000 16,213,000 - -
- A 3E gAY 2,170,000 2,183,000 13,000 0.6
- AU A A H Y 760,000 746,000 14,000 A18
- HHE 2 355,000 355,000 - -
[ $o)&TZANXNEEIA | 10,169,172,000 |  9,740,144,000 |  A429,028,000 A42
o TZMAALAA 5,077,630,000 5,282,889,000 205,259,000 4.0
- A Ak4=9] 15,870,000 15,870,000 - -
- Aol 54,484,000 54,484,000 - -
- A& g A 1,408,000 1,408,000 - -
- BE 2 19,000 19,000 - -
- SARAY B Y F 3 224,723,000 268,923,000 44,200,000 19.7
- AdTo)ldF 28,044,000 - 28,044,000 -
- ARG EE D7) g 4,753,082,000 | 4,942,185,000 189,103,000 4.0
o TAEEHAALAA 5,091,542,000 |  4,457,255,000 634,287,000 A12.5
- FolESHEA 3,783,000,000 | 3,818,800,000 35,800,000 0.9
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O AN LA LA L EE S A 42,925,000 42,925,000 - ;
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- Ao AF Y 20,911,000 20,911,000 - -
o §AAA 22,014,000 22,014,000 - -
- A AR 533,000 533,000 - -
- FAEAN AR LT3 21,481,000 21,481,000 - -
O JAEA AL E5EIA 9,100,000 9,000,000 100,000 A1
- HHE A 9,100,000 9,000,000 100,000 A11
O AL AHEHI A 15,729,000 18,854,000 3,125,000 19.9
o AE7)4A A 9,322,000 12,447,000 3,125,000 33.5
- AJAEEY 120,000 120,000 - -
- el dgS] 9,202,000 12,327,000 3,125,000 34
o AALAAA 6,407,000 6,407,000 - -
- A AR 137,000 137,000 - -

- Aol 6,270,000 6,270,000 - -
o AFEIAXNEAA - - - -
- Aol - - - -
[0 ¥3#EEIA 1,437,799,000 1,758,255,000 320,456,000 22.3
o £AA 1,437,799,000 |  1,758,255,000 320,456,000 223
- 79 EEI A AT 585,389,000 452,224,000 |  A133,165,000 ND22.7

- AFL LA T4 9,754,000 9,754,000 - -

- ARG R 7 E 842,656,000 | 1,296,277,000 453,621,000 53.8
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3,

T+ B 17 4H(B) 18] 4H(B) Z7H(B-A) %
= A 16,882,165,055 | 17,808,725,123 926,560,068 5.5
&= A 9,995,301,055 -|  29,995,301,055 Sowdy
TAE 8,076,204,055 |  8,579,367,123 503,163,068 6.2
[0 €934 4,981,454,055 |  6,100,224,123 1,118,770,068 22.5
- YukA = 573,442,055 656,173,123 82,731,068 14.4
- S AAARTA Y 4,231,021,000 | 5,227,428,000 996,407,000 23.6
-7EAES 176,991,000 216,623,000 39,632,000 224
[] Fo)&T2NHNEEI A 8,990,021,000 |  8,560,483,000 A 429,538,000 A48
o TFEMAANAAA 4,356,816,000 |  4,530,304,000 173,488,000 4.0
- A= 2,748,363,000 |  2,955,646,000 207,283,000 7.5
- S ATAY 1,291,126,000 | 1,213,972,000 ~77,154,000 £6.0
- 7edET 317,327,000 360,686,000 43,359,000 13.7
0 FOEEHAAAAA 4,633,205,000 | 4,030,179,000 2603,026,000 A13.0
- A= 1,894,709,000 |  1,919,530,000 24,821,000 1.3
- S AAAR A 1,364,717,000 |  1,011,034,000 A 353,683,000 A259
-7EdEE 1,373,779,000 |  1,099,615,000 £ 274,164,000 A20
O A LA EE I A 53,002,000 45,318,000 A7,684,000 | A145
o FAAA 37,601,000 33,953,000 13,648,000 £9.7
o TAAA 15,401,000 11,365,000 £ 4,036,000 £26.2
O JAEAZHEEHE I - - - -
[0 A9EAEEI A 1,419,889,000 |  1,343,445,000 A 76,444,000 A54
o A& 7HAA 1,352,519,000 |  1,287,368,000 265,151,000 ~48
o ZAAEAAR 14,647,000 6,277,000 /8,370,000 A57.1
o AFEHAATAA 45,854,000 42,107,000 A 3,747,000 ~82
o AlESEAAAIA A 6,869,000 8,693,000 1,824,000 26.6
O%3#gd EHE3 A 1,437,799,000 |  1,758,255,000 320,456,000 22.3
o =AAA 1,437,799,000 |  1,758,255,000 320,456,000 223
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110 11,964,485 12,625,193 660,708 55 252
o124
110-01 11,763,763 12,397,749 633,986 54 252
HA
110-02 22,651 36,702 14,051 62.0 260
plISESERS
110-05 178,071 190,742 12,671 7.1 261
CIDH2 At
6420 2,326,000 2,003,000  A323,000  Al39 261
SR 22|
242 2,119,000 1,814,000  A305000  Al44 261
ELOEIEBIE=E]
110 239,014 204528  A34486  Al44 261
o14H|
110-03 226,082 193,627  A32,655  Al44 26
NENE
110-04 12,732 10,901 A1831  Al44 262
agoz
210 1,490,548 1,183,782  A306,766  A20.6 262
S|
210-01 462,563 335,999  A126564 ~ A27.4 262
=t
210-02 047,542 211,932  A35610  Al44 263
ZZRIYLHA
210-03 17,400 14,894 A2506  Al44 265
I
210-05 41,518 35,539 A5979  Al44 265
Saohal|
210-07 46,108 39,468 A6640  Al44 265
Az
210-08 93,693 80,203  A13,490  Al44 265
K=
210-09 298,110 235000  A63,110  A212 266
NS R BISAIL]
210-11 21,801 11,036  A10,765  A49.4 267
HEH
210-12 198,613 165,612 A33,001  Al16.6 267
=215 4|




ELE

&, %]

CHRIALY MIRAE = MS

20172 Cll&H(A)

20184 Oil&HB) Z2H(C=B-A)

SZE(C/A) HOIX

210-16
JIEt=2EHI

220
(O]

220-01
=LHOH

220-02
EEERE
240
S
240-02

SN HRFE

250

Koo

250-0
S

N

02

&4l

320

gizho|d

320-09

nE=LEE

210-01

110

Q1244

110-0
JIEHH

A
e

kL™

210
22|

210-01

AL ZH|

210-03
o=l

210-04
24|

220

o1t

220-01
=LHOH]

292
SAI1=3

63,200

272,664

247,256

25,408

36,882

36,882

71,447

71,447

8,445

8,445

21,000

21,000

21,000

14,000

4,755

4,755

6,437

888

118

5,431

2,808

2,808

164,000

54,099

273,895

247,457

26,438

33,722

33,722

61,163

61,163

56,910

56,910

19,000

19,000

19,000

13,000

4,415

4,415

5,978

826

109

5,043

2,607

2,607

150,000

A9, 101

1,231

201

1,030

A3,160

A3,160

A10,284

A10,284

48,465

48,465

A2,000

A2,000

A2,000

A1,000

A340

A340

A459

AG2

A9

A388

A201

A201

A 14,000

A144

0.5

0.1

4.1

A8.6

A8.6

Al44

A14.4

573.9

573.9

A95

A0S

AQ5

A7 1

A7.?

A7.2

A7

A7.0

A76

A7

A72

A7?

A8.5

268

268

268

271

271

271

272

272

272

272

273

273

273

273

273

273

273

273

274

274

274

274

274
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(e

&, %]

A HISAE = M=

20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

260 10,414 9,625 A789 A76 274
cingely|
260-01 10,414 9,625 A789 A76 274
Bt Y|
430 153,586 140,375 13,211 A86 274
S
430-01 153,586 140,375 13,211 A86 274
RS S|
8,000 7000  A1,000  Al25 275
REF A2 HH|
430 8,000 7000  A1,000  Al25 275
SE At
430-01 8,000 7,000  A1,000  Al25 275
RS S|
3,240,000 3,342,000 102,000 31 275
SAZZOANSADNSS
531 2,783,000 2,885,000 102,000 3.7 275
SAED2ADNSADNSAY|
00 2,333,000 2,435,000 102,000 44 275
SAERLANSANSSY
110 343,894 160,480  A174414  A507 275
01214
110-03 338,204 166,480  A171,814  A508 275
=S
110-04 5,600 3000  A2600  A464 275
gz
210 1,585,006 2,096,693 511,687 323 275
2|
210-01 174,829 485693 310,864  177.8 275
B
210-02 58,000 38000 420,000 ~ A345 275
ZZRIYLMA
210-07 72,000 72,000 0 0.0 276
xi2
210-08 25,000 20,000  A5000 ~ A200 276
54|
210-09 50,000 216,000 166,000  332.0 276
A& EHIS b
210-12 1,000 3,000 2,000 2000 276
EE]
210-14 381,177 439,000 57,823 152 276
syl
210-15 823,000 823,000 0 0.0 277
REIE=E]
220 6,380 6,201 A179 A28 277
o1t
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LS|/ SERLUASE (&9l @ &R, %)

Z0F B2 Z208 H2AMS ARAIRY 3 M= 20174 Oil&HA)  2018E Oll&H(B) BZHC=B-A) SZ=(C/A) HIOIX

220-01 6,380 6,201 A179 A28 277
=004t
240 720 626 A% Af31 277
Ry
240-01 720 626 A% Af31 277
ArRIZ=EIH|
260 0 60,000 60,000 &5 277
oipg o)
260-01 0 60,000 60,000 == 277
ol Y|
320 25,000 31,000 6,000 240 277
o12H0
320-09 25,000 31,000 6,000 240 277
=L
420 198,000 0  A198,000 =2 277
2]
420-03 198,000 0  A198,000 =2 277
A
430 174,000 70,000  A104,000 ~ A59.8 277
ST
430-01 174,000 70,000  A104000  A59.8 278
TS|
440 0 1,000 1,000 &5 278
LTI
440-00 0 1,000 1,000 &5 278
ST
303 450,000 450,000 0 0.0 278
SAZZLADSASAUZLI
110 130,000 0  A130,000 &2
o121t
110-03 130,000 0  A130,000 &2
NEEE
210 255,132 384,889 129,757 509 278
o)
210-01 70,355 183912 113557 1614 278
At
210-02 38,000 38,000 0 0.0 278
ZZRILHA
210-03 7,650 7,850 200 26 278
=yl
210-05 3,400 3,400 0 0.0 278
=20pAl|
210-07 16,460 16,460 0 0.0 279
Axt2
210-08 24,567 31,567 7,000 285 279

anadsl
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&, %]

=t

A HISAE = M=

20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

210-09
AEZEHI= X

210-11
M=

210-16
JIEt2Esl

210-01

S Ll =l

260
g

260-01
2101 Y|

91,600

1,500

1,600

20,400

20,400

6,468

6,468

38,000

38,000

457,000

457,000

284,000

8,000

86,000

190,000

95,000

95,000

78,000

78,000

247,306,609

53,806,551

53,806,551

53,806,551

100,000

2,100

1,600

19,829

19,829

5,627

5,627

39,655

39,655

457,000

457,000

284,000

8,000

86,000

190,000

95,000

95,000

78,000

78,000

263,667,213

57,836,251

57,836,251

57,836,251

8,400

600

A571

AL

AB41

AB41

1,655

1,655

16,360,604

4,029,700

4,029,700

4,029,700

9.2

40.0

0.0

A28

A28

A13.0

A13.0

4.4

4.4

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

6.6

7.5

7.5

7.5

279

279

279

279

280

280

280

280

280

280

280

280

280

280

280

281

281

281

281

281

281

281

281
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&, %]

S0H 22 TR0 ORI HRAY 2 S

20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

110-01 42,756,656
CPS
110-02 10,429,631
p[SES=ES
110-05 620,264
oIt A
7002 145,775,058
A&D|BOIAY|
110 81,980,019
(BY)sSSBRIRIAY)
110 81,980,019
01214
110-01 80,533,661
Ha
110-02 222,942
p[SES=E
110-05 1,223,416
o1t At
15 2,734,582
(BY%)sAEIRA DS
110 2,734,582
01214
110-01 2,686,293
P
110-02 6,734
p[SES=ES
110-05 41,555
o1t 2 At
134 61,060,457
Zo) 52 EA2I 22012
110 61,060,457
01214
110-01 59,157,752
o
110-02 1,048,788
p[SES=ES
110-05 853,917
oL A
7011 10,461,000
=)=y
200 2,018,000
(B2)71=22HI(SSXAD S)
110 264,954
01214
110-03 213,927
NEEE

46,300,050

10,884,768

651,433

157,793,962

86,177,326

86,177,326

84,608,789

253,257

1,315,280

2,991,681

2,991,681

2,947,544

44,137

68,624,955

68,624,955

66,425,597

1,313,044

886,314

10,725,000

1,921,000

259,304

256,304

3,543,394

455,137

31,169

12,018,904

4,197,307

4,197,307

4,075,128

30,315

91,864

257,099

257,099

261,251

AG,734

2,582

7,564,498

7,564,498

7,267,845

264,256

32,397

264,000

A97,000

A5,650

42,377

8.3

4.4

5.0

8.2

5.1

5.1

5.1

13.6

7.5

9.4

12.4

12.4

12.3

25.2

3.8

2.5

A48

A2 1

19.8

281

292

295

296

297

297

297

307

307

308

308

308

314

315

315

315

329

333

334

334

334

334
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&, %]

20F 22 D20 SRAY MISAR S HIS | 20173 CIAHA) 2018 CIAKB) S2H(C=B-A) S2E(C/A) HOIX
110-04 51,027 3000  A48027  A941 335
SEHE
210 1,191,726 103502  A156700  A13.1 335
29|
210-05 134,576 60,000  A74576  A554 335
= 20441
210-06 35,020 34,500 A50  Al5 336
x|
210-12 530,035 543,954 13,919 26 33
SHEXT
210-16 492,095 396,572  A95523 194 337
JIEr2 |
250 561,320 578,300 16,980 30 337
EPR R
250-02 544,320 561,300 16,980 31 337
BT
250-03 17,000 17,000 0 0.0 338
Szozy)
320 0 48,370 48,370 =3 338
2I2H0] &
320-09 0 48,370 48,370 == 338
InE=L =
201 140,000 140,000 0 0.0 339
ELPIEETHIGIE)
210 122,000 122,000 0 0.0 339
23|
210-05 110,000 110,000 0 0.0 339
=20HAl|
210-16 12,000 12,000 0 0.0 339
JlEr2 |
250 18,000 18,000 0 0.0 339
= @43 H|
250-03 18,000 18,000 0 0.0 339
Sz
202 94,000 70,000  A24,000 ~ A255 339
EESIEETE=EEED
210 94,000 70,000  A24000 ~ A255 339
23|
210-05 91,600 67600  A24000  A26.2 339
=20HAl|
210-16 2,400 2,400 0 0.0 340
JlEr2 |
203 77,000 52,000  A25000  A325 340
(Bo))I=HY| (M)
210 77,000 52,000  A25000  A325 340

24|
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=2 (&9l @ &R, %)

THRIALY HISAY 2 MIS 20174 Oil&HA)  2018E Oll&H(B) BZHC=B-A) SZ=(C/A) HIOIX

210-05 74,600 49,600 A25,000 A335 340
=204l
210-16 2,400 2,400 0 0.0 340
JlEr2 |
204 201,000 172,000 A29,000 A14.4 340
(BH))I=ZHI(ZHESR)
110 127,728 115,000 A12,728 A10.0 340
oIt
110-03 127,728 115,000 A12,728 A10.0 340
Age3
210 58,872 45,000 A13,872 A23.6 340
=gyl
210-05 53,872 40,000  A13872  A257 340
R
210-16 5,000 5,000 0 0.0 340
JlEr2 |
320 14,400 12,000 A2,400 A16.7 340
0I2H0] &
320-09 14,400 12,000 A2,400 A16.7 340
=L
205 89,000 60,000 A29,000 A326 341
(BH)) =2 (sERHR)
210 89,000 60,000 A29,000 A326 341
=9yl
210-05 83,000 54,000 A29,000 A349 341
=204 A1H|
210-16 6,000 6,000 0 0.0 341
BIEE-L]
206 72,000 53,000 A 19,000 A26.4 341
(Z%)7122HI(BTSAEZ D)
210 72,000 53,000 A 19,000 A26.4 341
=gyl
210-05 69,600 50,600 A 19,000 A273 341
=20Abl
210-16 2,400 2,400 0 0.0 341
JlEr2 |
207 77,000 70,000 A7,000 A0l 341
(BoH))| 22| (BAE M=)
210 77,000 70,000 A7,000 A0 1 341
=9yl
210-05 74,600 67,600 A7,000 A94 341
=20pAb|
210-16 2,400 2,400 0 0.0 341
JlEr2 |
208 2,000 0 A2,000 =
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LS|/ SERLUASE (&9l @ &R, %)

Z0F B2 Z208 H2AMS ARAIRY 3 M= 20174 Oil&HA)  2018E Oll&H(B) BZHC=B-A) SZ=(C/A) HIOIX

110 2,000 0 42000 a2
o121t
110-02 2,000 0 42000 a2
p[SES=ES
212 76,000 61,000  A15000 4197 342
(B))| 2B (MBS Y2
210 76,000 61,000  A15000 4197 342
2ot
210-05 70,000 55000  A15000 214 342
= 204Al|
210-16 6,000 6,000 0 0.0 342
JlEr2 Y|
216 0 58,000 58,000 == 342
EE Bl EETEIEI=F L E)
210 0 58,000 58,000 =5 342
29|
210-05 0 55,600 55,600 =5 342
=20pAl|
210-16 0 2,400 2,400 =5 342
JlEr2 |
250 2,803,000 2,930,000 127,000 45 342
=SSN S)
210 1,553,347 1,345,964  A207,383  A134 342
29|
210-01 959,485 846,964  A112,521  Al17 342
AstLgY|
210-02 169,204 138284  A30920  A183 348
ZZRILHA
210-07 171,216 159,216 412,000 A70 350
S
210-08 89,040 75600  A13440  A151 350
2|
210-09 93,502 55000  A38502  A412 350
NS IS
210-15 70,900 70,900 0 0.0 351
oIz |
220 562,376 506,741  A55,635 A96 351
ol
220-01 390,466 330,120 460,337  Al55 351
=004t
220-02 191,910 196,612 4,702 25 353
=29/ L0i|
240 278,045 248000 430,045  A10.8 356
RETIY|
240-02 278,045 248000 430,045  A10.8 356

SNSRI
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LS|/ SERLUASE (&9l @ &R, %)

Z0F B2 Z208 H2AMS ARAIRY 3 M= 20174 Oil&HA)  2018E Oll&H(B) BZHC=B-A) SZ=(C/A) HIOIX

260 27,602 26,880 A72? A6 257
cingely|
260-01 27,602 26,880 A722 A26 257
Bt Y|
310 88,737 72415  A16322  A184 257
ErSE
310-03 88,737 72415  A16322  A184 257
zaZ
320 45,827 0 A45827 w2
0I240| &
320-09 45,827 0 A45827 w2
nEsgz
430 227,066 210,000  A17,066 A75 357
SE XM
430-01 227,066 210,000  A17,066 A75 357
e S|
440 0 500,000 500,000 &Z 358
SE T
440-00 0 500,000 500,000 &Z 358
S TfAt
251 1,610,000 1,656,000 46,000 29 358
PIEETGIERY)
210 1,221,344 1,236,994 15,650 13 358
2|
210-01 1,160,470 1,176,120 15,650 1.3 358
B
210-02 40,157 40,157 0 0.0 362
ZZRIYHA
210-07 20,717 20,717 0 0.0 362
oixi2
220 179,923 211,006 31,083 17.3 363
o1t
220-01 152,740 172,823 20,083 13.1 363
2404
220-02 27,183 38,183 11,000 405 363
=292i2014|
240 168,733 158,000 410,733 A64 365
R zIY|
240-02 168,733 158,000 410,733 A64 365
N2
260 40,000 50,000 10,000 250 366
cingely|
260-01 40,000 50,000 10,000 250 366
Bt Y|
252 360,000 366,000 6,000 1.7 366

IEETICHEEES
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[SH9) : ®R, %]

8 HRAAY MRAE = M=

20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

210
24|

210-01

st

-02

0
SQ=LAHA

0H ™

-07

=

o N
X o

1
I

0

220
0]l

220-01
=LH0I]

220-02

=9/ 201H|

240
eExY|
240-02

BNYRETY|

253

=R ER)

fn et

210
22|

210-01

s S|

210-02
SERSLMA
210-07

SPNI=

210-09
AEZEHIF X

210-11
P\ K=Aa]

220
O]

220-01
=LH0IH|

220-02
=2 20|

240

HPa|

240-02

SN EEESS]

@
o
]

209,239

199,404

7,064

2,771

134,858

109,818

25,040

15,903

15,903

501,000

209,110

191,048

5,082

12,978

172,913

110,764

62,149

20,097

20,097

98,880

98,880

207,307

197,307

6,000

4,000

144,853

109,818

35,035

13,840

13,840

501,000

210,644

192,585

5,079

12,978

173,986

110,764

63,222

17,490

17,490

98,880

98,880

A1,932

A2,097

A1,064

1,229

9,995

9,995

A?2,063

A?2,063

1,534

1,537

A3

1,073

1,073

A2,607

A2,607

A0.9 366

A1l 366

A151 369

44.4 369

7.4 369

0.0 369

39.9 370

A13.0 373

A13.0 373

0.0 374

0.7 374

0.8 374

A0.1 377

0.0 377

0.0 377

0.0 377

0.6 378

0.0 378

1.7 379

A13.0 384

A13.0 384

0.0 385

0.0 385
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ELE

HE, %)

S0H 22 TR0 ORI HRAY 2 S

20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

254

Jl23gul(=

210

HEge=)

2|

220
O]

240

210-01

ousg|

1

0
jarn arn §
oo

N

-02
SSHHA
-07

t=

o N
o

1
I

0

220-01
=LHOH

220-02

=2AH 20|

o=yl

255

240-02

SIS EES ST

J|2HH|(s=ZM2)

ST o™

210

24l

220
O]

240

210-01

Astrg|
210-02
Z2QIUHA

210-07

EPNI=

220-01
=LHOH

220-02
p=Nejle;] \:IO:IH'

e

R zIY|

256

Jl2ZHI(REsAEH

210

240-02

2AMH2EZIY|

J2
[

=/

24|

210-01

eS|

404,000

76,106

59,345

15,761

1,000

291,139

83,098

208,041

36,755

36,755

354,000

209,298

195,820

8,928

4,550

124,990

101,710

23,280

19,712

19,712

368,000

187,512

176,512

404,000

79,429

62,165

16,234

1,030

292,581

83,943

208,638

31,990

31,990

364,000

206,676

193,676

9,500

3,500

135,324

101,711

33,613

22,000

22,000

368,000

188,036

177,736

0

3,323

2,820

473

30

1,442

845

597

A4,765

A4,765

10,000

A2,622

A2,144

572

A1,050

10,334

10,333

2,288

2,288

524

1,224

0.0

4.4

4.8

3.0

3.0

0.5

1.0

0.3

A13.0

A13.0

2.8

Al

6.4

A23.1

8.3

0.0

44.4

0.0

0.3

0.7

385

385

385

386

386

386

386

386

387

387

388

388

388

389

390

390

390

391

392

392

393

393

393




ELE

&, %]

S0H 22 TR0 ORI HRAY 2 S

20172 Cll&H(A)

20184 Oil&HB) Z2H(C=B-A)

SZE(C/A) HOIX

210-02
SZRIUHA
210-07
S
220
o1t
220-01
ST
220-02
29/AL04|
240
RExY|
240-02
BNLREZY|
257
SIEETEG-EE)
210
=Ll
210-01
st
210-02
ZZRILHA
210-07
oz
220
o1t
220-01
=004t
220-02
=29/ 20i|
240
YREXY|
240-02
BALRET|
258
TUILRAULE(SYXAD S)
210
29|
210-03
=yl
210-04
24|
220
o1t
220-01
ST

5,000

6,000

165,170

114,655

50,515

15,318

15,318

448,000

195,420

184,420

7,000

4,000

241,021

140,993

100,028

11,559

11,559

4,000

1,699

219

1,480

2,301

2,301

4,300

6,000

166,644

114,655

51,989

13,320

13,320

448,000

223,404

210,954

7,000

5,450

212,336

127,513

84,823

12,260

12,260

A700

1,474

1,474

A1,998

A1,998

27,984

26,534

1,450

A28,685

A13,480

A15,205

701

701

A4,000

A1,699

A219

A1,480

A2 301

A2 301

A14.0

0.0

0.9

0.0

2.9

A13.0

A13.0

0.0

14.3

14.4

0.0

36.3

A11.9

A96

A152

H>
0

M H M
0y 0y 0y 0y

M

\J

M
0

395

395

395

395

396

398

398

400

400

400

401

402

402

402

403

405

405
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S0b 22 D202 O9A HIRAR 2 IS | 20174 OI4HA) 2018 G4HB) Z2H(C=B-A) SLE(C/A) HIOIX
262 330,000 330,000 0 0.0 406
JI=AHI(A BT D)

210 131,321 131,440 119 0.1 406
9yl
210-01 119,321 119,440 119 0.1 406
AL |
210-02 12,000 8,000 A4,000 A33.3 407
DZLIUNAI
210-07 0 4,000 4,000 =5 407
AxiE
220 177,679 178,800 1,121 0.6 408
ol
220-01 100,102 100,102 0 0.0 408
=004t
220-02 77,577 78,698 1,121 1.4 408
29/t201t)
240 21,000 19,760 A1,240 A59 411
=Y
240-02 21,000 19,760 A1,240 A59 411
BNAREY|
263 72,000 54,000 A 18,000 A250 412
(B%))12BH(RSLHIZ 2D
210 72,000 54,000 A 18,000 A250 412
=9yl
210-05 69,600 51,600 A18,000 A259 412
=204 A1H|
210-16 2,400 2,400 0 0.0 412
JlEr2 gl
264 361,000 361,000 0 0.0 412
PIEETICERN PR
210 173,692 173,626 AGH 0.0 412
=gyl
210-01 163,692 165,426 1,734 1.1 412
AL |
210-02 6,000 4,100 A1,900 A31.7 413
2DLIUTAI
210-07 4,000 4,100 100 25 414
axt=
220 172,845 174,784 1,939 1.1 414
o1t
220-01 126,845 126,084 A761 AQ6 414
=004t
220-02 46,000 48,700 2,700 59 415
2e/20i|
240 14,463 12,590 A1,873 A13.0 416




B/ SREAAESR [l 0 &S, %]
S0F 22 D202 HAY AIRAY S HIS | 20178 0laA) 2018 OI4HB) Z2(C=B-A) SZE(C/A) HOIX
240-02 14,463 12,590 A1873  Al30 418
2NLREXI|
266 0 286,000 286,000 &= 418
PIEELIEIEE L)
210 0 165,703 165,703 &= 418
2|
210-01 0 156,703 156,703 &= 418
Br2|
210-02 0 5,000 5,000 &5 419
TTRIYLHA
210-07 0 4,000 4,000 &5 420
xt2
220 0 110,297 110,297 &5 420
o1l
220-01 0 75,000 75,000 &5 420
ST
220-02 0 35,297 36,297 =z 421
=91201H|
240 0 10,000 10,000 &5 422
YLy
240-02 0 10,000 10,000 &5 420
ZNLLEE|
7018 17,073,000 16,191,000 882,000 A52 423
A2 2|23
220 2,341,000 2,393,000 52,000 22 423
(B sASER 2RI =2
110 296,792 312,852 16,060 5.4 423
014l
110-03 142,688 169,962 27,274 19.1 423
Mgz
110-04 154,104 142,800  Al11,214 A73 423
agolz
210 1,720,140 1,694,219 425921 Al5 423
2|
210-05 100,670 90,000  A10,670  A10.6 423
s2oAll
210-06 2,050 0 A2,050 &2t
o2 AH|
210-12 1,229,680 1,186,064 443,616 A35 424
=254
210-16 387,740 418,155 30,415 7.8 424
PISEEL]
250 306,831 347,820 40,989 13.4 425
BT
250-02 306,831 347,820 40,989 13.4 425

PN}
a

[
02

S ketsl
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20F 22 D20 SRA MIRAR S IS | 20178 GIAHA) 2018 OIAHB) S2H(C=B-A) ZZE(C/A) HOIX|
320 17,237 38,109 20872 1211 426
JEIES
320-09 17,237 38,109 20872 1211 426
E=EI=E
221 4,000 4,000 0 0.0 426
(B sASER BV LSS
210 4,000 4,000 0 0.0 426
S|
210-05 4,000 4,000 0 0.0 426
S20HAH|
223 14,000 13,000 41,000 A71 426
(BU)SASEIUVTALALE
110 14,000 13,000 41,000 A71 426
o121H|
110-02 14,000 13,000 41,000 A7 426
JIEHE 24
224 107,000 98,000 49,000 A84 426
(B =sABTLADSAI| =YL
110 1,701 1,732 31 1.8 426
o121t
110-04 1,701 1,732 31 1.8 426
ugez
210 79,499 70,468 A9,031  All4 426
S|
210-05 15,697 6,667  A9030  A57.5 427
S 2044
210-06 9,600 10,200 600 6.3 427
k]
210-12 34,000 33,611 A389 ALl 427
=2|E |
210-16 20,202 19,990 A212 A0 427
JIErE |
250 25,800 25,800 0 0.0 427
X4 s
250-02 25,800 25,800 0 0.0 427
Xz S|
226 4,000 4,000 0 0.0 428
(BU)SABTLANSATA2LLA2Y
110 4,000 4,000 0 0.0 428
o121t
110-02 4,000 4,000 0 0.0 428
pJISEERS
70 6,676,000 6,304,000  A372,000 A56 428
SASERLIRI| 2|
21 3,234,570 2,914,806  A319,764 A99 428
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20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

210-01 915,740
Bt~ZH|
210-02 980,523
SSRSLMA
210-03 9,172
I|=4l
210-07 113,700
Ux=
210-08 290,640
]l
210-09 503,560
A& ZHI S XIH
210-11 94,435
MEH|
210-14 82,000
UBIZAH|
210-15 244,800
el 29|
220 2,845,411
(©:15]]
220-01 2,760,428
=LKL
220-02 84,983
=2 20|
240 91,519
ARF=XIH|
240-02 91,519
A RFEY|
310 5,000
B&3
310-03 5,000
ZAS
430 499,500
S XA
430-01 499,500
=]
494,000
S ACYATAMS2HA|
210 300,586
29|
210-01 71,150
Bt~ZH|
210-09 66,926
AEZHIKXIH
210-15 162,510
Ze| 29|

851,368

980,523

7,000

113,700

290,640

279,260

85,515

62,000

244,800

2,853,194

2,766,833

86,361

84,000

84,000

5,000

5,000

447,000

447,000

451,000

111,513

51,920

43,346

16,247

AG4,372

A2 172

A224,300

A8,920

A20,000

7,783

6,405

1,378

A7,519

A7,519

A52,500

A52,500

A43,000

A189,073

A19,230

A23,580

A 146,263

A7.0

0.0

A23.7

0.0

0.0

A445

A9 4

A24 4

0.0

0.3

0.2

A8.2

A82

0.0

0.0

A10.5

A10.5

A87

AG2.9

A27.0

A352

A90.0

428

430

433

433

433

434

435

437

437

437

437

442

444

444

444

444

444

445

445

445

445

446

446

_65_
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20t 22 T2 AR KISARR 2 KIS | 20178 GIAHA) 20184 GIAHB) Z2H(C=B-A) SZE(C/A) HIOIX
220 40,533 27547  A12985  A320 446
o1t
220-01 40,533 27547  A12986  A320 446
=004t
430 152,881 311,940 159,089 1040 446
ST
430-01 152,881 311,940 159,089 1040 446
yREET
12,000 11,000  A1,000  A83 446
SEIMLATADLRWLE
210 7,536 653  A1,000  A133 446
29|
210-03 1,966 983 A983  A500 447
=yl
210-04 5,570 5,553 Al7  A03 447
24|
220 4,464 4,464 0 0.0 447
o1t
220-01 4,464 4,464 0 0.0 447
ST
684,000 652,000 432,000 A4T 447
E32NSAI=HY|
110 236,480 0 4236480 =2
o121y|
10-03 236,480 0 4236480 =2
B
210 380,878 585,713 204,835 53.8 447
29|
210-01 186,624 402,756 216132 1158 447
A2l
210-02 44,730 41,938 A2792  A62 448
2ZLIUNA
210-03 3,000 2,000  A1,000  A333 449
=l
210-07 3,200 2,512 AG83  A215 449
Azt
210-08 63,574 54204  A9350  Al47 449
=4l
210-09 29,616 30,587 971 33 449
RS
210-11 2,134 2,208 74 35 450
M=l
210-14 38,400 39,600 1,200 3.1 450
SRR
210-15 9,600 9,888 288 30 450
EEELT




LS|/ SERLUASE (&9l @ &R, %)

S0F 22 D203 O9A HIRAR 2 MS | 2017 CIAHA) 2018 BIAHB) Z2(C=B-A) ZZE(C/A) HOIX
220 51,200 52,197 997 1.9 450
ol

220-01 41,000 40,997 A3 0.0 450
=401l
220-02 10,200 11,200 1,000 9.8 451
29/H204H|
240 12,442 11,000  A1,442  Al16 451
x|
240-02 12,442 11,000 41442  Al16 451
EREEES I
430 3,000 3,090 90 3.0 451
S
430-01 3,000 3,090 90 3.0 451
TS|
275 73,000 67,000 46,000 A82 45
SAEZLANSATALIAY|
210 72,234 66,231 46,003 A83 451
29|
210-01 5,521 5,671 150 2.7 451
st
210-02 66,713 60560 46,153 A92 451
ZZRILHA
220 766 769 3 0.4 451
o1t
220-01 766 769 3 0.4 451
=004t
276 5,000 5,000 0 0.0 452
SAZZPANSATARLRASE
210 3,733 3,733 0 0.0 452
29|
210-03 565 565 0 0.0 452
=]
210-04 3,168 3,168 0 0.0 452
=L
220 1,267 1,267 0 0.0 452
o1t
220-01 1,267 1,267 0 0.0 452
=004t
301 1,552,000 1,934,000 382,000 246 452
(BY)ssMAA =) =HY|
110 53,568 362,662 309,094  577.0 452
o121t
110-03 29,048 347,802 318754  1,097.3 452
NEEE
110-04 24,520 14,860  A9660  A39.4 453
gz
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HE, %)

S0H 22 TR0 ORI HRAY 2 S

20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

210
24|

210-05

SZ20HAI

210-06

]

210-12

=2/ 44|

210-16
JIEr2EHI

320

110-02

210-01

NN =N
S xS WO
o Mo ZEo
(09 ~ @D

10
Ju
=

210-09
AEZHIS X

210-14

=S|

210-15

2[S9

220
O]l

1,201,612

118,763

21,300

800,740

260,809

296,820

296,820

135,000

135,000

135,000

3,307,000

1,819,090

501,890

121,479

29,600

189,727

284,750

87,620

604,024

1,076,104

1,175,003

18,985

21,300

803,258

331,460

298,620

298,620

97,715

97,715

93,000

93,000

93,000

2,642,000

1,185,032

422,619

80,559

29,476

184,727

217,419

62,620

26,000

161,612

1,094,968

A26,609

A99,778

2,518

70,651

1,800

1,800

97,715

97,715

A42,000

A42,000

A42,000

AG65,000

A(34,058

A79,271

440,920

A124

A5,000

AG7,331

A25,000

26,000

A442,412

18,864

A22

AB4.0

0.0

0.3

27.1

0.6

0.6

M
0l

M
0l

A31.1

A31.1

A20.1

A34.9

A158

A33.7

A04

A2 6

A23.6

A28.5

M
0l

A73.2

1.8

453

453

453

453

454

456

456

458

458

458

458

458

459

459

459

462

462

463

464

464

465

465

467
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CHRIALY MIRAE = MS

20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

220-01
=LHOH

220-02
=20
240

=Ty

240-02

SNSRI

210-01

S Ll =l

210-02
SERSLMA
210-07

EPNI=

210-09
AEZHI= X

210-16
JIEt2Esl

956,152

119,952

59,907

59,907

10,000

10,000

26,331

26,331

315,568

315,568

1,611,000

1,346,316

4,168

412,296

917,724

6,457

5,671

1,745

1,745

262,939

262,939

54,000

36,846

971,777

123,191

55,000

55,000

307,000

307,000

1,471,000

1,206,316

4,168

277,524

912,496

6,457

5,671

1,745

1,745

262,939

262,939

49,000

36,797

15,625

3,239

A4.907

A4.907

A 10,000

A 10,000

A26,331

A26,331

AB,568

AB8,568

A 140,000

A 140,000

A134,772

A5228

A5,000

A49

1.6 467

2.7 468

A82 470

A82 470

0

H H
0y 0y

Hx

\J

H
0

A27 4N

A27 AN
AB.7 472
A10.4 472
0.0 472
A32.7 472
AQ6 473
0.0 473
0.0 473
0.0 473
0.0 473
0.0 473
0.0 473
AJ3 474

A0.1 474
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Z0F B2 Z208 H2AMS ARAIRY 3 M= 20174 Oil&HA)  2018E Oll&H(B) BZHC=B-A) SZ=(C/A) HIOIX

210-02 0 1,078 1,078 =5 474
2Z23YHA
210-03 5,503 7,207 1,704 31.0 474
=l
210-04 31,343 28512 42,831 A90 474
=
220 15,782 12,203  A3579  A227 474
ol
220-01 15,782 12,003  A3,579  A227 474
240l
320 1,372 0 A3 =2
oI2H0l &
320-02 1,372 0 A1372 =2
SRS ENET
7033 4,049,000 2,949,000 A1,100,000  A27.2 475
K|
304 228,000 217,000  A11,000 A48 475
HE2Yy
210 199,000 183,000  A11,000  A55 475
23|
210-01 199,000 183,000  A11,000  A55 475
Bk H|
310 29,000 29,000 0 0.0 475
23
310-03 29,000 29,000 0 0.0 475
Ta3
321 1,169,000 1,169,000 0 0.0 475
SOIRI0l AtOI BHA BEBY K
210 1,133,940 1,141,560 7,620 0.7 475
29|
210-01 121,868 129,488 7,620 6.3 475
Bk H|
210-14 1,012,072 1,012,072 0 0.0 476
SRR
220 18,456 12919  A5537  A300 476
o1l
220-01 10,340 7,038 A3102  A300 476
240l
220-02 8,116 5,681 A2435  A30.0 476
29/20/H)
240 16,604 14,521 A2083  A125 477
2Tyl
240-01 16,604 14,521 A2083  A125 477
EEST
326 1,413,000 1,563,000 150,000 10.6 477




[etel -

&, %]

S0H 22 TR0 ORI HRAY 2 S

20172 Cll&H(A)

2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

210 1,172,011
29|
210-01 227,011
SRS =]
210-07 7,000
EpE:
210-14 888,000
astg o]
210-15 50,000
oIz
220 37,989
o1t
220-02 37,989
=29/ 20i|
240 2,000
EEES ]
240-01 2,000
ArRIZ=ZIH|
260 151,000
clpg |
260-01 151,000
2101 Y|
310 50,000
ErE
310-03 50,000
a3
335 34,000
SACAl OIF KR (B RS54 AHE)
210 34,000
29|
210-12 34,000
=234
337 1,205,000
SATAl OIFKIR(2e =)
210 1,205,000
29|
210-12 1,205,000
e
7049 16,142,000
HASE 2 AR
301 275,000
HAAETIR(25)
210 275,000
2ot
210-09 221,000

ANEEHIKX

1,223,373

128,373

7,000

1,038,000

50,000

36,887

36,887

1,740

1,740

251,000

251,000

50,000

50,000

18,172,000

200,000

200,000

146,000

51,362 4.4 477
A08,638 A435 477
0 0.0 478
150,000 16.9 478
0 0.0 478
A1,102 A29 478
A1,102 A29 478
A260 A13.0 478
A260 A13.0 478
100,000 66.2 478
100,000 66.2 479
0 0.0 479
0 0.0
A34,000 =2
A34,000 =2
A34,000 =2
A1,205,000 =2
A1,205,000 =z
A1,205,000 =z
2,030,000 12.6 479
A75,000 A27.3 479
A75,000 A27.3 479
A75,000 A33.9 479
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2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

210-15

2els9|

335

HAAL2e(s2

210
24|

0

)

210-01

ousigH|

210-07
ext=
210-15

e8|

420

21&H|

420-02
SAIE A

420-03
SAHI

354
BEAMAE X (BAH)

210
24|

54,000

2,976,000

959,040

107,000

105,600

746,440

1,633,460

10,000

1,623,460

383,500

383,500

563,000

146,000

120,000

26,000

405,000

405,000

12,000

12,000

54,000

3,638,000

1,593,040

160,000

116,040

1,317,000

1,625,460

10,000

1,615,460

383,500

383,500

36,000

36,000

917,000

26,000

26,000

679,000

679,000

12,000

12,000

200,000

200,000

0

662,000

634,000

53,000

10,440

570,560

A8,000

A8,000

36,000

36,000

354,000

A 120,000

A 120,000

274,000

274,000

200,000

200,000

0.0

22.2

66.1

49.5

9.9

76.4

AQ5

0.0

AQ5

0.0

67.7

67.7

0.0

0.0

M
0l

M
0l

479

479

479

480

480

480

480

480

481

481

481

481

481

481

481

481

481

481

482

482

482

482

482
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2018 (il&HB) B2H(C=B-A) SZ&(C/A) HIOIXI

361

HAA| 2| (BE=)

210
2|
210-01

ousig|

1

0
jarn arn §
oo

N

-02
SSHHA
-0

t=

N
S

no
(@} o

10-08

=S4

210-09
AEZEHI= X

210-15

2| ES|

420

2&H|

420-01
JIEZEAE A

420-02
SAIEHBI

420-03
SAHI

420-04
Ztell

420-05
NE=E N[

8000
S HZIHH(EHED)

8010

SIARIE E(L S H)

610

I
&%DE

610-02

Sg3dEs

12,328,000

11,476,000

60,000

5,565,000

3,763,000

1,613,000

397,000

78,000

822,000

10,156

16,325

783,542

9,020

2,957

20,000

20,000

10,000

10,000

4,918,126,000

4,918,126,000

3,507,926,000

0
LS| AN sSSAHFRME) 22 BES

3,507,926,000

3,507,926,000

13,417,000

12,302,000

5,040,000

4,912,000

1,555,000

667,000

128,000

1,085,000

22,000

36,000

1,004,000

16,000

7,000

30,000

30,000

5,227,428,000

5,227,428,000

3,931,151,000

3,931,151,000

3,931,151,000

1,089,000

826,000

A60,000

A525,000

1,149,000

A58,000

270,000

50,000

263,000

11,844

19,675

220,458

6,980

4,043

A20,000

420,000

20,000

20,000

309,302,000

309,302,000

423,225,000

423,225,000

423,225,000

8.8

7.2

M
0

AD.4

30.5

A3.6

68.0

64.1

32.0

116.6

120.5

28.1

77.4

136.7

0y

M

\J

M
0

200.0

200.0

6.3

6.3

12.1

12.1

12.1

482

482

482

483

484

484

485

486

486

486

486

486

486

487

487

487

487

487

487

487
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2018 (ll&HB)

E2(C=B-A) &

£(C/A) THOIXI

801 842,656,000
US| FSIHZ BB
610 842,656,000
SERE
610-04 842,656,000
PEEIEEE
810 567,544,000
eSOl A SSIH(SSH)CZ BE3
610 567,544,000
ds3s
610-02 567,544,000
EERIRES
8400 176,991,000
D IBAHA(EER)
8411 176,991,000
P BIEELSEICIEC )
841 176,991,000
BB A YBIIBOE NES
610 176,991,000
SEEE
610-03 176,991,000
IEISES]

1,296,277,000

1,296,277,000

1,296,277,000

216,623,000

216,623,000

216,623,000
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325,000 325000000=
[340] 48,366,000 | aH2l0IA
[340-02] 48,366,000 | 2HEE2
1.2Hee2
48,366,000 48366000000=
[350] 1,200,000 | LBt==
[350-02] 1,200,000 | Al=2
MEEEEEEECEEE =R
1,200,000 1200000000=
[301] 1,970,000 | sYSAIHS
$ 297,280
[110] 181,000 | @144
[110-083] 181,000 | a2z
1. 2HFA JAF 299 29
181,000 16760002492 1242 -8000L =
[210] 372,479 | 29H]
$ 62,000
[210-01] 359,479 | Luta=H|
$ 62,000
142,060 | 1. ZHEAHE X2
$ 62,000
hale 2
70,060 $31,000%23]=
$ 62,000
LE2W &2t
72,000 36,000,000*2%H=
2. SUBARE AIRID| ABE 2
9,600 800,000 *128=
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3. HIZO{A ol B2
54,000 27,0002 %2000H*105]=
163,819 | 4. E& 2& Xtz lfd]
Jl. DDA 84 A=
14,070 10,050%20001+73!=
Lt. FTA 84 X2
52,260 10,050+20001*262|=
Ch & 245t 25 08 U=
32,160 10,050+2000H*162]=
et. FTA/SPS <123l Xt=
12,060 10,050%2000H63!=
oh =8
43,269 43269000 =
[210-05] 3,000 | SZ20HAMHI
1. 2HAA ZAF d79d 29
3,000 277783~ 9B +12HE=
[210-07] 10,000 | Xtz
EEFEEECEEE
10,000 1,000,000&*10&]=
[220] 392,761 | O4Hl
$ 204,280
[220-01] 42,768 | =LHOIH]
44,400 | 1. & 2 2ol
oL g4 &0
15,000 | 200,00024*5%x153|=
U gass ge3], 2
3,600 100,000 *3E*122/=
Ch 84 2 23=2H g9
25,800 200,000 *3EH*433]=
2. =¥
-1,632 -1632,000&=
[220-02] 349,993 | =20
$ 204,280
349,993 | 1.=2Z R0
$ 204,280
75,460 | Jt. WTO/DDA &4t
$ 42,000
1) G33, G10 =HEAIE 3/2(23])
21,560 $400+52+3H*23/+8,000,000&=
$ 12,000
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2) 82Xt WIosis|as =a5/ol
10,780 $400x52+3H+4,000,000=
$ 6,000
3) 83X WTO=2iS|2is| Hji5|o|
10,780 $400x52+3H+4,000,000=
$ 6,000
4) HI84xt WTO=H I3l Halslo
10,780 $400x52+3H+4,000,000=
$ 6,000
5) M7X WTO 2oimmAES|o)
10,780 $400x5+3H+4,000,000&=
$ 6,000
6) HI85XF WTO=Y2I3a Healalo
10,780 $400x5+3H+4,000,000&=
$ 6,000
Lt 2 2iM3 2Z(203)
128,734 $510x32*3H*203|+25,000,000&=
$ 91,800
118,694 Ch. FTAg A
$ 62,560
1) B8-Z0| FTA 2AH43)
22,916 $220x52x3H*43]+8,000,000 =
$ 13,200
2) st-0ZAE2 FTA &24H43])
17,944 $220x52x2Hx43]+8,000,000 =
$ 8800
3) st-=-2 FTA &4K83l)
05357 | $320+32#224+85|+8,000,0002=
$ 15.360
4) RCEPEAHB3I)
18,577 $260*32*2H+635]+8,000,000&=
$ 9,360
5) SH-OLHIQH FTA EAH63])
16,950 $220+32*2Hx635]+8,000,000&=
$ 7,920
6) st-0|ACHL FTA EAH6B3I)
16,950 $220+32*2%Hx635]+8,000,000& =
$ 7,920
2} FTA/SPS SI215] & 4i(53])
16,950 $220+32*2Hx635]+8,000,000&=
$ 7,920
ol ==
10,155 10155000& =
[240] 41,760 | 24|
$ 31,000
[240-01] 41,760 | AtE=&IH|
$ 31,000
58,430 | 1. @At oe=al|
$ 31,000
oF THelE A
35,030 $500%623|=
$ 31,000
Lb =Qi0ICH 2/et3], 225 ol
23,400 900,000 *263|=
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-16,670 -16670000&=

[260] 248,000 | H21E4H|

[260-01] 248,000 | LerAH|

2. WIOZE3I°| (iUl S84 (1S 9
90,000 |  900,000,00%=

3. FTABIA yareal oiq

160,000 |  160,000,0008=

4, 2%

-2,000 —2000000&=

[320] 734,000 | 212+0|&

(m]
rJ

[320-01] 719,000 RIBAEE

r

1.2NSaXH
417,000 695000002 x63]=

2.FTAGHRIE E XA
120,000 40000000 *33]=

3.0ECD =&%
182,000 182000000&=
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[320-09] 15,000 | 18FE3

1. FHAE ZA A28 2L
15,000 138889+9Z*1201 &=

(530]

—_

,810,000 | =HDI=2E3
,076,991

©“

[320] 593,000 | 2I12+0lH

[320-01] 593,000 | QIHHAE L

1. QIZHEAEX

593,000 593000000& =

[340] 1,217,000 | oiel0l&
$ 1,076,991

[340-02] 1,217,000 | =HSFE=
$ 1,076,991

1. FHDIA=E=

1,217,000 $1076991=
$ 1,076,991

[531] 15,248,000 | =HII17ZE3(0DA)
$ 13,256,637

[340] 15,248,000 | oH2l0l&d
$ 13,256,637

[340-02] 15,248,000 | =M=RE=2
$ 13,256,637
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1. 2HI|IREH2
15,248,000 $13256637+2680000002 =
$ 13,256,637
[6200] 59,474,000 | S2=AAAAA}
$ 776,417
[6231] 10,107,000 | 2LAAMEESHEZS)
[300] 10,107,000 | 2L=2ENESHESS)
[210] 8,066,653 | 2%H|
[210-01] 3,223 | LErAgH|
1. 235 2RAIY =TIt = X2
3,000 250,0002%1201=
2. NSHAT B
223 223,0008!=
[210-02] 692,500 | 2222 AIAl
608,000 | 1. 2IIFESAIY AIRS
Ol 2EESMY
608,000 76,000,000 81 2=
42,120 | 2. 2HIY olg2
Oh Al2AN XA )| SAI2
42,120 58,5002 *100CH* 122 *60%=
18,000 | 3.2
JLKL-NET ®HE 0122
18,000 1,500,000 %1 2&*135|=
24,380 | 4. 2X2S o122
Il SRR, SARRIE, £24100], 2IgXel S
24,336 2,028,0004x12&=
Lh =3F
44 44,0002=
[210-07] 3,716,578 | Yxt=2
1. ASAASEFHBA AL 30 2=
177,904 88,952,15024x23|=
2. AI2AALSPI0IDIRIAAE 2HEH M
67,967 16,991,800 *43|=
3. KAHIS St2gal, A2l & PC S2orate| 25t
80,097 26,699,03024*33|=
4. UMD SLEO|HDLIAIAY HH|DH L DTS}
811,942 202,985,550 *43|=
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5. S22s2AcIAAE AHW L JISHie
183,321 45,830,190 94%43|=
6. KAHIS SiHsE SSDBTE Y AH2R AIAH DTF
342,169 | 85,542,220 *43|=
7. HEEAY U22| U IISHASHAIAY RS
250,192 | 64,797,960 43|
8. RIS SYASEAIAE(KAHIS) 91T 2t DEE}
335,323 | 83,830,840 *43|=
9. 2IISSLUASEHAIAH(KAHIS) B4 S=0B 22l
333,432 | 83,358,020 %43|=
10. H2SAY D55 L SSEOIAZAIAL AHUA
383,104 |  95,776,0902*43|=
11, ASAUASSHBAIAL CSZH| WH
266,200 |  133,100,0004%23|=
L YHXIN)] /S0Ig2e|AAE 2=
475,927 475,927,390%*1 91:
[210-09] 40,977 | AIEEHIRXIY
1.8HAI(V3) Al
37,000 | 37,000,00094%13|=
2. HARHIARE WA
3,977 976,9502*13|=
[210-14] 314,000 | 2Er=29y]|
314,000 | 1. SAXE GPS 2K 4IE
Ob BAXSBESH AG L =AAL DB S#s 9
313,838 |  3,900,5502%901x 1200 &74.5%=
L. =&
162 | 161,747%=
[210-15] 3,299,375 | Z2|24H
1,854,653 | 1. 22T )
RIS SUASEAIAEH
546,844 |  6,118,536,7872%13.75%*65%=
LLSESMSAATSAIAEL
293,756 |  3,286,781,059%%13.75%*65%=
ChSAIS M2 | Al AE
126,532 | 1,415,743,2202%13.75%*65%=
chaANDIIRS0IZ 2| AIAE
139,750 |  1,563,640,1802%13.75%*65%=
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105,119 | 1,268,409,044 2 %12.75%*65%=
HL S22 AEH 222 AIAEH
90,824 | 1,215,033,0452%11.5%*65%=
ALSAHSESEIDBAIAE
13,913 | 190,257,163%11.25%*65%=
OhLZHAARIAIAE
45,410 | 594,571,2752%11.75%+65%=
RE OIS YA SHIAIAE
13,710 | 175,764,022 %12%*65%=
A SAASSHBAIAL
263,167 |  3,175,473,45691%12.75%+65%=
It 22 THEH Al A
13,502 |  184,645,17621%11.25%+65%=
El.Setas 2| _HHSH2AIAE DNABIZE
44,333 | 620,038,32621%11%+65%=
OF MRS A AE
5,733 |  78,397,9071%11.25%+65%=
SLEMOIXI
82,785 |  1,083,921,749%1%11.75%+65%=
JboIERM
6,407 | 87,623,081 8I%11.25%+65%=
Lk & X212
11,284 | 157,824,408 %11%*65%=
CroA A D22 Al AE
19,726 | 263,888,577 %11.5%*65%=
cLESIHBRARIAIAE
6,026 | 92,701,749%10%*65%=
0L IIU SR AIAE
7179 | 110,444,941 21%10%+65%=
HE R DM 22| Al AE
18,653 | 286,962,486 %10%*65%=
1,444,722 | 2. AR
562,558 | JhHW
N2ISSLASEAAEH
110,401 3,092,467,6002/%3.57%=
SEAZAAFDAIAH
18,919 |  883,218,00081%3.57%+60%=
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) ENSUAT LN AE
13,497 |  630,104,0002%3.57%+60%=
A2 DRSO BRIAI AL
83,827 |  2,348,082,650%%3.57%=
5E2BBAIAE
20,445 | 628,698,00024%3.57%=
B)SSoABHBRIZIAIA
9,369 |  262,430,0002+3.57%=
7RPLAT ALY
41,041 | 1,149,614,820%4%3.57%=
BASAASH Y BAIAY
68,106 |  1,907,738,0502/%3.57%=
NHH N PAIAE
46,833 | 1,311,837,31220%3.57%=
10)Z2SUY Y22
10,817 | 302,985,00021+3.57%=
IECEBI N
84,389 |  2,363,840,910%1%3.57%=
12)UBIALE R PC
52,916 | 1,482,244,700%/%3.57%=
OESS
2| -1819=
882,164 | LIAIESW
)2 SSYASBAIAE
250,806 | 2,989,341,9002+8.39%=
DEFNSAABAIAY
87,274 | 1,733,689,50021+8.39%+60%=
3)EASOIH BRI A ALY
47,781 | 949,156,2882+8.39%+60%=
H)2UHDIIRS0IHBRIAI AL
179,743 | 2,142,352,4002+8.39%=
HE2E52INAE
45,861 |  546,617,0008+8.39%=
E)SSBAUBY BRI
20,884 | 272,755,0002/%8.39%=
7RPLATBAIAY
51,531 |  614,193,7972+8.39%=
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B)AISUASEH N DA AL
74,069 882,820,000 %8.39%=
0) S & I A| AE
80,620 960,906,000 %8.39%=
10)EESMY g2g)
39,409 469,719,800 %8.39%=
11) "5 BHAIL
2,187 26,066,000 %8.39%=
12) =&
-1 -1,056&=
[220] 20,353 | o1Hl
[220-01] 6,324 | RLHOILI
1. NS=E U AI2A MAY &2 U ISEX
4,500 150,0003*15%*23|=
2. LR SAES 0P80 S
1,800 40,000@*9%*53|=
3. XX
24 24,000&=
[220-02] 14,029 | =222 20|
7,431 | 1. 8232 28J|2 &S
JhEE2( 291, 10Y)
4,959 1,563,500 &%201%25|%79.3%=
LE MK
2,472 | 1,437,45024%201x86%=
6,598 | 2. 212t MXAAE =S 25t J|zn=
JLErR2 (20!, 82)
4,165 2,421,600 *201%86%=
LE MK
2,433 1,414,800 *x221%x86%=
[260] 1,989,000 | rEH]|
[260-01] 1,989,000 | LAY
1. 299X DI SE0IZRAANAY 2=
1,150,000 1,150,000,000&=
2EMIIBSZH YPAIAE D3
489,000 489,000,000&=
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AISHE S§ EAE 22HAH 2=
350,000 350,000,0002=
[420] 30,994 | AAH|
[420-03] 30,994 | ZAH]
IEEN
30,994 30,994,0008=
[6232] 16,119,000 | AlSAAAAMLLEXR
$ 183,066
[300] 15,889,000 | Al2AAAAILSESEX
$ 183,066
[110] 1,159,744 | Q14|
[110-083] 1,159,744 | At=zal=
628,544 | 1.2J|H 2=
oL 23
528,864 1,574,0002%28%H*122=
Lt a2
22,400 400,0002*28H*25|=
Ch.24Hl
43,680 130,00024x28%*125|=
ch g
33,600 100,00024x28%*125|=
467,456 | 2.J12+HI
ot 22
415,536 1,574,00021%22%x122=
L. A0I2
17,600 400,000R%22H+25|=
(=L
34,320 130,000,221 22=
63,744 | 3JI2HHI(EHXIAZ2I)
L2
56,664 1,574,000 +x3H*128=
(BP0 =
2,400 400,000%3%*235|=
Ct.24H|
4,680 130,000%3*12&=
[210] 9,157,626 | 2%H|

=
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[210-01] 1,410,727 | Letngd|
53,000 | 1.A122% ol & =82

23,000 23,000,000&=

]
W
Y
O
ti

LE.oHAEHE RSEXNE 2

30,000 10,0002 +3,00094=

47,500 | 2.4 2HS2HE A8 Y S
30,000 30,0003 *500F+28=
17,500 35,0003 *500F+1 5=

34BAN BASYN NA o4

8,000 403 *200,000%=

4. N2 AL U SN0 DSEY DI KO
7,500 75,000 & *50F+23]=

8,001 | 5. SAIE Hzt3
oh 22E0IE8, M )
7,001 7,000,000&+1,074&=

Lk 8140 S

1,000 1,000,000

6. SAHE F=AtAIE =l

2,800 28,000&*100%=

7. HI|2HUZ2(On-line & TA) RS2

35,000 35,000,000&=
13,650 | 8. ASEIE=HMHEE & =HMz22 S|

L Eelale

9,750 650,000& *5I=+3L=

Lt ==AlS]2

3,900 | 650,00024x67H=x12=
20,050 | 9. AISACITRY Nl U BN BAR(2A4R)
14,300 | Oh 820 - AR HAE Y 22

1) &0i, AmQlof, =01 S

14,300 553 +260,000&01=

5,950 Lt 220 — 820 HAZ(Z+T)

5,950 85&*70,000&01=
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10. 229 ASAAREY L2
2,000 20,0002 %100%=
4300 | 11. +BYMSAAF A AN T =2
oL JIEE ¥ 428 2
3,000 30,0002 *100H=
Lt 3l2IXt2 Ql4hH|
1,300 1,300,000&=
12. ASAS 2HFH Hazlo] 2ol
2,000 400,000&x52|=
40,000 | 18. st +EUARA 1S
oL DEDM M=
20,000 2,000&+10,000%=
Lt E3HE LRSS M
10,000 1,000&%10,000%=
Ch 31 6ZIIS2 M
10,000 |  5,0008+2,000%=
6,400 | 14. H3lE 2RSH XU
ok ADE(QIEE, M S)
6,000 6,000,000&=
Lt SAIZHI(B49 S)
400 400,000 =
6500 | 15. A2 2173|(, FE, 4)
ok A2B0IEE, M S)
5,000 5,000,000&=
Lt #AIZHI(B 49 S)
1,500 500,000&+32|=
9,000 | 16.283a=)|=lzl ¥ A5 AL
ok A2B0IEE, MTt S)
7,000 7,000,000&=
LI BAIZHI(B$0, ZAE &)
2,000 2,000,000&=
3,000 | 17. alE HEe B3|
ok RIZHIZH(EX)
1,000 10,000 *100%=
Lt SAIZHI(B 49 S)
2,000 2,000,000&=
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18. +EUSTUEZHI 20N X2 MIE
5,000 | 1,0008%5,00004=
9,000 | 19. Z&H(AHzl, 2K, &st, GI&) A
b AREQIEE, ®X S)
7,000 | 7,000,0008=
Lt SAREHI(S22 S)
2,000 | 2,000,0002=
10,000 | 20. ASHHS HEBAHS
oh AREQIGE, B S)
7,000 | 7,000,0009=
Lt SAREHI(E4Y, ZAEH S)
3,000 | 3,000,0008=
25,800 | 21. 223 L 3lo/4Y
oL Yoz 2ERSE L AHEI U2/
5,600 |  100,0002%56Z*13|=
Ll #2824 JsXefas
5,600 | 100,000 x56%*13|=
Ch SASIZAL X223
6,600 | 6,600,000
ch #BYASHEIIE Ao L B}
3,000 | 300,000810*13|=
Oh AISZAD | SHLAISRIRS] BIIY
3,000 | 300,000810*13|=
HE Al2A2EOI5| S 324
2,000 | 2,000,0002=
22, Q2|42 $+E22Y WE sIHUS M Y 2ISAME
20,000 |  (2,00021%5,000%)+(2,0002%5,000%2)=
23. FRASHEMNS YATY M
3,000 |  50,0002*602=
24, ZULAIR, 22, HS2 S (2I1 L AHASZ U2
S md
40,000 | 40,000,0008=
10,000 | 25. A2 E{XIIE M
oh AREOIGE, BX 5)
7,000 | 7,000,0009=
Lt SAHIS(S 48, ZAH S)
3,000 | 3,000,0009=
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20,0002 %250
NHNERE

5,000
27. HIEE=Z
2=

42,000 70H*50,000& *1

215,000
204,000
tEHE & XEXI=(

5,000,000&=

Ct. XMHlE
6,000,000&=

ALE
ALE

5,000

6,000
29. JIEt &
23,114,000 =

699,112 | 30. XY=

134,300
20,000 20,000,0
15,500

12,000
10,800

4,800

6,000
20,000

15,000

5,000

2(A87

23,114
=25 old}

1) dASHOI

2t5)

AI%

g S

00&=

02
o
MU0
]

Lh) HoZAIY 2t

50,0002*10E*128=

15,000&+1,00004=
2 &40

Lh 222 i &

5,000,000&=
6) ZAI|IEEL
50,0002 %100%=

MioILE =4

=USZs Ol X M=

7)
50,0002 *100%=

,000
8) MXEHD Zed &l
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H AXERD |
35,000 70,000&*5000H4=
Lh) EXERD =2l
6,000 500,000&*12&=
9) HAUAEIH FY
5,000 5,000,000&=
203,995 Lt SEXA=2R
20,000 1) ASHYei & E2
oh AlEEE, =2ZEYE 222 ME
10,000 10,000,000&=
Lh 2/=¢Ql Ratd g2
2,000 5,0002%100&*43|=
Ch C2shty, Z2E012k & 8%
4,000 4,000,000&=
ch SEHADRE S0 HA
4,000 50,00024*201*45|=
2) TAlsYEEs 22 22
25,000 25,000,000&4=
3) HoIe==2
18,095 385,000&*47 ==
8,000 4) 2T 25 L ABE
Jh) HLUBARE AIZ Sl 254
6,000 10,0002 +503]*12&8=
L) Z2ITHEHCHA =D& et
2,000 10,000&*2002]
5) Mg NYEE =, SHHLYH S
7,000 7,000,000&=
6) 2= ¥ FRF HEH|
18,500 18,500,000&=
7) HOIZAIR 2=
36,600 50,0002+61F*128=
8) QeigdiE o 2ULIE ¥ &=t
44,400 50,0002*74E+128=
9) JIEt Z4H AlsFdae FH|
26,400 200,000&* 11 NS M*12I0E=
143,221 Ct. s2Xd922
30,000 1) Algzdeiy ¢ g8
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oh) ASZHABEIME L J2Ye JEE ME
20,000 10,0002 +2,000H=
L 12DAH & CIRSDHE DS 22288 M
10,000 10,0002 *1,000H=
2) Hl%42
18,000 60=+300,000&=
3) HUAAE e 244
3,000 | 5,000&*502*122=
4) SHALTC
7,800 7,800,000&=
5) HOIZAIY st
29,400 50,0002 *49E+128=
6) ANHNS KRS S|
28,200 50,0002%47 Fx128=
7) 2= U ARF HEH
5,400 5,400,000&=
8) A2 P YA €
2,000 2,000,000&=
9) +EACHY Zm
4,520 | 4,520,000%=
10) JIEF JAR A2 2Hed |
14,901 14,901,000%=
62,180 | Lt MEX%==
1) Al2ZooHY Y 82
15,000 5,000 & *3,0007H=
2) Hol%42
9,600 400,000& *1 E+243]
3) HOILAIRESY]
9,600 50,000&*x16H+12&=
4) 2= L FRF M|
3,580 3,580,000&=
5) SHAUAX L HAI B
6,400 6,400,000&=
6) ASHIHS (A2 2SH|
15,000 50,0002+25F*128=
7) Algdol 2y UMY
1,000 1,000,000&=
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12

n

2,000

8) JIEt B
2,000,0008=

Ab

S|
=

102,970
14,000

10,000

4,000

2,310

11,400

3,960

31,800

8,500

1,000

20,000

10,000,000

50,00021x207H43|=

2
330,00081+731=

50,0009 %19 +122=

10,000
52,446
15,000

10,

3,000

2=

Lh SE290

AA
5

) HOI

si=
=o

25 Mgyl

L]

1,000,00081=
8) LI=FA

20,000,0002/=
9) JIEH B
10,000,0008=

000

'O\L‘l

2,000,000

2) o
10021+300kg+2421=

3) HAIEHD RAI24

1,000,0002!=

2,000
=2

720

1,000
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4) ZoZAE 2=t
3,000 50,0003 +*5F+12&=
5) S HEE2oH By
25,800 50,0003 *43F*12&=
6) = 2 &7= Ne|
2,500 2,500,000&=
7) SO B YALT
500 500,000&=
8) JIEH ZAR A2U B Y
3,926 3,926,000&=
34,800 | 31.HLEXA 2
IhENAEH, SIMRR HLYBES(HE, 0L
34,800 34,800,000&=
[210-02] 120,000 | SS2=HAMA
1. N2AUE 9 ASZoDISNTHE 2293
1,715 1,715,000&=
5,500 | 2. QBB =R
o Heinia HA(ZER, NEXA <)
3,500 | 3,500,0008=
L. SELSE L7
2,000 2,000,000&=
34,285 | 3. SEXEER
o Hoimy| B Z2ea
12,000 12,000,000&=
L 22108l Seles ®IIR 2 SSER
4,000 4,000,000&=
18,285 Ct. X2 MA(2EZ, RSXAl S)
1) ASTA & BEE
16,920 470,000 *36CH=
2) NEMNBZWLRED
1,365 65,0003 *210H=
28,000 | 4. SRXE=R
o HeiniE HA(ZER, NEXA S)
10,000 | 10,000,0008=
L ez 2293
1,000 | 1,000,0002=
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Ch ASTASHA 2ELs
2,000 2,00094%1,0002=
2k JIEF MAIZU2(SAIIIA S)
15,000 15,000,0002=
21,500 | 5. NEXd=L
Oh Hexie HMBEZ, NSXHM S)
5,000 5,000,0008=
Lt JIEF RIMZA2(SAIDA S)
16,500 16,500,0002=
27,000 | 6. SYAAHAI=RE
O 29 MAM(BEE, NEXHA S)
5,000 5,000,0008=
L 2ezb2e 3323
12,000 12,000,000%/=
Ch JIEH MAIZS(RE, S423 S)
10,000 10,000,000&=
2,000 | 7. RI=XYG=2
O 2Yxte MAM(EEE, NEXHM S)
1,000 1,000,0002=
Lt JIEH MAIZUS(RE S)
1,000 1,000,0002=
[210-03] 130,000 | m=H|
1.2
90,000 300,0002%300=
2B HNSE =
40,000 100,00024*400%=
[210-05] 64,000 | S20HAH]
35,500 | 1. Al229E
Oh Al2AN E2[HAH|
28,300 28,300,0008!=
L}, A2 )|l AIE
7,200 7,200,0008=
10,000 | 2. YLHXA=R
b A2ES S20HAH|
10,000 10,000,0002!=
1,500 | 3. QI BEIX|H=R
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o= =X L o
oh A22e S2A|
1,500 1,500,000&=
9,000 | 4. SRXNSE=R
o Al22ie) S2hALI
9,000 9,000,000&=
3,000 | 5. HEXIH=s
oh. Al22ie) S|
3,000 3,000,000&=
3,000 | 6. SHXFE=R
o Al22ie) S2nHAI
3,000 3,000,000&=
2,000 | 7. HFXIS
o Al22e S204Al|
2,000 | 2,000,0002=
[210-07] 256,000 | X2
2,000 | 1. HoliE =273 HEE
ot slolal xt
2,000 1,000,000&*270 2=
2,000 | 2. S 2RSH SEH3
ot sloal Yzt
2,000 1,000,000& #2700 2=
6,000 | 3. AT ATB(Y, HBE, 45)
ot sloal Yzt
6,000 1,000,000 *2IH A+33]=
2,000 | 4. SHEH s T2
ot 3|°|E' 2%
1,000 | 500,000
Lt Xi2reixt
1,000 | 500,0008%22=
2,000 | 5. dIEEA @ WX
ot oAyt
2,000 2,000,000&=
2,000 | 6. SAIHEHES]
ot slola
2,000 2,000,000&=
7,000 | 7. ASHAIMIIEHLL 39
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ot 3lolal Yzt
5,000 1,000,000&*5=
Lt RHZFAR}
2,000 1,000,000&*2&=
4,000 | 8. Al=2&EY {34t
b 3loAl X
2,000 1,000,000&x2 &=
Lt X2zt
2,000 1,000,000&x2 &=
0. AISAAAA ARE [ A
60,000 60,000,000&=
160,000 | 10. X922 A& ¥ Xt dX=Z
10,000 | Dt QIEZEIXA=R
1) Slo|™A U xR
10,000 |  10,000,0008!=
50,000 LEEY RS2SR
1) Slo|™A U xR
50,000 50,000,000&=
50,000 Ct. SRX9=22
1) Slo|®A L xRt
50,000 50,000,000&=
10,000 ch AE2XY28
1) Slo|®A L xR
10,000 10,000,000& =
30,000 0f sgxg=ss
1) Slo|™A U XX
30,000 | 30,000,0008!=
10,000 | Hh MFEXA2EL
1) Blo&A U AR}
10,000 10,000,000&=
1. JIEt YR
9,000 9,000,000&=
[210-08] 170,360 | SFHI
28,001 | 1. Al=HYR
b I S SBHI(BILR.AS S)
28,001 18,6672|E4*1,500& =
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7,001 | 2. odBE R =R
ob X E 22H|(FURHS 5)
7,001 4,6672|E4*1,500&=
33,000 | 3. GEXHER
o XY E SERHEIURES 5)
33,000 22,0002/E4*1,500&=
33,000 | 4. E2XE=2E
o XY E SERHEIURES 5)
33,000 22,0002IE4%1,500&=
15,000 | 5. AKX
b XEE R <§| 22 AR 5)
15,000 | 10,00021E4%1,500%=
20,000 | 6. X
o X S SEH(EIURES 5)
20,000 13,3332/ E4*1,500& =
5,000 | 7. MIEXS=E
oh XY E 22H|(FURHS 5)
5,000 3,3332IE/*1,500&=
20,000 | 8.AILDBIOHHIZ KRSRAE, 23, A
o XY S SERH(FURHS 5)
20,000 13,3332IE4*1,500&=
9.UAENH 29 UL
5,360 1002IE4%1,488.95*3*x12&=
10. 0Bt H
3,998 3,998,000 =
[210-09] 419,266 | AIE&HISAIH]
91,000 | 1.A249=
OF #™IH| SXI24H|
11,000 | 11,000,0002=
Lb, 2o (AIE)AH SX24H|
10,000 10,000,000&=
Ch 8 A, X2 S X84
70,000 70,000,000&=
30,000 | 2. QIMZBEX|E=2E
OF SEEH| X2
5,000 5,000,000&=
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5,000 5,000,000&=

20,000 20,000,000&=
70,000 | 3. FEXNH=R

Jh HEFEH |AE=H|

10,000 10,000,000&=

Lt ZS(a=)ZHl RAZ+H

10,000 10,000,000&=

Ch. NE=8 A4, X § |AZ4H]

50,000 50,000,000&=
50,000 | 4. SEXA=R

It HEEH |A2=H|

10,000 10,000,000&=

Lt 2 (&) 8 |AIZ=H]

10,000 10,000,000&=

Ch. NG=22 A4, & & |SAE4]

30,000 30,000,000&=
20,000 | 5. AESXH=2

b EEH RA2=H|

5,000 5,000,000&=

Lt. ZH(AE)EH RX2=H|

5,000 5,000,000&=

Ch. XIF9=8 A4, X & {24

10,000 10,000,000&=
20,000 | 6. SEXH=F

Jh HEEH |FXE=4|
5,000 5,000,000&=

5,000 5,000,00

(@]
o
[

10,000 10,000,0008=

5,000 | 7. MFEXzs

Oh #XIH RX24H|
1,000 1,000,0002=

Lt 2 (&) & 22t

2,000 2,000,000&=
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Ch NYG=R A4, Xg & |RA24H]

2,000 2,000,000&=
30,000 | 8.AIEZBE0HHIF HEYUNMAE, 2HE, UaE)
It SHEEH| SAIE4H|
10,000 10,000,000&=
L 2 (AE)AH RS
20,000 20,000,000&=
9.8 XIHAANE SN2
103,266 103,266,000&=
[210-11] 1,941,000 | MHEHI
454,070 | 1. ASH= Ol2 LM, =8t
18,000 JF 2eigolis & XHM
1) OIE KT(ZSY, EHAL 2 5) ARE
12,000 600,000& *20kit=
2) HIERH(HEIIR, &, 2X S)
6,000 60,000&*505*23|=
LE EHHl AT (s S)
6,000 60,000&*505*23|=
76,500 Ch. Qo= ol L LHAI SoIH
1) Capilure
16,500 5,500&*3,000H=
2) Dorsalure
15,000 5,000&*3,0004=
3) Cuelure
15,000 5,000&*3,000IH=
4) Proteinlure
15,000 5,000&*3,000IH=
5) Pheromone
15,000 5,000&*3,0000H=
105,000 ch 2eHEoliE HZEEY
1) Steiner Trap
60,000 20,000&*3,000H=
2) Mcphail Trap
20,000 10,000&*2,000H=
3) 2E} Trap
20,000 10,000& *2,000H=
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5,000 | 1,0008%5,00004=
Oh. JIE} ADE

20,120 |  20,120,0008=

=] G IP= = FSIN IRN K= ]
10,000 20,0002 %55+100&=

Ab QIHEIDHOI TIGHEX HEZLIEE ARE FU(EY
36,000 90,000& *400H=

Of. 2/ Al XHAHH
40,000 40,0002 *505*42|x5)H A=

142,450 A+ AlSHol

ez}
=

Jon

EIN;

Of

1) SEX A
60,000 60,000,000&=

2) REL 24 JE

60,000 60,000,000&=

22,450 22,450,000& =
72,900 | 2. A5 QHMEH| Y Y A=K AIE

B[R

3,600 12,0002 *3009=

Lt &3S

2,100 3,500&*300JH*2Set=

Ch. & EHI

30,000 150,000&*200IH=
37,200 ct. A=XHeIIE O AIE

1) ANEME
30,000 5,000,000 +x6= ==

2) GC 242 JIA(3E)

1,200 200,000 %3&+2bottle=
3) ItAEA ARE

3,000 3,000,000&=

4) EZH
3,000 250,000 %3&+4bottle=

41,400 | 3. &FAH A2E

5,660 | b A22E NE=S

5,000 100&+50,00001=
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= 1 101-6200-6232-300-210 : SOFSE-SUBAMLAUA-ASLHAAAUSET 2-ASLHBANYLEST-2H|



(&2 &S, 18]
2018 (il&at
ac
- =ell LA S
2) SR012I™
660 30,000&*22E=
18,400 L. AI2AHT AEF, HIOIZ HX
1) Hiol=
11,050 1,300&*8,5002=
2) AEIA
7,350 150&*49,0000H=
Ch Holls 283 22AZ2 AlasA
4,000 4,000,000&=
ch A2 SHAAI 2EH 25 22
13,340 13,340,000&=
82,070 | 4. AEA HUAA AQE F(AZHHH)
49,000 Jh AEANUAN AQE 2 HIINY 24H|
1) AgANyUAA ADE
29,000 29,000,000&=
2) GIINE 24|
20,000 200,000&*1003|=
L ZHeIMHEiZE 2ted ADE
33,070 33,070,000&=
1,170,560 | 5. X928 MEH|
403,100 I I BEREEE
342,100 1) ASA HAUAA ADE U ) ANE =24
o &Es
2,400 600,000&*4H=
Lh OIOI22EYI0IE
5,000 100,000&*50JH=
ChH RNA =&3|&
108,000 600,000&*15Jl*12&=
2h) RT-PCR Premix
76,800 320,000&*20Jl*12&=
OF Nesred PCR Premix
32,400 90,000&*30Mx12&=
H) DNA =&I9|E
16,800 350,000&*4lx12&=
AB PCR Primix
48,000 200,000&*20H*128=
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0b) PCR =Z2}0l0d
6,000 30,000&*200&|=
i) GlNg =24
5,000 50,000&*100&|=
Xh) ZH0IZEAF 91E
25,000 5,000&*500&*105=
o)) A20lE 3YUAHYE AL E
16,700 16,700,000&=
2) A2 SHEHAIERE
16,000 16,000,000&=
3) JIEt &S, ZAI A2F
25,000 25,000,000&=
4) MEYoHE ol 2N A2E
20,000 20,000,000&=
294,450 Ll gExdges
198,920 1) AgA HAUHA ADE I A NG 24
oh sEs
40,000 400,000&*50&*2l| A=
Lh OLOIRZ2EYI0IE
10,000 100,000&*50H*2 I A=
ChH RNA ==9|&
60,000 600,000&*10074=
2t RT-PCR Premix
32,000 320,000&*10074=
0 DNA =&39|E
17,500 350,000&*5004=
HF) PCR Primix
4,000 200,000&*2074=
A BIIESEXI labchip
22,920 1,528,000&*150H=
of) golNgaA
6,500 50,000&*130JH=
XH PCR ZZ2i0I0 &4
6,000 30,000&*200JH=
2) 2o JHABAN=E
30,000 30,000,000&=
3) JIEt A, ZAL 222
20,000 20,000,000&=
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4) AZ2YolE HEYUM ARE
31,330 31,330,000&=
5) HE XAl 2ATHE
4,000 4,000,000&=
6) ZHelIHHHEZEAIY ARE
10,200 10,200,000&=
253,510 Ch 21928
179,700 1) AlEA HUHA ADE L HIANE 2N
o &Es
24,000 400,000&*605=
LH O0I32EdI01E
5,000 100,000 *50JH=
CH RNA =&39|E
9,000 600,000&*15JH=
2h) RT-PCR Premix
9,600 320,000&*307H=
OF Nested PCR Premix
2,700 90,000 *3091=
Hh DNA =&9|E
10,500 350,000&*30IH=
AP PCR Primix
4,000 200,000&*20JH=
oh) golNg=A
10,000 50,000&*200&|=
) 2H0IZEAF 91E
7,500 5,000&x150&*105=
XH PCR ZAF kit & 22X AlQf
88,400 26,000&*170&*20set=
9h PCR Z2t0I0
9,000 30,000&*3008=
2) A2 SHEHAIERE
26,660 26,660,000&=
3) JIEt &4, AL A2F
20,450 20,450,000&=
4) AZSYHHE HEUM ARE
22,700 22,700,000&=
5) H& XAl 2ATH2
4,000 4,000,000&=
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83,800 ch. MEXNEER
44,900 1) AEA HUAd ADE U A)ME 24
DI I=13="F!
4,000 400,000&*108=
LE primer &4
9,000 100,000&*908=
ChH RNA =83|1E
6,000 600,000&*10JH=
2}) nested PCR Primix
2,700 90,000&*30H4=
Oh FolNhgeMz
9,000 9,000,000&=
Hh DNA =&9|E
7,000 350,000 *20JH=
AB PCR Priimix
4,000 200,000 &*200H=
0b RT PCR Premix
3,200 320,000&*10JH=
2) A2 HHBANEE
14,320 14,320,000&=
3) JIEt A, AL ARE
9,580 9,580,000&=
4) MEYOHS HEUM ARE
11,000 11,000,000&=
5) HEXZAl 2ATHE
4,000 4,000,000&=
81,000 0 SYXSEE2R
37,000 1) AlEA HUHA ADQE L HAIAHLE =24
b HAESEIIE
12,000 300,000&*408|=
Lh PCR Primix
10,000 200,000&*50JH=
CH PCR =Z2t0I0f
2,000 100,000&*20=
ch 88
3,000 300,000&*10JH=
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B 3% LA =
0hH &JI8SER IHEZIX
6,000 2,000,000&*33|=
Hf) HUHZEA S PCR ZAb ARE
4,000 4,000,000&=
2) Ao HEBANSE
10,000 10,000,000&=
3) JIEF A, A A2F
10,000 10,000,000&=
4) MEYGHS HEUNM ARE
20,000 20,000,000&=
5) YstXAl 4TS
4,000 4,000,000&=
54,700 bt HF=X<E28
19,700 1) AEA HAUAHA ADRE L H)NLE 24
o sEs
4,000 400,000&*105=
Lh OLOI2Z2EYI0IE
1,000 100,000&%10JH=
ChH RNA ==9|E
6,000 600,000&*10JH=
2h) RT-PCR Primix
3,200 320,000&*10JH=
HF) DNA F=&I|E
3,500 350,000&*10IH=
AB PCR Primix
2,000 200,000&*10IH=
2) A HXMBAEE
10,000 10,000,000&=
3) JIEt &S, AL A2F
10,000 10,000,000&=
4) MEYGHS HEUNM ARE
10,000 10,000,000&=
5) YstXAl 4TS
4,000 4,000,000&=
6) X-ray 2ME Al2
1,000 1,000,000 =
120,000 | 6.&XIAHE! M=HI
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ISR
70,000 70,000,0002=
150,000 | 3. SAE 2ESEXES QA £33 ASAAD HX|XA
18,100 JLOHEH =S AMD, HH 2431 CHEH AlS A2 S XIZA}
6,000 1) &==24|
b S
5,000 5,000,0008=
Lb) 3leFH|
1,000 1,000,0008=
2) Ux2
2,335 2,335,0008=
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Lh2eii s, HOILE YTHE2A, HA S)
7,800 |  7,800,0008=
[210-08] 132,173 | &l
I DY NAES 2, GXA 28 A =t 8
34,518 |  1732IE/+1,2798x13CH+122=
20763 | 2. YK
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e
B S LK o
L2, gxied e 234l 100
21,763 1,418clE1%1,279&3x12&=
LLAZHZ 2R S5
8,000 8,000,000&=
3. BRNHELR A= M 234 50
14,811 1932IEl 1,279 *x50H* 128 =
4. NESXE=e A2 12 254 6
25,002 1812IE%1,279&*9Uhx12&=
5. sdNdEe AR 2 KR4 60
17,773 1932IEl*1,279&*6LH*128=
10,306 | 6. M=FXS22
O A, §XIA 2% [ KR
6,968 4542|E%1,2798 128 =
Lh HOIZeEE 2242 S5
3,338 8563 *39002IE=
[210-09] 554,000 | AIEZEHISXIHI

12,180 | 1.==2Z<1
o
4,400 22CH*100,

7,780 7,780,000&=
284,320 | 2. UEZEXNSE=R
187,320 | It EEZARE 2AE RXNE+
55,000 1) ECAHRE HE RXNE>

oh) SSAL 28 2=

10,000 10=+1,000,000&=

0

35,000 5&+7,000,000&=

Ch) SSAF izt =2l

10,000 10IH=+1,000,000&=

2) 2%z R

25,000 5,000,000&%55|=

3) AEEADI, LRI & elRX
3,000 5,00,000&+63=

4) Al S +2ldl, Aldz2te| ||

22,880 11,440,000 +22|=
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o
12
<
9

5) MEASI| ZelRX, EF WAl

15,000 15,000,000&=

6) WIS BRA

el

1,000 1,000,000&*13l=

W
el
af
10
el

7) GECAHRE AFE HEEIKX
F*1

65,440 65,440,000 *

3=

19,000 19,000,000&=
66,000 | Ct =ZES AIEZEH|

1) &XED WA S
36,000 3,000,000 x12&=

30,000 5,000,000&+6=2=

ch. Xt =2l EIIZA S !X

12,000 1,000,000 *128=
67,400 | 3. EEXH=R

Jh HFAE 2elRX 3000s
30,000 3,000,000,000&*0.01=

Lt Z9EXA dE |2+

2,000 2,000,000&*12|=

Ch. ASEH RAES

2,000 2,000,000&*12|=

ch. Xef=el  FIIBA =A

12,000 1,000,000 *12&=

OLOISEED| 8Hl € EIIEZ

10,000 5,000,000&*22|=

11,400 | BE M=HFE ML= 22|
1

3,000 3,

3,000 3,000,

AFA LOIZH| KIEAIAL HX]

2,400 2,400,000&=

52,000 | 4.SRNSE=F

Lt EXHUHHAS KX E(ASH81%
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B S LK o

PIEE P TIEIERS
20,000 4,000,000 %501 A=

L PUZSRD L AHHH AlE SXES
20,000 20,000,000&*15]=

Ch X2l & BIIRA & 28X
12,000 1,000,000 *12&8=
53,100 | 5.MEXI%=
10,600 | It ZHAIE EHHl =Xl

1) 224 HRE |22
2,000 2,000,000&=

2) Fold RSASHH KAL)
3,600 36,000,000&+0.1=

3) S NSASHH|
5,000 5,000,000 *18l=

Lt HEHANEH SXLS
18,500 |  18,500,0008%18l=

CLitessel 2 HIIZAL S 8K
12,000 | 1,000,0008+128=

2 012250 B ¢ FIIFY
10,000 5,000,000%22|=

0L BOARA SAI| GHEAAM|
2,000 2,000,000 *15]=
29,000 | 6.2 € AH2F

o AL FHISX
9,000 1,000,000&+92|=

LLxtess2l 2 HOIZA S 8K
20,000 2,000,000&*103]=
56,000 | 7. MIF=XH=2
43,000 | JF HIAIE RXl

1) SXAME 24 SX]
10,000 10,000,000 =

2) BUNRH Au2+ Z4 ST
33,000 | 33,000,0008=

Lt 2oz 2a sxze|
8,000 8,000,000&=

CLAIEZ AR TAAS)| EHEE L 22
2,000 2,000,000&=
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B 3o LK o
2h.2PA AR ol
3,000 3,000,0008=
[210-11] 1,046,925 | 24|
180,000 | 1. S=229
O AEASE
120,000 120,000,00024%13]=
Lt ASOHE A5
30,000 10,000,0002*33]=
Ch, Z2HA2(HHOIL seal, ABT) S MH2H|
10,000 5,000,00024%23|=
2f TR 2HO|ZAL IIE, 2N DEMEH S
20,000 5,000,000 %43|=
267,900 | 2. QIMBEK|AELR
o BEHDIE 85, 0t
14,050 14,050,00024%1 3=
Lt SEUTAST 28 24|
88,000 11,000,0002%8H A=
Ch THE L AIBXFE ARE
3,000 600,000 *55|=
ot dYIMEE, S82H01Z, M4 5 MEZHI
60,000 20,000,00024*33|=
OF HARE ASUE
13,500 4,500,00024+33|=
Ht. SAZIAR ASE ASUHE
900 20,0002 *45JH=
78,000 | Al AAESTAMLEH
1) A2
42,000 405+350,00084*33|=
2) HUAl 2tAl
19,200 405%40,00024%123]=
3) B L H AHIE
9,600 2,400,00024%43|=
4) £o|2%E U A=orE
3,600 300,000 *128=
5) A4, HE 5
2,000 2,000,0008=
e 1 101-6200-6233-311-210 | S SE-SUSAPAAA-SSASAATA-SSASTAAA-2ZH|
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o
B 3% Lt o
6) 2iel(zd=)
1,600 | 40,00081*405=
Of. AAAUB(IY, NS §)
10,450 | 10,450,0002=
42,260 | 3. FEXA=R
28,100 | Jh SHAEA W
1) BRASZ
2,500 | 50,00024%507H=
2) A=AE
5,000 | 20,00024%2507H=
3) ME=Z(Ls )2 8)
4,000 | 1,000,000 *43]=
4) NEMWF 224 22 7Y
4,000 | 4,000,0002=
5) B2 28 7Y
5,000 |  5,000,0002=
6) UL 22F(LAS, 0143, LA5 5)
6,000 |  200,0002*30% A=
7) NE&% otolAm
600 |  600,0008!=
8) X-RAY ZME AIZ 7¢
1,000 | 200,0008*55]=
14,160 | L. ESXAME HEH|
1) At2H|
3,840 | 80,0002 *4F+128=
2) YA, 2tA
1,920 | 40,0008 *45+128=
3) A 2B
4,800 |  400,0002ix128=
4)/\O|Otﬁ al )\% t% %
3,600 | 300,0002ix128=
12,240 | 4. EFXA=2L
b 2318 g, welsgt 0iA3 S YelESE 7Y
3,600 | 200,0002s*182A=
Lt Ao
4,000 | 20,00024%2007H=
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i(:
- ZoH LK >
Lt 2R=s
720 120,000 68t A=
2. AIZSEE Z2H0I010lA S
900 30,0002*307H=
OF. 128, 93T S 28 25
520 50024%208I x5 A=
H. ASD|
2,500 50,0002 *50CH=
494,025 | 5. M2Xd=
23,000 | Ot A 2
1) MWEEE ADE
10,000 2,000,00024%55]=
2) N2HFHE A2E
6,000 6,000,0008=
3) B R ARE
6,000 6,000,000=
4) HIZ X-Ray NSE A2
1,000 200,0002%53|=
471,025 | L. M AAL
1) =8¢ A 2A
22,800 2,850,000 +821=
2) = L AA
42,000 280,0002%15021=
3) == Xl 2A
28,800 720,000 %4024=
4) =& A2 HA}
2,750 550,000 *524=
5) +5Y ZME A
24,500 350,0002%70 2=
6) =2 2Y 2AH
235 47,000R*52=
7) £=EQ AAHY AA
198,000 55,0002%3,6002=
8) =2 JiI=28 % II8E ZA
32,000 80,000*400 =
9) £ AH| AA
940 47,0002*20 4=

= 1 101-6200-6233-311-210 : S E5E-SYEAHY



2018 Oil&t

ICc
- =1l LK o
10) 22 HH HAl
3,100 31,0008*100H=
11) AEES 29 L A 2A2/H|
2,500 250,000+105=
12) Tt E=R=E o X Y|

31,200 520,000&*605=

13) =2l BAF kit ]
5,500 550,000&*105=

14) &5 2 HA

62,000 62,000&*1,00024=

15) RIS ZAt

14,700 2,1002+7,0005=

33,000 | 6. SHKFE=R
b s

10,000 20,0002+50004=

_i_—?— S
5,000 50,000&*1007H=
Ch ASE

4,000 20,0002 %2000H=

4,000 200,000& *20 A=

0L ME L AZIUHH EZ

10,000 2,000,000&*52|=
17,500 | 7. MI=Xg9=&

14,500 | JhL &4H
6,000 200,000&*30t A=
4,000 1,000,0002%42|=

3) X-Ray Z2ME Al2 7/
500 100,000 %53|=

B
CS

4,000 20,0002%20004=

3,000 | Lt EXARY

1,500 100,000 %155
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o
B =L LK &
2) Y83 7Y
1,500 1,500,000&=
[210-12] 44,800 | Scl=44d|
CSIDIR Y JRIMIZ RN =XIES
44,800 400,00014*112 =
[210-14] 410,472 | LEH=24H
45,000 | 1.==d9
ILEFANS L E-book ME S HXEE
45,000 45,000,000&*13]=
365,472 | 2.7HI25201 €28 2
Ok QHTENAZE 8A(QANTES)
243,648 2,538,000 #8128 =
L SXH=s 3E(73E, 2l3E)
91,368 2,538,000 +3H+12&=
Ch MEXoes 18(JE2EH)
30,456 2,538,000 +1H+128=
[220] 593,124 | O4Hl
$ 103,763
[220-01] 379,018 | =LHOIH]
63,400 | 1. SS3 AL
oL semse A FY
24,000 | 40,00021%10&*30I A*25|=
Lh #22 2% #FA2 X2
12,000 | 40,0002*102*307 4=
Ch 222 S0k 22|ME B
15,000 150,000 *2E*10J4 253]=
ok MEAY X8EIL 2SAE B
6,000 150,000 *2E*10J4 A23]=
Oh #9ldh 22 23 =X
6,000 40,0003 x5 *101 2*335]=
bh 2oi9i9s S B4
400 40,0003 x5 *23|=
16,000 | 2. SIEEIID
slEmote 20 12 +3
12,000 150,000%*2&'*40§|=
L QBB A8 &4
4,000 40,0003 *521%203]=
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=L L o
53,520 | 3. A FBEN A=
9,800 | Jh 2UBNZ HSA L NBBE S
1) ARH
5,600 | 40,00021x702x2%=
2) ARPAKI
4,200 | 40,00021x352x3%=
Lt doSASHYM L A8 NE M
1,600 | 40,0002+42+103]=
Ch 8% A
4,800 | 40,00020x40D+1051+3%
2k 29 JIEEAE L MOILE &A
8,640 |  60,0002%3%x15l 47} Dhx128=
20,880 | OhL. BN 2¢ 2 #@
1) SEHMEX ZHL IS HIX
14,400 | 150,00021%2%%45]x1 2=
XA €L B
2,880 |  40,00020x32x245I=
SN2 FIIFI}
3,600 |  150,0008+28ix32x45]=
bl SRI S0IHA EF
7,800 | 50,0002+13CH+128=
55,638 | 4. FURIA=R
45840 | b SEA2 A
1) 22 B42 A
4,800 | 40,00021x2%+55]122=
2) £20 S2AY A2 ¢
2,400 | 150,0002%22185I=
3) +AZNS H2AA L AR
9,600 | 40,00021x5%x45]x12%=
4) AGANBE AT L AT BY
7,200 | 40,00021x3*55|+128=
5) 2% TR YR30l A
14,400 |  150,00020%2%%43]x1 2=
6) 22 22 ¥ 1S
2,880 |  40,00021x22x35]x122=
7) TEO B L H23A2 HLH B
2,880 |  40,00020x22x35]x122=
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e 2018 0jlAF
=L Ly o
8) ZLINE NEMHF
1,680 |  40,0008%224215]=
6,720 | Lt HASXAH 2
1) BN BLEd
2,400 |  800,0002/%3%=
2) BeLr HF A X
4,320 | 40,000%x3Z*35|*128=
ChLE8XZ SHOIHA £&
3,078 | 3,078,000%=
43,940 | 5. ERXA=E
ol +EY SENE A
16,000 |  1008I%421%40,0002=
Lt ZANSE NCHS L XN
7,040 | 883|%2%+40,0008=
Ch. 330 2Z2 81X =Y
5,600 | 358+424+40,000%=
ot 2 22 1S
1,920 | 22*122%25]%40,0002=
O 2E2 22 HI| 22
1,920 | 2Z*122%25]%40,000%!=
bl 42 SA2 HelYH B
1,920 | 29*128%25]%40,000%!=
AL CHAEE CIQ 22X 5%
9,000 | 30,00021x2Z+1503I=
oL SHOITHA B
540 | 3,6002%1503I=
60,600 | 6. H2XIA=E
60,600 | It 2
1) 2ECTEAN L HIA
4,800 | 40,0002+531%122+22=
2) £YBNS HBAA U FUAA AT M
4,800 | 40,0009+531%122+22=
3) AANUY L SO BT
9,600 | 40,0002+105]128*2%=
4) yesA2 HUH Y S
1,920 | 40,0008%25]128+2%=
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ac
B S LK o
5 ClIQ 2R(ZoH, said, sollE S)
19,200 |  40,0002%203|*12&*2%=
6) S&3a2 AA
8,640 |  40,00024+63|*12E*3Y=
7) =0l UEXS HH
1,920 | 40,0002%23|*12@*x2 %=
8) A B PR3 S HA
1,920 | 40,0002%2%*23|*122
9)SEXE otolIiA S
7,800 | 650,000%4%128=
54,480 | 7. 3LXdA=E
54,480 | Ot 24
1) +USA2 SHEZTAL L AZF
2,880 | 33x2%*12E*40,000&=
2) =URHE 285 2
2,880 63|x1Hx12&+40,000&=
3) MAHE U0l =2=52AM £ XE 28
14,400 69I*5%4*12§*4O,OO 2=
4) 5, Hs S =539
1,920 | 23]%2%*12&%40,0002=
5 ZAE 2Y
4,800 | 53|x2Z*12&*40,000&=
6) JYASEE X=HH
2,880 | 33|x2Z*12&*40,000&=
7) B0 B
3,600 | 23|x2H*62*150,000¥
8) Z23Al=2 HMIlAH &
2,880 | 23]x3%*12E%40,0008=
9) ZAHAL MOILE &A
1,440 | 63/*6%*40,0002=
10) HdSZAF €23
3,600 | 15x2%*128%150,0002=
11) 2L CIQ &<
10,800 |  1531x2%*128%30,0008=
12)3E2XE sloliA 58
2,400 | 200,00094%128=
31,440 | 8. HI=XZ2=2
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20184 Ol AF
i(:
a ZoH LK o
26,440 | Ot 2™
1) 28 3|o&tA
9,000 3% *1224%250,0008=
2) 2P o HAEY L D8 B8
4,320 33|*3%*122%40,0002 =
3) /\|3C>HII- X|I:I—iD—I
2,800 143]%5%%40,000
4) 8Hoh 2o
6,000 30,0002*2%*1003|=
5) SEA2 £5Q AN U 25 MR S
4,320 30,0002+ *635|*128=
5,000 | Lt EXH 29
1) EXH SY(QIHEDEX A=)
3,000 1,500,000 x2%=
2) EHXQ 92 =
2,000 250,0002*2H*435|=
[220-02] 214,106 | =22/A2L0H|
$ 103,763
148,813 | 1. =224
$ 75,427
33,352 | JF 2HALZ 0I2(ZHD1P) A S (20!
$ 22,435
1) S220I=ESs8EY
8,000 4,000,000+
2) 20|12 st=2=
13,868 [BHS XA 1093/1140]1%$800%22*83|=
$ 12,272
3) e
6,284 [BF2XE 1093/1140]*$145%x2H+42U+55|=
$ 5,561
4) AlH|
3,510 [EF2XE 1093/1140]*$81+2H*4U+535|=
$ 3,106
5) 24|
1,300 [EF2 XA 1093/1140]%$30+2H*42Ux55|=
$ 1,151
6) =H|2
390 [BH2 XA 1093/1140]1%$180%22*135|=
$ 345
17,898 | LLOIZ ADJ|, SKDI| S8 2SXX HA 40!
$ 8,760
1) 32
8,000 2,000,0009*4%4=
2) =8|
5,634 [BHE2XE 1093/1140]*($137+$123)x2H*10L=
$ 4,986
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3) Al
2,808 [E2XH 1093/1140]*($59+$49)x2H«12
$ 2,485
4) 2|
1,456 [E2XH 1093/1140]*($30+$26)+2H*12
$ 1,289
8,116 Ct. & 28 S 2F =8YE & 202 7¢
$ 2,597
1) gZ22
5,182 2,591,00024%2
2) =]
1,690 [EF2 XA 1093/1140]%($137+$123)x6 L=
$ 1,496
3) Al
819 [BF8XA 1093/1140]*($59+$49)x7 U=
$ 725
4) Lyl
425 [BF2X A 1093/1140]*($30+$26)*7 U=
$ 376
8,304 | 2t BRE =8 =X HA 201 12¢
$ 3,455
1) 32
4,400 2,200,00024%x2%H=
2) =8|
2,123 [EFS XA 1093/1140]*($106+$90)*10L=
$ 1,879
3) Al
1,053 [BF2XA 1093/1140]*($44+$37)*12
$ 932
4) 2|
728 [BF2XH 1093/1140]*($30+$26)*12
$ 644
14,789 | OF ESE2Z XA M2 401 72
$ 5,300
1) g22
8,800 2,200,000 4=
2) =8|
3,380 [BH2ZXH 1093/1140]*($137+$123)x6L*201=
$ 2,991
3) Al
1,638 [BHE XX 1093/1140]%($59+$49)+7U*20!=
$ 1,450
4) Lyl
971 [BHES XX 1093/1140]%($30+$26)+8L*20!=
$ 859
11,068 | Hb. AQIG ==X HA 201 16
$ 6,255
1) 32
4,000 2,000,00024%x2H=
2) =8|
4,225 [BH2 XX 1093/1140]%($137+$123)x15YU=
$ 3,739
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3) Al
1,872 [EIF2X A 1093/1140]*($59+$49)x162=
$ 1,657
4) 2|
971 [EI2X A 1093/1140]*($30+$26)*162=
$ 859
11,468 | Ab &2l $==AX HA
$ 6,255
1) gZ22
4,400 2,200,000 *x2H=
2) =]
4,225 [BFES XX 1093/1140]%($137+$123)+15LU=
$ 3,739
3) Al
1,872 [SFS XA 1093/1140]*($59+$49)x162=
$ 1,657
4) Lyl
971 [SFS XA 1093/1140]*($30+$26)x162=
$ 859
22,936 OL2AER|IOF £:EXAUF HAH 40! 162
$ 12,510
1) 32
8,800 2,200,000 x4H=
2) =8|
8,451 [BH2F 1093/1140]#($137+$123)x152U*2H=
$ 7,478
3) Al
3,744 [BH2ZXH 1093/1140]*($59+$49)* 16 L*2H=
$ 3,314
4) 2|
1,941 [BH2ZXH 1093/1140]*($30+$26)* 16 L*2H=
$ 1,718
5,960 At = 222 AR ZAF 401 7 CHEH
$ 1,735
1) gz22
4,000 1,000,000 *4 %=
2) =]
1,027 [BF2XA 1093/1140]*($81+$77)+6U=
$ 909
3) Al
508 [BF2X A 1093/1140]*($37+$30)*7 U=
$ 450
4) Lyl
425 [BF2X A 1093/1140]*($30+$26)*7 U=
$ 376
8,852 | X MAIHAZAIAE = Ho|l L290] 92
$ 3,409
1) 32
5,000 2,500,000 +x2H=
2) =8|
2,253 [EFS XA 1093/1140]*($137+$123)x8L=
$ 1,994
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3) AlH|
1,053 [BI2X A 1093/1140]+($59+349)»9=
$ 932
4) 2|
546 [EIF2X A 1093/1140]+($30+$26)x9U=
$ 483
6,070 ILBHEBAL ERES J|=¢Hs 0|= 8Y
$ 2,716
1) 822
3,000 3,000,000 %1 Y=
2) el
804 [EF2 XA 1093/1140]+$106%7 L=
$ 711
3) Al
381 [SFS XA 1093/1140]*$44+8=
$ 337
4) 24|
260 [SFS XA 1093/1140]*$30+8L=
$ 230
5) S=H
1,625 [SF2 XA 1093/1140]+$1500%12!=
$ 1,438
64,322 | 2. AT
$ 28,336
12,748 It Z0tLIOH D2 23 JISAMAE S XA
$ 4,201
1) 32
8,000 2,000,000 4=
2) =g
2,548 [EH2XA 1093/1140]*($106%2H+$90+2H)+62=
$ 2,255
3) Al
1,229 [BH2XH 1093/1140]*($44x2B+$37+2H)*7 U=
$ 1,087
4) 24|
A 971 [BH2ZXF 1093/1140]*($30*2H+$26+2H)*8LU=
859
10,377 | Lt R3A2H0ILL JI12] 23 II=AMAE SXIZA
$ 3,872
1) 822
6,000 2,000,00094*3%=
2) =tt|
2,490 [BIE XX 1093/1140]#($137+1H+$123+2%H)+62=
$ 2,203
3) Ald|
1,176 [BH2XF 1093/1140]*($57*1 B+$49+2H)»7 U=
$ 1,040
4) 2d|
A 711 [BH2 XX 1093/1140]*($30*1H+$26+2H)*8LU=
629
13,766 | Ct. DAEIRIII =2 I=QAMAIEY SXIZEAF 401 10
$ 5,103
1) 32
8,000 2,000,000 4=
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2) =i
2,973 [EF2XF 1093/1140]*($106+2H+$90+2H)» 7=
$ 2,631
3) Al
1,580 [EF2XF 1093/1140]*($44x2B+$37+2H)*9=
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5,400 1,200&%1,50024*35=
Ch FAIEZ 2AF
5,000 | 5,000&%1,00021=
2l DESHMAL 212 Q|
3,000 |  3,000kg*10002=
97,643 | 3. MIZ&8 1t
68,670 | Jb SHME LIHZ ZAIRIH 2=
1) SARLLT Be2e)
6,300 210,000&*105*33|=
2) BHMH A2 T=SH AIE
6,930 210,000&*115*33|=
3) =2 AT SOIZAAL
5,040 210,000 *4E+63|=
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1,800 | Cf SRXI=2=
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3,000 200,000 #1582 A=
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4,000 20,0003 *2EH+100H &=
5760 | 7. AE2Xs2:
1,920 | Ot SLHAIE otEzte]
1) S42 HACCP A& HE
960 40,0003 *2H*12&=
2) SASHM Y MU X& FE
960 40,0003 *2H*12&=
3,840 | Lt =M1 RS0 =&
1) =410 RS0I=M &
2,880 40,0002+2F+33|x128=
2) QIHA DI BOHKSAIARY = &L X
960 40,0002 +2H+128=
4,800 | 8. SEXIHE=E
2,000 | JhL S4AIE ord e
1) SAUSHAZ HACCP &8E
1,000 40,0003 *252|=
2) SISO A MU XE FAH
1,000 40,0003 *252|=
Ll 224M10)| SSZASIH B, 2AF L 22
2,800 40,0003 *2H*352]=
2,400 | 9. MI=XE=28
I SAEord 9 MR IEEY
1,200 40,0002+2F+153|=
Ll 2248100 SSZSIH B, A L 22
1,200 40,0003 *2H*153]=
[220-02] 45,315 | 2L/HR0HI
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27,477 | 1. ==3dI
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6,800 6,800,000&=
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2) =8|
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976 ($59+$49)*82=
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4) 2|
633 ($30+$26)*10L=
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1,000 | 100,0008*1021=
[320] 245,744 | RI2+0|H
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$ 2,340 | 201, 7, ARR/HA}
me=z
6,000 3,000,00084%201=
(Q)=a=2
1,469 $137x52x101+$123x52U101=
$ 1,300
= 1 101-6200-6234-300-210 : SH-sE-SEAAAAA-AAAAHRID)-SLEAA A A AL | IHEH(RD) -2 L]
— 239 —




2018 Oil&t

e
a ZoH LK o
(3)AlHI
732 $59x6U*1Q1+$49x6U+1 Q1=
$ 648
(4)LH|
443 $30%7U*101+$26%7U*1 Q1=
$ 392
3,933 2} K53 |40 RICHEt5|(EAVLD Congress) &4 &
$ 1,091 | LHE(AMQ 101, 72, HARAH
OEEE
2,700 2,700,000 101=
)=z
695 $123%x52U*10l=
$ 615
(3)AlH|
332 $49+6U*101=
$ 294
(4)2H|
206 $26+7Ux101=
$ 182
3,692 OF) 2H AIZS0IMSEH| 34 L HH(SY, 101, 6L, ARZY
$ 1,144
(1sz2=
2,400 2,400,0004%101=
(2)=ar2
655 $116+52U*101=
$ 580
(3)AH|
400 $59x6U*101=
$ 354
(4)2H|
237 $30%7U*101=
$ 210
8,023 i) DIZERHEIEHE](AAAP) &4 2 =29 H(0|= 201, 7Y,
$ 2,498 | WE/AHPD
ne=2
5,200 2,600,00024%201=
(2)=ar2
1,548 $137x52U*201=
$ 1,370
(3)AlHl
800 $59x6U*201=
$ 708
(4)2Hl
475 $30%7U*201=
$ 420
4,233 Ab) 2018 QIZSOUX} St3|(¥=, 101, 7Y, HATAN
$ 1,091
mesz
3,000 3,000,000 101=
(2)=8tz
695 $123%x52U*10l=
$ 615
= 1 101-6200-6234-300-210 : =Y -s&=-S2EAAAAA-AAZAHRID)-S&EAZ A A AR |2 IHLH(RID) -2 H]



2018 Oil&t

ICc
- =ell LA S
(3)Aldl
332 $49x6U*101=
$ 294
(4)ZH|
206 $26x7U*101=
$ 182
4,457 Oh) ZFCIE20IXL BiolAA &3S 24019 A(01=, 192,
$ 1,280 | 82, HP2AN
e
3,000 3,000,000&*1021=
(@)=g=
834 $123x62*1021=
$ 738
() Al
388 | $49x7Ux10I=
$ 343
(4)2d|
235 $26+8U*101=
$ 208
1,300 1 HEY 2MESSHR ZR(HEY, 1921, 4, Az)
$ 487

750 750,000&*121=

(2)=8tz
289 $64x42x101=
$ 256

(3)all
125 $37+32Ux101=
$ 111

(4)LH]
136 $30%42x101=
$ 120

$ 614 | 101, 42 A7
mazs=z

600 600,000 %121=

1,294 X 8-2g0|AIOF 2MBSHF FA LD FHZ(L20IAIO
ol
1

(2)=8tz
359 $106+3Ux101=
$ 318
(3)AH|
199 $44x42%1 Q1=
$ 176
(4)LH]
136 $30%42%101=
$ 120
4,200 Il ZRQIZ20IX} M2IF =F(0|=2, 191, 6Y)
(nsz2z

3,000 3,000,000 *121=

(2)HIHIb]
1,200 200,000&*x62*101=

29,949 12) ol

=1 101-6200-6234-300-210 : =Y-sE-sZSAALBA-ZABAHRID)-sSFAA LSS ADEIHE(R&D) -2 L]



[ctel @ J 18]
- 20183 Ol Ak
o o Ly o
11,091 b Ze|2agstg] a4a(Y=2 201, 92, WE/HH)
$ 4,814
e
5,651 2,825,500&*29!
)=z
3,182 $176%82U*201=
$ 2,816
(3)AH|
1,648 $81x02*201=
$ 1,458
(4)2H|
610 $30%92U*201=
$ 540
4,033 LE) ZHASEHS| 2A(/dY, 101, 72, AZAD
$ 1,091
DL
2,800 2,800,00084%101=
Q=22
695 $123+52Ux101=
$ 615
(3)AlH|
332 $49+62*1 Q1=
$ 294
(4)LH|
206 $26+7Ux101=
$ 182
3,833 CH 2290l A S5 ZAM(QAEZ|OF 101, 7Y, o122
$ 1,445
mgsz
2,200 2,200,00084%101=
(2)=8tz
929 $137+6U*101=
$ 822
(3)AH|
467 $59x72*101=
$ 413
(4)LH|
237 $30*72U*101=
$ 210
2,787 cl) OIEHEY T2 ¢IRBSH sta A(L=, 191, 7Y,
$ 1,581 | HRAD
OEEE
1,000 1,000,00024*1 Q1=
2=z
1,051 $155%62*101=
$ 930
(3)AlH|
530 $67x72Ux101=
$ 469
(4)2H|
206 $26+72Ux101=
$ 182
3,955 0h) 2HISSEY L $9/85|(HLICH 191, Y,
$ 1,023
: 101-6200-6234-300-210 : SH=E-S2UZABAHA-BAHAHRID) S EAZ A XA S IHLHRID)-22H|




[ctel @ J 18]
20184 Ofl &t
i(:
B =L LK &
nmgsz
2,800 2,800,00024*1 Q1=
(2)=a2
619 $137+42x101=
$ 548
(3)AalH|
333 $59x52U*10l=
$ 295
(4)2H|
203 $30+62*101=
$ 180
4,250 H) 20|19 AFSPHEAZAHERHO| %2 HASE M2D}
ZHOHUCH 1901, 7L
e
2,850 2,850,00024*1 Q1=
(2) MM
1,400 200,0002%7U*101=
32,187 13) M A RAIE
$ 7,932
3,340 Jb) OIE S0F 52 M| 3|2(SEACFMD) &A(SLH0} 20!,
$ 1,540 | 6Y, 122
mazz
1,600 800,0002%201=
(=22
915 $81x52%201=
$ 810
(3)AlH|
418 $37x52U%201=
$ 370
(4)2bl
407 $30+62U*201=
$ 360
3,872 Lh BHAIZANGIS I8t RIS &) WAs) Dl Ha=(EI=, 291,
$ 1,656 | 7Y, SIAH
nme=z
2,000 1,000,0002%201=
Q=22
1,017 $90+52%201=
$ 900
(3)AlH|
502 $37+6U*201=
$ 444
(4)LH]
353 $26+62U*201=
$ 312
9,531 CH PRINEHA ZER22| J|=HS(0I2FIEIL, 201, 8Y,
$ 2,396 | HRZH/HTAD
nmgsz
6,824 3,412,00024%201=
(2)==e4|
1,469 $137x52U*1 01+$123+52x101=
$ 1,300
= 1 101-6200-6234-300-210 : SH-sE-SEAAAAA-AAAAHRID)-SLEAA A A AL | IHEH(RD) -2 L]




(et : &, 193]
o 2018 0fl&
o 2o L o
(3)A
732 | $59+62U*101+$49+6U1 Ql=
$ 648
(@)
506 | $30%82U*101+$26+8U1Ql=
$ 448
7,644 oh) SETRSSIC BA(RY, 201, 7Y, HAPB/ATA
$ 2,340
(ezz
5,000 2,500,00024%201=
(2)=et|
1,469 | $137x52%101+$123«52+101=
$ 1,300
(3)AlH|
732 | $59+62%101+$49+62U1Ql=
$ 648
(@)l
443 | $30%7L*101+$26+72Ux101=
$ 392
7,800 OF) THIS SHAIEO}F U BHAl D MBI} ZH(Q=2 201, 72)
(nazz
5,000 2,500,000%221=
@M REII
2,800 | 200,0002*7Ux20lI=
[210-15] 300,000 | 22I2=H|
CAEAIA HDIZ, HaHel S
300,000 soo,ooo,ooo%=
[240] 17,972 | LAY
[240-01] 17,972 | Al2iz=ZH]|
1LATAIEDIE] & EAATEIIE S 29
7.772 | 19.43021%2024%203|=
2. 20HENMEI} BolNH S 29
10,200 | 25,5002*402*105]=
[260] 2,120,000 EXET
[260-01] 2,120,000 | 2greiy]|
. RIS AR A B[S
520,000 520,ooo,ooo%=
2. AIGIZERION =
318,000 | 318,000,0008=
3. JIEEYIY 2 HODIE M
455,000 | 455,000,0008i=
= 1 101-6200-6234-300-260 1 SO EE-SRFAZHA A2 HAARD) - S FAZHAAD | SIHL(RID)-S E A |
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2018 Oil&t
ir:
B 3o LK o
4. AXTEHSHRODIZINY
182,000 182,000,000&=
5. S282%AE Y SS=XDIENY
238,000 238,000,000&=
6. DIHHSIHS AIDIZH
130,000 130,000,000&=
7. SASAAI | EHY
277,000 277,000,000&=
[320] 783,680 | 2I12+0|&
[320-09] 783,680 | 1EFE3
471,410 | 1. MIEEZ
b SI1H %=
61,055 595,015,000&*10.2611%=
Lt 2 ZERI(DI2HHI)
39,866 388,512,000&*10.2611%=
Ch deoind
238,816 2,327,388,000&%10.2611%=
of Moy
44,771 436,320,000&*10.2611%=
2t JIHRI(AIE &1 2H)
86.902 |  846,908,0008%10.2611%=
312,270 | 2. €123
b RIIHSH
49,585 595,015,000 /124 &=
L. HIREBER(II2HH])
32,376 388,512,000 /124 &=
Ch deoing
193,949 2,327,388,000&/12)H&=
of Mool
36,360 436,320,000 /124 &=
[340] 400,000 | oHelOl&
$ 353,982
[340-01] 400,000 | oHelZ&OIM
$ 353,982
400,000 | 1. S NSSHPAS
$ 353,982
Ok 2HBS PHS SAME L B} | =Y
58,986 $52,200=
$ 52,200
=1 101-6200-6234-300-340 : =Y-sE-sZ AP HBA-THBARID)-=sSFLB AL A= IHL(RAD)-SHR 01




20184 Ol AF
e
a =Ll LK o
Ll RAOA SHICADR G=5 H=A U JLEA
THEEICHHRIBHAIO| ObN Y & S5EA T
65,859 $58,282=
$ 58,282
Ch 2W2 ? SEAE A 2E} 22U HIOIHA SASA @
Ol |20l 2HE A
39,550 $35,000=
$ 35,000
2l HIEY XZOIZ200X}, 2R HH0lA BI0|FH U
SATAf
30,510 $27,000=
$ 27,000
Ol 229 XY Jid L 2 SS2HH0IA SH24]
38,985 $34,500=
$ 34,500
HE QI4ZE OlUM MY A0 S4 2/ Ul
77,970 $69,000=
$ 69,000
AL BHUIE HAsY S4 HDEAM
29,380 $26,000=
$ 26,000
Oh DA ASI|s Het
58,760 $52,000=
$ 52,000
[420] 299,194 | H&H|
[420-03] 280,000 | =SAH|
280,000 | 1. A=2Z91
 UHE RS A
280,000 280,000,000 =
[420-04] 18,536 | 22l
18,536 | 1. A=2&HA
OF, FpizoI2ta|H|
18,536 280,000,000*6.62%=
[420-05] 658 | Al&SCHH
658 | 1. A2
O AlE20H
658 |  280,000,000%0.235%=
[430] 2,471,851 | SE XA
[430-01] 2,471,851 | ARHFISHI
152,442 | 1. J|1E XA}
Oh 29l steT A7
75,000 75,000,000 %1 HIE=
b SHEHI0IE Y
40,000 40,000,000 =

: 101-6200-6234-300-430 : s -=E-=FLBALTA-BSBAHRID)-=HEAZ AL A SIHL(R&D) - At




2018 Oil&t

_—EC
a S LH o
Ct. &=dBAIAE AHE
37,442 37,442,000 =
28,000 | 2. SAStT ALt
JF el
15,000 3,000,000%50H=
Lt SAEHED|
3,000 3,000,000&*1 0=
Ct, ot
10,000 1,000,000 L —*100H=
243,900 | 3. AYHXS}
b AAIRIKREISED|
40,000 40,000,000*1CH=
Lt ANEE2E HYEHSAIAE
15,000 12,000,000*1 CH+1,000,000+«3CH=
Ct. ==H=D|
25,000 25,000,000*1CH=
ct. &2H01E Ay
42,900 42,900,000&*1CH=
Of. 224 E5ASEH|
8,000 4,000,000&*20H=
Hi. ELISA XISAIED|
22,000 22,000,000 *10H=
A EASEUAERAAMZED]
25,000 25,000,000 *10H=
Of. 2E=AHED|
2,000 2,000,000 *1 0=
Xt Elispotel D]
64,000 64,000,000 *10H=
285,830 | 4. SEAXESHOtL
JF EES0E
23,100 23,100,000&*1CH=
L. ZFAHCIAIFEYI
24,000 12,000,000 *2CH=
Ct. HIAZ20tE 20T
80,000 80,000,000&*1CH=
ct. AEE MFED|
38,000 38,000,000&*1CH=
w1 101-6200-6234-300-430 : s&-sE-SSAMPABA-ZATAHRED) - SAF GBI |=HE(R&D)-SE Kt




2018 Oil&t

oy
12

LH

12

Oh D=SMHIZ0HEdeml
85,000 85,000,000 *1CH=

bt E&=2cldl
23,300 23,300,000 *1CH=
Ab U EAEZED]

12,430 12,430,000 *10H=
243,640 | 5. MIz&E

b AARIKRENSED|

48,000 48,000,000 *1CH=

Lt &Xts HIIGsSEX

50,000 50,000,000&+1CH=

Ch s 2= ESI(SHSEHADI)

14,300 14,300,0002+1CH=

ct. SEE =83 dIIGSEA

St o o

59,400 59,400,000 +1CH=

o &ad U=

==

19,800 19,800,000 *1CH=

0%

& a2l

bt EASdNNE

7,040 7,040,000& 1 CH=

}\|. _D_EI-IQLHE_)

oo

20,000 20,000,000 *1CH=

Oh Al%t 222 W&

e

8,000 8,000,000 *1CH=
&

A lafxt S0I
12,100 12,100,000 *1 0=

Xt PCR workstation
5,000 5,000,000&*1CH=

256,900 | 6. MG
4
60,000 60,000,000 *1

Al
90,000 90,000,000 *1CH=

Ch. =NBJM2CE 2H
o

25,000 25,000,000

ch. |FEA A=

29,000 29,000,000 +1CH

= X}H|

= o

OF =&X B0l 243
28,000 28,000,000 1CH=

>
|
oY
12
oY
>
)
Qo
&)
|
Oif
it
Hh
r>

= 1 101-6200-6234-300-430 : s-sE-sEH4HAH ZAAADIEIHL(R&D)-FE XHA
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oy
12

LH

12

24,900

402,490

HE. J1Z=ZHI(100H)
24,900,0008=

7. HiolAAEE

o 2o

30,000 15,000,000& *2CH=
Lt 2H2Ys)
25,000 25,000,000&*1CH=
Ch AlSHEHID|
20,000 10,000,000&*2CH=
2l SEXNSZED)
34,300 20,000,000 *1CH+7,150,000&*2CH=
Ol=4! S0IZ(BSC W MIEZ=E2l L HiEE)
8,500 8,500,000&*1 0=
Ht. BIRE Z2IED| ¥ 23 22
5,000 5,000,000&*1 0=
Ak FACS
82,500 82,500,000 *1CH=
Of. Hgl&AYUS)
12,000 12,000,000 *1CH=
I HEEZoa=2D|
20,000 20,000,000&x1CH=
i EMRYsD
25,000 10,000,000&*1CH+15,000,000& %1 =
b, MHAMEAEI(Inage Analyzer)
39,000 |  39,000,0002*1CH=
El. JIZEBI(pHEEDI)
2,000 2,000,000&*10H=
It 4ol =2IH
1,500 1,500,000&*1CH=
JIZ=EHI(55 8CH)
15,000 15,000,000& =
Db 2019A AIAE
52,690 52,690,000 *1CH=
Lt 2018
30,000 30,000,000&*1CH=
237,793 | 8. XFR&YY
Oh /IMAXI=YEZS0IE
60,000 60,000,000&*1CH=
1 101-6200-6234-300-430 : s -sE-s2SMHEIALBA-ZAEHAHRID)-s2HEMELHAD|ISIHL(R&D)-SE XAt



2018 Oil&t

_—EC
B S LK o
Lt JI=&H|(438)
18,612 18,612,000&=
Ct. OtO|IAZ2S
30,000 30,000,000&*1CH=
et YERAMZ2|D]
24,530 24,530,000&*1CH=
Ot 248 dXMHS
8,470 8,470,000& 1=
Hb. XA-JIAEEZE A
18,700 18,700,000&*1CH=
Ab. Seven Excellence pH Meter
8,281 8,280,800&*1 U=
Of. &&s01&
24,200 24,200,000&*1CH=
A RS AR H AT
45,000 45,000,000&*1CH=
165,900 | 9. SHAXFH
b AssHaE=SD|
59,400 29,700,000&*2CH=
Lt =Meds
20,000 20,000,000&*1CH=
Ch. OIAHSHEFAZRIEHHH 25|
20,000 20,000,000&*1CH=
ct. S&E018
29,500 29,500,000&*1CH=
Of. DB
10,000 10,000,000&*1CH=
gt JI=&H|
2,000 2,000,000*1CH=
A E2EEXED|
15,000 7,500,000&*2CH=
of. E&N2
4,000 4,000,000&*1 0=
A BDIEAISS
6,000 6,000,000&*1 0=
441,756 | 10. PHIGHAATHIE]
b &
10,000 10,000,000 *1CH=
1 101-6200-6234-300-430 : sH-sE-sHSAMHAHBA-Z LB AHRID)-sBESABHB A2 IHL(R&D)-S & Kot
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_—EC
- =ell LA S
Lt. HPLC =&l=23H
23,000 23,000,000&*1CH=
Ch L= e8]
70,000 70,000,000 *1CH=
ct. Z2e&EAD|
29,900 29,900,000&*1CH=
Oh 2a&xl
90,000 90,000,000&*1CH=
Ht. FL0ISF HYASEZ
10,000 5,000,000&*2CH=
Ab HHEAS
8,000 8,000,000&*1 0=
Of, HSXAEHD|
20,000 20,000,000&*1CH=
A BEERERD]
10,000 10,000,000 *1CH=
i SENSE)|
20,000 10,000,000 *2CH=
ot WERAZE2|D|
26,906 26,906,000 1 U=
Et. ELISA 2lHD|
18,150 18,150,000 *1CH=
o =XNe Wsl
30,000 15,000,000&*2CH=
of. 21FHIOIE
8,000 4,000,000&*20H=
Jt. Shaking 21 RHI0IE
8,800 4,400,000 *20H=
Lk. EO JtA ERD|
25,000 25,000,000&*1CH=
Ch. MEZstAoMIfH| U
34,000 17,000,000&*2CH=
13,200 | 11. ASZAI|=HEHIH
Db Al2FE
13,200 6,600,000 *20H=
[6400] 14,628,193 | Stz
$ 5,071
[6404] 12,625,193 | SAHACI21Y|
= 1 101-6400-6404- - SEE-EX22I-SAAIAH| -
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ICc
- =ell LA S
[135] 12,625,193 | (EH)SXHA Q12|
[110] 12,625,193 | elZd|
[110-01] 12,397,749 | E=
8,713,956 | 1.2
8,566,319 ILEHA Z&
6,844,668 1) e
2,106,787 INHSH
1>42
1,147,919 6,972,295 *14H*12&+0.98=
2>53
958,868 5,824,028 *14H*12&+0.98=
4,632,622 Lha=H
1>6=
1,464,095 3,661,702:@*34%x123+0.98=
>72
1,258,911 3,058,578 *35%*12&*0.98=
3>832
942,264 2,670,815&*30F*12&+0.98=
4>932
967,352 2,109,176@*39%*12&*0.98=
105,259 CHEIIA
1>03E (L)
105,259 8,950,595% 1 H*12&+0.98=
1,721,651 2)H 7=
432,611 IHHEH
1>AR2H(53)
432,611 5,150,128&*7H*12&*1.0=
1,289,040 LHESH
1>HTAA
1,289,040 3,978,561 7&*27H*12&+1.0=
147,637 | LEOIAHA =2
147,637 1) e
34,944 INHESH
1>52
34,944 5,824,028 1 H*x6E=

= 1 101-6400-6404-135-110 :

SolsE-E R - BRI (Z) X011 -1 H|
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2018 Oil&t
ir:
B 3o LK o
112,693 LhESHl
1>65
43,940 3,661,702 +2H+6E=
2>73
36,703 3,058,578 *2H+6E=
3>85
32,050 2,670,815 *x2H+6&=
365,169 | 2.&403(E2+)
OLERIA "
365,169 5,921,662,0008/128+0.74=
3403
502,294 502,294,000&=
547,677 | 4.5 %u4g
409,430 | JheH!
85,680 )tEg
85,680 HNotEsg
N
41,280 40,0003 +86H+12&=
>ENES
3,840 20,0003 *x16H+12&=
3> MRt
10,080 20,0002%42Ex128=
4>ETHRHA
20,880 60,0002%29E*128=
5>AIHOI S Xt
9,600 100,000 «8F+128=
35498 | 2)XiASHHIEESY
35,498 |  JHDSEMIL
IPYNEL RSN
35,498 467,080 *19H+4=20|=
94,320 F2LIS
84,600 | JHYUBIES
1>64 794
17,400 50,0003 *29H+12&=
2>104 7144
10,800 60,0002+ 15&*128=
= 1 101-6400-6404-135-110 : S-sE-SA2A2I-SXHAIAH|-(SH) S 0121H|-2124H|
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B 3o LK o
3>15E 7194
14,400 80,0001 15%*12&=
4>20E0] A
42,000 100,000R1*35%*12&=
9,720 L2
1>203 ~ 244
1,440 10,0002 *12%H*122=
2>25E0( 4
8,280 30,0002%23%*128I=
1,200 4)2HIDRRALE
1,200 IH2HISALE
D>EYHSRIALE
1,200 50,0002+2H*128=
45,972 5) R
45,972 hgetrls
1>HREE
45,972 45,972,488%1=
72,000 B)ROISEI
72,000 IhF0IEE LG
>FKOISE G
72,000 1,000,00021+6H*122=
10,560 7)9E 224
10,560 oheetals
1=
10,560 40,0002*22H*122=
60,600 ) PIESSI=E=;
36,480 IHYuHs 292
1>52014¢
9,600 50,0002% 16 *128=
2673
16,560 30,0002 %46 *128I=
3>8=2015t
10,320 20,0002%43%*128=
23,040 LH XA SOHA2
1>JI= A
600 50,0001 Hx12&=
= 1 101-6400-6404-135-110 : SY-sE=-SX22-SAHAQIHH|-(EH) SR I 4H|-0I124|
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i(:
B S LK o
2>I|ISE, JIAF
20,520 | 30,000&*57H*128=
>AAD AL
1,920 | 20,0002*8%*128=
1,080 CHREE IS
>2FE
120 | 10,0002*1Hx128=
2>2F
960 |  20,000R*4%x128=
3,600 | HLHHAS 2X L MRXRE
3,600 INNLEES BRLY
>0, 9~1253
3,600 | 300,0002%1H*128=
138,247 | Lt A=
28,080 | 1)IE2Y
28,080 INNESY
1>HH A
12,480 |  40,000*26%*128=
DEHES
1,440 | 20,0002*6Y*128=
> XA
4,800 | 20,0002x20H*128=
A>EMRHA
9,360 | 60,000%*13%*128=
1,868 | 2)XASHIEX4Y
1,868 JhDSsHI}
IVEE RN
1,868 |  467,080R*1H*42]|=
15,240 | 3)F24LItM2
15,120 PHELEIESIS
1>54 9
3,600 | 50,000*6128=
2>10E ~ 144
3,600 | 60,0002*5H128=
3>15E ~ 194
6,720 |  80,0002x7H*12&=

= 1 101-6400-6404-135-110 :

sY-=E-3H2Ae-BA

0I1H|~(ZH)EXHRIQI21H| 0121
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T o4 L o
4>20E01 &
1,200 100,000 *1Z*12&=
120 | Woka
1>204 ~ 244
120 10,0003 *x1Zx12&=
1200 | 42Hzoasy
1,200 IN2ESREASY
>EHBOAL
1,200 50,0003 *2H*12&=

15,659 5\tea<
15650 | JhsES

>Oeae

15,659 15,659,4433=

24,000 6) R0t =g

24000 | INSOIERAG

>ROIEE S

24,000 1,000,000& 2% *12&=
16,200 NRE2RSY
16,200 PSS

> =

16,200 50,0003 *27H*12&=

33,600 | B)ePYURLE

33,600 hARE

1>e1
7,680 80,000&*8H*12&=
2>01 A}

25,920 80,0002 x27Hx12&=
2,400 | QAN HBPEH| IaD
2,400 IHIHARE 2SEZH| Jtata

JoDOE TR TE 283 0id 2RRD ol
2,400 200,0003*1H*12&=
574,361 | 5. =x22+E
538,079 b LR AR
538,079 | DEMA F
428,100 JHuerx

= 101-6400-6404-135-110 : SOt sE-EX22|-SRHRI0I218|-(ZH) EXH2I Q1244|2121
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o
B =L LK &
1>53
52,709 13,641 3+ AGH 4B 23A1 2+ 128=
2>65
109,173 11,6343 *AHGI34H#23 A 2128 =
>73
101,517 10,5093 *&HGI35H 23 A 2128 =
4>85
72,906 9,434 AHOI28F 23 A2+ 128 =
5>95
91,795 8,528 xAHOI30E 23 A2+ 128 =
109,979 LheA A
>0 2(53)
26,412 13,6713+ AHGH7 H+23A1 2t 128 =
2>H A
83,567 11,2143+ AH5I27 B 23 A1 2h128=
36,282 | LbBAHAK
1)L HATIAIZE I 48
20,661 | 20,661,0008=
2)SAUMTIORIZ24S
6,748 6,748,000&=
JHAUMNFL224S
8,873 8,873,000&=
313,809 | 6. 2AUZAHI
308,349 | JhAMIY EH
53,726 NeSH
42,806 b e
1>43
21,403 130,000+ 142 *12&+0.98=
2>53
21,403 |  130,0008*1424»122%0.98=
10,920 Lh e 72]
1>712H(53)
10,920 130,000 *7E*12&+1.0=
253,094 ==
210,974 b e
1>6=
51,979 130,000 *34E*12E+0.98=
= 1 101-6400-6404-135-110 : S =E-EX22-SNAQI2E|I-(SH) ST Q121|012
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B S LK o
o>72
53,508 130,000 %358 *1224%0.98=
3>82
45,864 130,00024*30H*1224%0.98=
4>92
59,623 130,00024%39%*1224%0.98=
42,120 LHHA R
1>C12Ab
42,120 130,000 %27 *1221.0=
1,529 3)2UIIH|
1,529 Y=
1>DBEHLS)
1,529 130,000 %1 2*122%0.98=
5,460 LEOllata S&
780 1M
780 JhYutE
1>52
780 130,00024* 1 H+6H=
4,680 2SN
4,680 Y=
1>62
1,560 130,000+ +6 2=
>72
1,560 130,000+ +6 2=
3>82
1,560 130,000+ +6 2=
603,434 | 7.EAEIH
592,165 | JLEMA HR
592,165 NESH
463,261 LIRS
1>62
146,409 3,661,70224%34%x1.2%0.98=
o>72
125,891 3,058,57824%35%x1.2%0.98=
3>82
94,226 2,670,81524%30%*1.2%0.98=
= 101-6400-6404-135-110 : SH-SE-EX2A2|-SXAQAHY|-(SH)ESXRA0I124H|-0124H|
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oy
12

LH

12

96,735

128,904

128,904
11,269
11,269

11,269

4,394

3,670

3,205

360,000
417,049
410,509
128,016

107,016

65,856

41,160
21,000

21,000
274,849

221,029

61,975

57,624

44,100

4>95
2,109,176 %392 1.2+0.98=

Lhei =

1> A
3,978,5173%27&x1.2%1.0=

1>65
3,661,702&%2Hx1.2%1.0+0.5=

2>7=
3,058,578 *2&*1.2%1.0+0.5=

3>8=
2,670,8153%2&x1.2%1.0+0.5=

8. HUE &S
360,000,000&=
9. 2= E x|
JLENE B33
NeSH
Jp) U BRI

=2

>4=
400,000 *14H*12&+0.98=

2>55
250,000&*14H*12&+0.98=

Lhei =)

1>HIA(5BZ)
250,0002*7L*122%1.0=

==
e

1>65
155,000&*34H*12&+0.98=

2>7=2
140,000&*35Z*12&+0.98=

3>8=5
125,000&*302*12&+0.98=

= 1 101-6400-6404-135-110 :

o-sE-EXt2e-EXAA21HI(

Of
12
OB
>
0
e
[
=
o
[
=
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20184 Ofl &t
i[:
B 3o LK o
4>92
57,330 125,00024%39%*1221*(0.98=
50,220 Lho A
1>HTA
50,220 155,00024%27 % 122*1.0=
3,600 CHEFR XM IHA
1>52
3,600 300,0002*1 Hx128=
7,644 3)DIH
7,644 pIYIEEIRS,
1>DBEHLIS)
7,644 650,00021%1 H*122%0.98=
6,540 L. OGllata S&
1,500 1M
1,500 JpBHE|
1>52
1,500 250,000+ 1 H+6 2=
5,040 2)ESH
5,040 Jh el
1>62
1,860 155,000 +2H*62=
2>73
1,680 140,000 +2H+62=
3>82
1,500 125,000 +2H+62=
[110-02] 36,702 | JIEIRIE 2=
25,738 | 1.22
25,738 | JLYURASS
172 U2H 35
11,660 485,853R21%2H*12&=
2902 UEX =5
14,078 391,0472%3%x128=
10,964 | 2. =02 R4Ct
10,964 | JLESAHAXL
1) CHAMRFAI2FQI 2=
10,964 10,964,00084=
= 1 101-6400-6404-135-110 : SY-sE-SXRE-SAHRAQIHH|-(EH) E XA 4H|-2I124H|
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Ic
- =ell LA S
[110-05] 190,742 | S22 4|
190,742 | 1.H9II2AH|
190,742 ILEHA Z&
47,318 1ASH
39,257 JhH e
1>432
21,390 6,972,295@%0.78+0.86% 142 %20/30%0.5+0.98=
2>53
17,867 5,824,02821+0.78+0.86% 142 x20/30%0.5+0.98=
8,061 LhH oA
1>017224(53)
8,061 5,150,128&+0.78+0.86+7H*20/30*0.5%1.0=
141,463 2)2=H
110,669 JhHEHE
1>62
34,976 3,661,702:2*0.86+34H*20/30%0.5+0.98=
>73
30,074 3,058,578&*0.86+35%*20/30+0.5+0.98=
3>83
22,510 2,670,815&*0.86+302*20/30+0.5+0.98=
4>93
23,109 2,109,176@+0.86¥39%*20/30%0.5+0.98=
30,794 Lhet =
1>HTA
30,794 3,978,517&%0.86%27H*20/30%0.5%1.0=
1,961 3)2 I
1,961 JhH e
1>DBEHLIS)
1,961 8,950,595&*0.78+0.86%1H*20/30%0.5%0.98=
[6420] 2,003,000 | SX&2J|=&H|
$ 5,071
[242] 1,814,000 | (BH)SX2DI=23H|
$ 5,071
[110] 204,528 | C124H|
[110-08] 193,627 | 4223

© 101-6400-6420-242-110 :

s-sE-Sl2te-EN 0|23 HI-(EY) SN |=ZH-2124]
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ir:
- =l LK o
1 AIE22|2 2| H X!
26,439 1,573, 77031 .48 x12J &=
2. 01222 Xt
166,820 1,573, 770&*10.6YH*10HE=
3.x3
368 368,000 =
[110-04] 10,901 | 2=z
N EE=E=F]
10,901 50,0002%1.501%x11.18L* 132 A=
2.xH
0=
[210] 1,183,782 | 24|
[210-01] 335,999 | YergY|
112,643 | 1.0|22AHH|
pIR=L
42,313 37,099,000 +5214000&=
Lb X2
51,563 5,156,300 10 KI&=
Ch Xel ns S8y
18,767 15,408& 203 +6&=
2. B2ZE ZINHERE 2|5 Y
1,566 49.83&%31,4170H=
3EZSEMHROIT(HIE)
33,506 |  33,506,000R1%1Al=
4. FI|HR a4
26,616 |  221,8002*10JHA*120L=
5.AM2D|D| ARERQIY A7)
31,807 265,058.43x12&*100 XI&=
6.HSIXHASIE
2,188 198,909.5&3*11HA*13]=
7 D552 SHM2
22,508 170,515.53*12&*11 A=
S.UIIEQEC=H 442
3,220 161,000%23]*10JH&=
9. XBASHIHIE
4,277 6.02E+71,0463 101 K| &=
w1 101-6400-6420-242-210 : sY-==-SA2e|-SAHRD|23H|-(EH)SXHD|2HH|-29H|
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e
- =ell LA S
10. 2 AF3H|I 29|
26,260 198,939.321% 12211 A=
1. RHXED I PA =2
580 34,117.658%170H=
12.EEAHSMHE ZIIEAt
2,562 366,0002%7CH=
13. X2 OIMBI(OI AN, 2 AN, BIIE DA S)
17,406 17,406,0002%1 Al=
14 DSBEN & 227
19,320 146,363.652x12& %11 A=
15.0|2EE DVAMIZ
1,705 49821%3,424 )=
16.ZXBAMNS HA2SE
639 49.824%12,83301=
1,350 | 17.ZXZA E2X2 ME
pISmE=3mby|
355 3,550*100A=
LEZXAAL 2 SNUSAMAARY
995 4,975x200 A=
18.015H| ¥ AZH4ZE
3,803 3,803,000 %1 Al=
19. ¥ AIZH|I 29|
1,705 142,083.352%128=
20. I BAN R4 2
4,007 333,916.65*12&=
21. 83,0 & A4S ¢Eg S 2ALE
4,263 426,3002%105|=
22. EAb BHA0I5 AREH|
14,068 106,575. 752 x12&* 11 A=
[210-02] 211,932 | B2L2LHAl
11,740 | 1.4%E2
hes
1,957 543.6R*300m*122=
Lt XIS
9,783 543.52%150m*122%1 0} K| K=
2.5txc2
721 200.272*300M *122=

= 1 101-6400-6420-242-210 :

s-sE-Sl2te-EN ) |2ZH-(EY)ENE =3 H-23H]
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e
B S LK o
3.835122
59,483 |  35,406.5R%140*122=
42823
10,905 |  82,6132#11JHAx128=
61,561 | 587123
61,561 | JhEA}
e
18,128 | 1,510,6669*128=
2)X| &
43,433 | 361,9412128«10I4XI=
6. HAIBHEE R
29,152 |  2,242,461.72x13)A=
1,438 | 7. 82623
pI =
395 | 395,0008=
LhAIEZ
1,043 | 1,043,0008=
8. AN 5IH]
550 | 27,50091%25]x10IHXI &=
9.4+EUYIHB0IBS
321 | 26,7509x128=
10.FAOBH=2 &3l
891 |  89,10094%13|*10JHXI &=
1180282
17,019 | 2,431,28624*7IHXIR=
12.TVRAI2
535 | 4,053x110HAx128=
11,710 | 13.X2HMAZ 02
hEE(LE)
4,765 476,50024%10CH=
Lt S8H(AE)
2,429 303,625 *8LH=
CLatl2(4E)
2,081 346,833 2A*6LH=
ch.3S(EE)
529 529,000 1 CH=

= 101-6400-6420-242-210 : SeHSE-SRBLI-SXRI|ZYH|-(SL) SXH|=23H|-2|
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2018 Oil&t
o
B =L LK &
OL&E(ZR
1,906 238,250 +8LH=
14245 38 S
5,906 5,906,000 *1 4=
15. &3
0=
[210-03] 14,894 | Ll=H|
EEEC
2,054 2567503 x2H*43|=
polay 292
4,622 2567773 *x6H*32/=
3.HuR=
8,218 856043 +6H*8IH A-x23|=
[210-05] 35,539 | S204AlH|
35,639 | 1.S520H4lHI
orEx
24,844 6,000 %118.987Q1%2.93|+12&=
Lhexsg
3,842 6,000&%53.3621x6 2 *24!=
CLASBAIS AL
1,921 6,00021%160.124*25|=
LM BALS AL (M 202 ASY 5)
4,802 | 6,0008*160.05%*53|=
OLEH
130 130,000&=
[210-07] 39,468 | A=
5,083 | 1. XXt
Ohe(sEYes))
952 476,000 x1 CH*23|=
LEXIR(2E48)
4,131 196,714 %32/*7 A=
2 BRI 30% ARt
6,420 1,284,000&%52]=
3.HIALRH =)
27,965 517,870&x543|=
[210-08] 80,203 | SFH

= 1 101-6400-6420-242-210 : =-==-SXN22-SAAI|23H|-(SY) S| 23H|-2 2|
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e
- =Ll LK o
34,210 | 1.23LE22H
34,210 JhHAZH|
nee, 22
15,870 1,030&*602|E4*x128.4L*2[H=
2)ELt
5,555 1,030&*302|E4*x89.88L»2[H=
3)H=
5,026 1,030&*302|E1*x81.32*2[H=
==
7,759 1,030 *402|E1*x94. 16 Y *2[H=
3,587 | 2.5 H(Z2IAI &)
Jho12Y|
3,587 700&*72|E1*x81.34L*9[H=
17,334 | 3.JtA LGS
pIREEL
17,334 15&%1,155,600MJ=
25,071 | 4. 38X RFH|
pIR-EIE=biE:
17,044 1,252&%x591.89km*23[H=
L S X2
8,027 1,030&*432.95km=*180H=
5.XX
1 1000&=
[210-09] 235,000 | AI&ZHIS X
117,977 | 1. 2428 XH|
JLEAF 20EH0|AE 2R
35,408 5,906.5&%5,994. 76 m'=
LLHARE 20EH0|AED
63,905 3,543.85%1%18,032.67m'=
CHLEAIAS AUe B2
8,662 | 393,727.52Ax11JfAx25|=
2he= JI2S Al
4,333 | 393,909.5%%11HA=
O AIES OHREZ 22
5,669 236,208.43%24 ) A=
2.BXNAXD| =87 XIH]
19,833 2,479,125 %8| A=

© 101-6400-6420-242-210 :

HsE=-EX2A-ESRAT|123HI-(&

M EXR I =ZH-23H]
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B =L LK &
3.EEH S =IIH =&KX
15,374 614,960 *25CH=
4.5°% BHISX L AM 22S
39,916 3,070,462 %13 A=
41,900 | 5.28x12 S|
LE8(4d)
13,029 1,447 6662+90=
L. &E(EE)
3,362 373,555.624x9H=
ChL&EH(AE)
6,621 735,666.524*9CH=
ch32(EY)
11,398 5,699,000 %2 K=
0Lal2(ad)
7,490 1,248,333.424+6 =
HE.EH
4602=
[210-11] 11,036 | M4
5,800 | 1.X1
JbHIOIH AR T = AlC
756 126,000 1KIT*6IH A=
Ll.B2EMESEHE
5,044 80,063.521%x9I*7IH A=
5,236 | 2.EXI2AH 24|
b AADNE
1,831 20,345x900=
Lt A0l
370 9,250 %1 %40 =
Ch2AL2AY
693 7,70024%90 0=
2LHEZIEFA|
522 1,044 21500 %=
O BITHEFR
1,570 3,92521%400%5=
HE.TTCAISF
250 17,857 52148 =
[210-12] 165,612 | =2|S44H]

= 1 101-6400-6420-242-210 © S EE-SXBLI-SAAII=2ZHI-(5
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20184 Ofl &t
e
- =ell LA S
1. MA=53 B=X2
5,992 5,992,0002*14! =
135,738 | 2. ABHE=ZX|0f| At
JLERA
119,738 575,66321x208%H=
(R=Pl:([el>S
4,000 400,0002%10%=
CLOIZERI(1E014
12,000 400,0002*30%=
S MUEGAAS(TER 2
8,902 42,8002*208%H=
12,840 | 4.34E2H2
JLEW =S4t
5,992 856,0002%7 Y=
LELEM =4t
6,848 1,712,000 *4 %=
2140 | 5. ASEY
Ol BAN2EER2E SHE 2 XA(AS)
2,140 2,140,000 +1 Al=
[210-16] 54,099 | JIEI2SH|
25,493 | 1.2t=29H|
e
8,498 141,633R+510tx128=
Lt XIS
16,995 141,625 10N K| S 122=
2. N3AE 298|
18,883 157,358 10JH K| S 122=
3. HRBA, RE2A, XA S XA JEH|
5,115 393,4612% 132 A=
4. A 2RI
1,573 314,6002%55|=
6.J|E}
3,035 3,035,0008=
[220] 273,895 | 04l
$ 5,071
[220-01] 247,457 | 2LH0IH]
24648 | 1.2 &
© 101-6400-6420-242-220 : sH-sE-SXI2E-SAAII2ZHI-(EM)SXAI | 22H|-04H|
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e
B S LK o
OLEEXE el
2,500 156,280x2E*45+22|=
LLESMARDEE FE0I(63,32 53
1,875 156,280&+2E*13|*6 I 2=
10,524 | CLESE MaRRA01HI(62,32)
HESEE L3, MbiDISns
2,084 148,840 %7 2x+23]=
2) XIS (0ILNIE)
2,084 148,840+ 7 2+23]x18=
JEFBRINNE
2,084 148,840+ 7 %23+ 1 8=
HEEAA}
2,084 148,840+ 1Q1+23|+7 I A=
B8 24X ZMXE
2,188 156,280 1 B*23|x 7 &=
2LE3E & K=Y
2,084 148,840 1B *23|x 7 &=
0L 2L MM STICHES.32 .55)
1,488 |  148,8408%101x23|x55=
HLAZMS (62,32 43)
1,191 148,8403%121x23|x4 5=
ALDIZHEOL, HEIT] A8 S
1,786 148,840 +6E*23|=
Of 83 B 4(SE53IS 9)
595 148,8403x2Q1x2 1 A=
RN LIRSE RS
2,605 162,810&3+8E*23|=
142,141 | 2. X1&
orol22 S|
15,627 2,604,550 %61 2=
Ltol 22|
5,209 2,604,550 %20 A=
CLESE WSS2X SXZA
10,419 148,840 *2Q1+58 7 A=
51,053 | chE2=8 daEZ
DHSZE2IS
20,838 |  148,8408x101x43|x55+7 WA=
1 101-6400-6420-242-220 : S-sE-SN22-EXAI | 22H-(BA) ST 223H-01t|
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== =L Ly o
PYEEE=N,
4,168 | 148,84020%101x05x2Zx7 A
JBIE 2MNE
26,047 | 14884081 QIx55Ix55 7l A=
OF RIBMAE
8,335 |  148,840%101x25|x4Z#7 A=
AR EE==
5,09 | 148,84021%101x5Z+7 T A
ALB2E ZRAA U3
10,419 | 148,84020101x25x5Z+7 ) A=
OF ZXH AT I}l
5,200 | 148,84021%101x1 Blx5Z+7 )l A=
R T A1 23] (22432)
5,000 | 148,8402%101x13Ix5Z+70H
ANHB2E MHES
15,628 |  148,8402x3BZ#55/+70}
LB EMSRE(63,5213)
9,824 | 204,6602%12%x15]x4xt 2=
37,278 | 3.RE0iH|
Oh ST AR, &%)
5,550 | 231,0408x24%=
Lt s R2IBHRE, B1%)
2,602 | 236,5502i%11%=
ChLESSHEHRE B
5319 |  231,0602%23%=
2h ZXHAI (1 35, BH =)
5,000 | 118,6802+442=
DF AV RI2I & 2 31er
2,567 | 116,6602%20%=
B SRIE P E A1 X, B2)
3,151 | 143,2408x2001=
AL SMTSHOUHEF, B1%)
2,865 | 358,12024x80l=
OL SAHTLSUNUHEF, &%)
2,014 |  402,7802501=
X ABF S F,8%)
3,125 | 148,8102x210l=
: 101-6400-6420-242-220 : o =E-EXR2I-SXHRI| 2L H|-(Z%) SXH21|=2|-0b|
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20184 Ol AF
ir:
- =l LK o
EEREEEEES)
2,435 110,680 *2201=
ILGMO, LMOEA| 22| Hd
2,428 242, 780&3*100Q!=
7,534 | 4. SXEAF 28 W=0H|
ILENRAA MG (5Y, &)
7,534 139,520 *2701%23|=
5.0| 204 &+
30,360 75,900 *23|*x200H=
6.2X0|% B
2,429 75,9002 x4 *83|=
7.EH
3,067 3067000&=
[220-02] 26,438 | =¥ 20|
$ 5,071
06,438 | 1.A2Z22 =X Q| o4 U ME= 2|2
$ 5071 | HE2Y 24AEHIZEA
D=1
19,978 1,248,600 +2x423+235|=
Lty
729 729,350&=
Ch==8t|
1,580 $82.6%x4H+52Ux11/13=
$ 1,398
2hAly|
911 $47.65+4H*52U%11/13=
$ 806
oL=H|12
3,240 |  $847.2¢4%4x11/13=
$ 2,867
[240] 33,722 | e2=ZH|
[240-02] 33,722 | 2AYR2FEIH|
1.9989| 2123 3|901F S ALLHHIE S
7,562 | 7562000%=
2. EXMAE IS (L BHY2H])
1,800 15,000&*120Y*13|=
3.EXALHAIDILIZ A XS
3,600 15,000&*120H*23|=
4. EXIAIEG
2,760 15,000&*184H*13|=
5. X228 0
18,000 10JHXI&%150,000&«128&=
= 1 101-6400-6420-242-240 © S sE-SRIEL|-EXRA) 2| -(EH) S| 2HH|-YREXY|
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=ell LA S
[250] 61,163 | ZPAH|
[250-02] 61,163 | Z2=3HAY|
61,163 | 1.2&E3MZ
obo12E2-38)
10,016 (650,00024+650,000&*28.41%)*1H*12&=
Lh4201 2
34,208 316740.7«9H+12&=
ChasBx(2)
12,738 265,375 *4H+12&=
ctag =42
2,671 111,291.662x2H+12&8=
0h52D1 2%
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92,804 2,543,047 3x31H+1.2%0.981=
4>95
65,737 2,068,2142+27H*1.2+0.981=
S>IH2 (L)
4,290 1,821,951 &*2H+1.2+0.981=
16,658 | LLEZ EH&A
16,658 NESH
16,658 oh e
1>65
16,658 3,470,447 Ax4H+1.2%1.0=
37,767 | CLOIAHE S&
37,767 DEENI
37,767 oh ek
1>6=
24,987 3,470,447 3x12&x1.2%1.0%0.5=
2>73
7,246 3,019,214 %42 x1.2%1.0%0.5=
3>8=
3,052 2,543,047 3%2&x1.2%1.0%0.5=
4>92
2,482 2,068,214 %2&x1.2%1.0%0.5=
ohets2d
2 2,000&=
8. YOS R
720,000 720,000,000&=
1,868,761 | 9. 2= EXH|
1,643,371 JLENA B3
=1 101-7000-7001-100-110 : =Y-=sE-sSAAZTHIXI-2FAH|-(ZH)24H[-2I24H|




2018 Oil&t

oy
12

LH

12

1,180,024

1,180,024

14,597

11,183

76,518

395,539

550,341

26,487

99,473

5,886
463,347

463,347

291,946

82,404

45,617

39,731

3,649
143,040
135,600
135,600

62,400

DEEX]
PRI

DAL ES

1,240,000 x1H*12&+0.981=

N L= DN =
950,000 *1H*12&+%0.981=

3>3=5
500,000&*13&*12&+0.981=

4>43
400,000 21*84 %% 1224%0.981=

5555
250,000 *187H*12&+0.981=

6>DBHOR)
750,000 *3H+12&+0.981=

7>NB(LS)
650,000 13H*12&%0.981=

SEEZHAI2)
250,000&*2E*12&+0.981=

=M

BINEILCIRS

1>6=5
155,000 *160H*122+0.981=
2>7a2
140,000 *50H*122+0.981=
3>8=5
125,000&3*312x12&+0.981=
4>95
125,000&3+27H*12&3+0.981=

[ELENY e e R —

155,000&+2F*12&+0.981=

E>ERHDLIR)

1>45

400,000 %13 *12&=
2>58

250,000 x14&x128=

= 1 101-7000-7001-100-110 :




2018 0Ofl &t
i(:
B S LK o
B>DBH(LIS)
31,200 |  650,000R*4%*122=
7,440 | 2)23A
7,440 pISITEEIEN
1>62
7,440 | 155,0002%4F*128=
82,350 | CLOIANY B2
48,900 | 1)ei=H
48,900 Jh e
1>32
6,000 |  500,0002%1H*128=
>4
9,600 |  400,00024*x2H128=
3>52
1,500 | 250,000 1 H+6R=
4>53
24,000 | 250,000 *8Hx128=
5>1N3EH(LZ)
7,800 |  650,0002%1Z*122=
33,450 | 2)HZH
33,450 ohYer]
1>62
22,320 |  155,000*12%*128=
2>73
5,040 |  140,0002*3%*128=
72
840 |  140,000*1H+6E=
4>82
1,500 | 125,0002*1Hx128=
5582
750 | 125,0002%1 H*62=
6>92
3,000 | 125000242 x128=
[110-02] 10,884,768 | JIEIEI 22
9,517,403 | 1.22
179,431 | JLE22DIA|
= 1 101-7000-7001-100-110 : S-SE-SSMABZHF X J-2L0121H|-(SA)I121H|-01 24|




2018 Oil&t

i(:
- ZoH LK o
nEALIZ
179,431 4,984,19324%3%122=
68,529 | LI.smcs
1)52 ARE $8
39,378 656,30220*5%*122=
)72 UBH 25
29,151 485,853R*x5%*122=
9,269,443 | LCLREYALO|AL
DESIE
2,659,426 1,477,459 1502 +122=
2)=R2s
2,824,139 1,568,966 1502 +122=
DE I
3,785,878 1,660,47321x190%H*122=
86,632 | 2. 824gt
86,632 | JbhREYrAAOlAL
D
23,534 1,568,966 21*1502*0.1=
2)E235
63,098 1,660,47321%1902*0.2=
16,879 | 3.AI2t22=Ct
16,879 | JLAZ22DIH
NEAUZ
16,879 13,7902 x 2 E3H*B4A|2Hx122=
200,160 | 4.0t54<
200,160 | JhIIEAG
92,640 DN
1,440 JHE2LUIIH
>EALE
1,440 40,0002 %32 +128=
91,200 LHREYA2|A}b
>ES
24,000 40,00024%501228=
D>EL25
24,000 40,00024%501228=
= 1 101-7000-7001-100-110 : S =E-S2USAAIZHE K| A-2L014H|-(EH)QIH4H|-01 24|




20184 Ol AF
ir:
N =l LK o
3>ER3S
43,200 40,000@*90H *12&=
61,440 Q)R H =S
1,440 IHE22I|H
>EULIZ
1,440 20,0003 *6H*12&=
60,000 LH 2= 240 A
>ES
16,800 20,000+ 70Y*12&=
>EQ2S
16,800 20,0002+ 70Y*12&=
>EQ3S
26,400 |  20,0002%110*128=
43,920 | 3)F A
720 INE2LI|H
>EeILIZ
720 20,0003 *3H¥*12&=
43,200 L 2= 8roA4=0lAb
>E S
12,000 20,000@*50H*12&=
>EQ25
12,000 20,000&*50Y*128=
>ER3S
19,200 20,000&*80Y*128=
2,160 4)S T RHA
2,160 22|
>ELIZ
2,160 |  60,0002%3%*128=
1,868 | 5. XtHEHIB 4G
1,868 Jh NSsHOt
1,868 XHHSH|IE X2 4E
1,868 IJHESIIA
>EULIZ
1,868 467,080 1H*42D|=
117,600 | 6.8 ESEELSH
117,600 | JFL. 2SS HOIALEHFEO|AL

= 1 101-7000-7001-100-110 : SSE-SLHAAZS



[ S, 18]
2018 Ofl At
i(:
B 3o LK o
117,600 | 1A22Y
117,600 IHBEYA=0lAL
>ENS
36,000 | 20,0002*150F*128=
>E25
36,000 | 20,0002*150F*128=
PH>EL3S
45,600 | 20,0002%190*128=
4,680 | 7. HUBAI]
4,680 | JLESAIIM
NaEALIS
4,680 | 130,0002*3F*128=
926,945 | 8. BEEIHH
926,945 | JLBELSAOIAL
DESAE
265,943 | 1,477,45924%150%*1.2=
2925
282,414 | 1,568,966%150%%1.2=
3)593&
378,588 |  1,660,473%x190%x1.2=
3,601 | 9.0t AM|
3,601 | JLESAIIK
NEALIS
3,601 4,984,193 2%0.86+0.84+3Z*20/30%0.5=
9,000 | 10.X22XH|
9,000 | JLEMA He
9,000 | 1)YUIIN
9,000 IHESDI
>EALIS
9,000 | 250,0002*3H*128=
[110-05] 651,433 | SIIHEAH|
651,433 | 1.240tE A
627,678 | JLEXNA
390,173 | 1)Kl
390,173 phEIEIRS

= 1 101-7000-7001-100-110 : SSE-SLHAAZS



2018 Oil&t

e
a ZoH LK o
1>32
22,011 7,718,856R%0.78+0.86+13%%20/30%0.5+0.981=
o>42
112,669 6,114,848%1x0.78+0.86+84 2 x20/30%0.5+0.981=
3>52
232,380 5,665,21924%0.78+0.86%187 H*20/30*0.5+0.981=
4>DEEOS)
4,157 6,317,44421%0.78+0.86%32*20/30+0.5+0.981=
5>NZEH L)
16,517 5,792,14424%0.78+0.86%13%*20/30*0.5%0.981=
>R2ASZ(OLD)
2,439 5,560, 15924%0.78+0.86%22*20/30+0.5+0.981=
237,505 223K
237,505 Jh el
1>62
156,153 3,470,447 24%0.86+1602*20/30%0.5+0.981=
o>72
42,453 3,019,21424%0.86+50%%20/30+0.5+0.981=
3>82
22,170 2,543,047 24%0.86+312%20/30%0.5+0.981=
4>92
15,704 2,068,21424%0.86+27 Hx20/30%0.5+0.981=
5>M2AAH(LID)
1,025 1,821,951 21%0.86%2H*20/30%0.5+0.981=
23,755 | LLEE X2
20,770 1)
20,770 JhH el
1>42
6,836 6,114,84821%0.78+0.86%x5%*20/30+0.5+1.0=
o>52
13,934 5,665,21924%0.78+0.86%11H*20/30%0.5%1.0=
2,985 2)23H
2,985 pIIEEIES,
1>62
2,985 3,470,447 24%0.86+x3%H%20/30%0.5%1.0=
[7002] 157,793,962 | A=) |&QI24H|
$ 129,065

[==ali 101_7000_7002_ -




2018 Oil&t

e
- =ell LA S
[110] 86,177,326 | (EH)sASEE 22| 1A|
[110] 86,177,326 | 2124H|
[110-01] 84,608,789 | B4
58,305,264 | 1.22
57,795,941 | JLEHA e
57,142,324 1)zl
12,155,557 Jhe =2
1>32
95,210 8,071,387*1H+128%0.983=
2>42
1,919,362 6,779,708 %243 x122*(0.983=
3>52
10,031,183 5,784,956 %147 12&x0.983=
4>DBEHLIS)
109,802 9,308,448%4x1H+122%0.983=
44,986,767 LhEZH
1>62
15,116,263 3,769,040 %3401 2&*0.983=
>72
13,637,955 3,124,73224x370%»12&*0.983=
3>82
13,479,227 2,814,51924x406%12&*0.983=
4>92
2,753,322 2,266,131 24%103%12&*0.983=
653,617 2)HA A
123,603 Jhe=Ex
1>APHG3)
123,603 5,150,12824x2Hx12&*1.0=
530,014 LHEZH
1>HTA
530,014 3,154,847 x14Hx12&*1.0=
69,419 | LLESE H2
69,419 1)zl
69,419 Jhe=En
= 1 101-7000-7002-110-110 : S SE-SSAABHUHT|R-AS)|2QIHH|-(EXU) SASEE 22|01 HH|-Q12A4H]




2018 Oil&t

== Fo LK o
1>53
69,419 | 5,784,9562%1 %122 =
530,361 | ChLOlAtA =&
530,361 DESES
312,388 IHA=H
1>652
312,388 | 5,784,956 R0 6=
217,973 Lhe=H
1>63
90,457 | 3,769,040 x4 «6E =
2>73
93,742 | 3,124,732 A*5H«6R=
3>82
33,774 | 2,814,519+ H«6R=
-90,457 | chLEMA 2= ER2
-90,457 1) e
-90,457 IHNESH
1>62
-90,457 | 3,769,040 *—3*8&=
3,239,421 | 2. 40I2(F24Y)
JLETA A
3,262,036 | 45,516,781,0002/12&0.86=
LEERA 2= I
-22,614 | -22,614,00084=
CLEZH
-1 -1,0002=
3.4IAa012
3,827,551 3,827,551,0002=
5,299,848 | 4. X ULG
5,109,496 | It LBH!
1,239,360 | 1)=&+
1,239,360 INIIESE
1>HI R
491,040 |  40,0002%1023H128=
DA ES
119,520 |  20,0002*498% 128 =
=1 101-7000-7002-110-110 : S-SE-SSMABHF T -L5)| 20| -(SH) SASE 22| R0121H|-0124H



oy
12

2018 Oil&t

136,800

3> MAHA

LH

12

20,0003 *570H+12&=

804,902

804,902

804,902
672,000

672,000

= 1 101-7000-7002-110-110 : =¥

26,760

106,560

25,

25,200

374,400

117,600
340,034

340,034

340,034

—_

,196,640 3

o

rJ

—_

,063,320 ot

e
A

omn

=]

118,200

1>XHASHI

k

(i)

1>64 7~

4>SMAHA

60,0003 *520H+12&=

S5>KMHOIZ XA

100,000 98 *12&=

HXACH

T T o

467,0802%182F+42|=

ACt
T

o=

od

50,0008 *197&*12&=

199,440

2>104 "~

144

60,0003 *277H+12&=

122,880

3>154 7194

80,0002 %128 *12&=

622,800

133,320 LHIrZ

1>204 " 244

4>20E 014

100,000&*519H*12&=

10,0002 #223H*128=

2>25E 0| &

200

25,200

1>EHOACI»

T o

804,902,154&=

B)ROIEZ

ACH
.

o

DU RS

ol

30,0002%296H+12&=




[Er9] @ M, 1$]
2018 Oil&t
i(:
B 3o LK o
1>SO0IEE 4
672,000 1,000,000 x56H*12&=
92,760 NE2R
92,760 |  JHYEES
S =
89,400 50,0003 *149H+12&=
¥ =
3,360 40,0002+7B+128=
597,600 8IIsEESsE
349,920 JhYEHs 2L
1>55014
71,400 | 50,00024%1192*128=
2>672
211,320 | 30,0002*5872*128=
3>850Iat
67,200 20,0003 %280 +12&=
244,680 LhAA SIS
1>D1=At
3,600 50,0006 *128=
2>J1sE, JIA
213,480 30,0003 %593 *12&=
3>AHATIAL
27,600 20,0003 *115F+12&=
3,000 Che&E XIS
I>SFE
840 10,0003 +7B+128=
>
2,160 20,0002+9F~128=
22200 | ONLEHNS 2H U M2
22,200 | INNLEES BEY
1>43, 653~853
2,400 100,000 x2E*128=
2>53, 552015t
1,800 50,0002 *3H*12&=
D>BELY IHS(53 013D
18,000 500,000&*3H+12&=
20,400 10) AR 2R JH=E
= 1 101-7000-7002-110-110 : S sE-SHRMABHATXI-L2)|2QAH|-(SH) sHSER 2|/ AH|-Q121H]|




2018 Oil&t
ir:
B 3o LK o

20,400 JHIAR RS EXH| Ik

I>OE A0 D8 Z2AUS T= 52 22D 0/0f
Agsle SER)
10,800 300,000 *3EH*128=
2>OE SXH DA SRABS 0151 SLAD 0I5
Agsle SER)

9,600 200,000 x4 H*128=
98400 | 1) YRUHTPASL
98,400 | JhYRHIBBRASY

>YLHBDTL ALY
98,400 200,000 *41Hx128=
190,352 | LE&&A
34,080 1oEg
34,080 |  INIELY
1> Xt
13,440 40,0002 #28E*128=
>ENES
2,880 20,0002 *12E*128=
3> MR

3,600 20,0002 *15EH*128=

4>STHRHA

9,360 60,0002 %13 *128=

5>KITHOIZXHA

4,800 100,000 *4H 128 =
9,342 2) S 2 =4
9,342 |  JHDSEMIL

PINEEEESS=:

9,342 467,080R+5F+42J|=
33,960 | QFIAEIINS
31,800 | JpYEEE

1>5 ~ g
5,400 50,0002 +x9E*12&=
2>104 7 144
8,640 60,0002 %12 *128=
3>154 7194
5,760 80,0002 x6H*12&=
4>2040] &
12,000 100,000 *10H*128=
= 1 101-7000-7002-110-110 : S ESE-SYUBAABHF T -L2)|2QI2H|-(EY) sASEE 22| A0121H| -2



[Er9] @ M, 1$]
2018 Oil&t
ir:
B 3o LK o
2,160 LIS
1>204 ~ 244
720 10,0003 ~6H*12&=
2>25EH01 4
1,440 30,0002 *4H*128=
1,800 | 42Tl
1,800 H2YHI RS
>RHTRALY
1,800 50,0002+3F+128=
13,970 Ste=g
13,970 | JheEs
I>OHR4g
13,970 13,969,663& =
36,000 B)FOtFR
36,000 | JNS|0IEEL
1>S0IEEI4g
36,000 1,000,000 *3H+12&=
20,400 NRIE2RE
20,400 DI
1>2 &
20,400 50,0002+34E+128=
33,600 | B)ARYARAY
33,600 R
1>01 2t
3,840 80,000 *x4H*12&=
2> AL
29,760 80,0002 *31H*128=
7200 | 9YRUHIRASE
7200 | OhYROIHTRASY
>YLHHDTLASE
7,200 200,0002+3&*128=
3,773,657 | 5. =2R=+E
3,718,432 | Db UBIHALX}
3,714,994 DEMY 2
3,668,541 e
= 1 101-7000-7002-110-110 : S SE-SYUSAABHF T -42)|20I2H|-(ZU) sASEE 22|A0121H]| -0/




(&9l @ &, 18]
20184 Oil&t
Ic
- =ell LA S
1>55
505,317 186§41C’J*E—'?’—145D4*21/\|7F*12§+13641°4* &SR *21 A2t
*128l=
2>62
996,801 11,634 +22340B+21 Al2+128=
7=
979,859 10, 599‘3*5?361”4*21/@** 22+10,5092+AHGHOH 21 Al 2t
*128=
4>85
965,211 9,4343x22406H+21 A2k 128=
5>95
221,353 8,528 *Z 211921 2122 48,528+ 4516 *21 Al
2h128=
46,453 LE) 72l
1>04?E(5£,‘)
6,890 13,671 2+2 2221 A2 128=
2>H AL
39,563 11,2142+2 2921 A2 128 +11,214R»AGI5 21 Al 21
og=
3,438 28 &
3,438 oh ek
1>565[9991 ]
3,438 13,641 2+ 221 H+21 A2 128=
55,225 Lt SIS CHARE
1SS UHAXIAIR IR =S
37,500 37,500,000&
S F AN OFRIZ RS
9,090 9,090,000&=
JEFUHANFL2R+E
8,635 8,635,000&=
2,173,604 | 6. ZUZAH|
2,159,564 | JLAMA FA
268,412 NESH
265,292 e
1>3=
1,533 130,000 *1H+12&+0.983=
2>48
36,804 130,000 *24H 122 +0.983=
3>6=
225,422 130,000&*147H*122+0.983=
: 101-7000-7002-110-110 : sE-=E-=SLAZHEXJA-LB)|20124H|-(BU) sASEE 22| ) Q121H]-2124H]




2018 Oil&t

oy
12

LH

12

4>DBEHLIS)

1,533 130,000 12 x1224+0.983=
3,120 LI R=
1>H722(53)
3,120 130,000+ *122x1.0=
1,891,152 2)ESH
1,869,312 IR
1>62
521,383 130,00024+340%+12&%0.983=
>73
567,388 130,00024+370%+12&%0.983=
3>8=2
622,593 130,000&*406H*12&*0.983=
4>92
157,948 130,000&*103H*12&*0.983=
21,840 LI R=
1> DAL
21,840 130,000 14%122*1.0=
1,560 LLEE H3
1,560 1)HEM
1,560 Jp ek
1>52
1,560 130,000 +12x128=
15,600 | CLOIlAMA =2
7,020 1) EH
7,020 P EIIEN
1>52
7,020 130,000 0 +6 2=
8,580 2) 22
8,580 Jh et
1>62
3,120 130,000 +4H+6R=
2>72
3,900 130,000 +5H+62=
3>8=2
1,560 130,00024x2%+6 2=
= 1 101-7000-7002-110-110 : S SE-SESAAZHI X 1-2 2| 21| -(BU) SASZE 2RI 210124H|-01 21|




[Er2 @ &E, 1]
20184 Ofl &t
e
- =ell LA S
-3,120 | chL&HA 25 3&
-3,120 DEEY]
-3,120 Jh et
1>62
-3,120 130,000 *—3H+8&=
4,566,691 | 7.HESIHH|
4,551,678 | JLEFA B
4,551,678 DEEL
4,498,677 JhYutE
1>62
1,511,626 3,769,040 %340 +1.2+0.983=
2>72
1,363,796 3,124,73224%370%H1.2+0.983=
3>82
1,347,923 2,814,51924x406%*1.2%0.983=
4>92
275,332 2,266,131 24%103%*1.2%0.983=
53,001 LhHARE
1>HTA
53,001 3,154,84724x14Hx1.2%1.0=
21,797 | LEOIAMA =2
21,797 DEREY
21,797 P EIIEN
1>62
9,046 3,769,040 %421 .2x1.0%0.5=
2>72
9,374 3,124,73224x5x1.2x1.0%0.5=
3>82
3,377 2,814,51924%x2Hx1.2%1.0%0.5=
-6,784 | CLAXNA 2= 33
-6,784 DEEL]
-6,784 Jhgrsl
1>62
-6,784 3,769,04024%x—3%+1.2%1.0%0.5=
8. HNEI R LG
825,000 825,000,000=
= 1 101-7000-7002-110-110 : S SE-SSAABHUHT|R-AS)|2QIHH|-(EXU) SASEE 22|01 HH|-Q12A4H]



2018 Oil&t

oy
12

LH

12

2,597,753
2,575,553
566,310

560,310

5,898

113,242

433,503

7,667
6,000

6,000
2,009,243

1,983,203

621,649

611,033

598,647

151,874
26,040

26,040
3,000
3,000

3,000

1>35
500,000& *1&x12&+0.983=

245
400,0002%24Hx128+0.983=

3>55
250,000&%147H*12&+0.983=

4>DBEHLIS)
650,000 1 Z*122/%0.983=

LhH A=

1>HIA(5BI)
250,000 2L *122*1.0=

2=
BEIEIES

1>65
155,000 340 +122+0.983=

2>7a
140,000 +370F+122+0.983=

3>8=5
125,000 4062 *12&+0.983=

4>95
125,000 *1032*12&+0.983=

Lh 7=

1> A
155,000 142 *12&1.0=

= 1 101-7000-7002-110-110 :




(Sl @ &R, 18]
2018 Ol &t
e
B S LK o
1>53
13,500 |  250,000R+9H*62=
9,420 | 2)FSHl
9,420 Jh e
1>63
3,720 | 155,000 *4ZH+62=
2>73
4,200 | 140,000@*5H+62=
3>83
1,500 | 125,000+ B +62=
-3,720 | 2LEMY 2= H¥
-3,720 | 1NE3H
-3,720 ohH ekl
1>63
-3,720 |  155,0002*—3H*8E=
[110-02] 253,257 | JIEtRI 24
253,257 | 1.23
253,257 | JLYUSHSH
172 488 +5
23,321 |  485,8532x4%x128=
292 LSH 25
229,936 | 391,047 R*49%*128=
[110-05] 1,315,280 | SO A
1,315,280 | 1.9t A
1,316,147 | JLEMA M
228,801 1)e=H
226,498 ohYerE
1>33
1,774 | 8,071,3872%0.78x0.86%1Zx20/30+0.5%0.983=
2>43
35,764 |  6,779,7082%0.78+0.86%2424*20/30+0.5+0.983=
353
186,914 |  5,784,956@1%0.78+0.86+147H*20/30+0.5+0.983=
4>DBEHLB)
2,046 | 9,308,44821%0.78+0.86%1H*20/30%0.5%0.983=
= 1 101-7000-7002-110-110 : SY-SE-SSMAZHHIRA-LE)|2OI2H|-(SH) SASE X 22| R0I2AH|-01 24|



20183 Ol Ak
=
3o Lt o
2,303 LI R=
1>H722(53)
2,303 5,150,12824%0.78+0.86%2H*20/30+0.5%1.0=
1,087,346 2)ESH
1,074,685 IR
1>62
361,111 3,769,04021%0.86+3402x20/30+0.5+0.983=
2>72
325,796 3,124,73221%0.86+3702x20/30%0.5+0.983=
3>8=2
322,004 2,814,51924%0.86+4062*20/30+0.5+0.983=
4>92
65,774 2,266,131&*0.86%103H*20/30%0.5*%0.983=
12,661 Lhe &l
1> AL
12,661 3,154,84724%0.86%14%H%20/30%0.5%1.0=
1,294 | LgE H2
1,294 1)HEM
1,294 IR
1>52
1,294 5,784,956 21%0.78+0.86+1 &H*20/30%0.5%1.0=
-2,161 CLAERA 2= H&
-2,161 DR
-2,161 JhBHE!
1>62
-2,161 3,769,04021%0.86%—3*8/12%20/30%0.5+1.0=
[115] 2,991,681 | (EU)=sAZSR NI A2
[110] 2,991,681 | 2l2H]
[110-01] 2,947,544 | B2
2,152,908 | 1.22
2,063,552 | JLEHMA X2
2,063,552 1) BHE|
931,096 He=EH
1>42
332,802 6,933,373 x4 x128*1.0=
= 1 101-7000-7002-115-110 : S SE-SYUBMABHH - 22T |2OIAH|-(EH) SASI2A WA



[ctel @ J 18]
20184 Ofl &t
e
B S LK o
2>52
488,332 5,813,4782x7H+128x1.0=
3>DIBEH(LI2)
109,962 9,163,488 %1 A+ 128x1.0=
1,081,956 LHhE 3
1>62
429,805 3,979,676 %9 128x1.0=
2>72
251,329 3,490,680 6% *1228x1.0=
3>82
173,657 2,894,286 +5%H%128x1.0=
4>92
227,165 2,366,304 +8%H*122x1.0=
50,500 CHDIAI
D>ESAIM L2
50,500 4,208,32220%1 H*122x1.0=
47,756 | LhgE
47,756 1) YBHE
47,756 PN
1>62
47,756 3,079,676 *1%x128=
41,600 | CHOIAA Z21
41,600 1)Ll
41,600 JHDIIH
>IN 2
41,600 6,933,3732x 1 H+pR=
80,022 | 2. A4S (H24H)
JLAHIA M
76,639 1,081,956,0002/12&+0.85=
Lhgs =
3,383 47,756,00024/12&+0.85=
3.ABANS
88,281 88,281,0002=
163,332 | 4. - MG
163,332 | D YR
40,080 1)ts4g
= 1 101-7000-7002-115-110 : S -SE-SLSAAZHTT|-AL)|20IAHH|-(EW) SAZEZLA N0 HH|-014H|




o]
n

oy
12

2018 Oil&t

40,080

LH

MIHEE

(=}

12

= 1 101-7000-7002-115-110 :

1,200

1> A
14,400

>R ES
960

3>HMAHA
7,200

4>E A
15,120

5>KTHOIZXHA
2,400 100,000 «2F+128=
33,630

33,630

33,630
27,960

25,440

1>564 794
6,000 50,0002 %10 *128=

2>104 7144

3,600 60,0003 *5H*12&=

3>154 7194

3,840 80,0003 *4H*12&=
4>2040] &
12,000 100,000 +10E+128=

2,520 Lot=

1>204 ™ 244

360 10,0003 3 *12&=
2>253 014
2,160 30,0002 «6H*12&=

1,200

428

20,0002 *x4H*128=
20,0003 *30F+12&=

60,0003 *21H+12&=

40,0002 *30&*128=




[ &3, 19]
2018 Ol &t
i(:
- =ell LA S
(R =,
28,662 28,661,637&=
12,000 B)S0I5& ¢
12,000 INROIER S
>0l
12,000 1,000,000&*x1H*12&=
10,560 PIEFSISES,
5,640 oHgetE 222
1>5=014
2,400 50,0003 *4H*12&=
2>673
2,520 30,0003 +7H+12&=
3>8=0I3t
720 20,000 3*3F*12&=
4,800 LHhXASIHAE
1>I1s%, JIAk
3,600 30,0002 x10Yx12&=
2>LHA AL
1,200 20,0003 x58x12&=
120 CHEFE RIS
>
120 10,0003*x1Hx12&=
7,080 8) L R+H
5,760 Hhus . gsEd gy
> AE(FE. L) 014
2,880 60,0003 *4H*12&=
>3 (FL. A%H) 0lot
2,880 40,0003+6F*12&=
1,320 Lhuso)2 . sssd|H
>IE
1,320 110,000 *1Z*12&=
2,160 QNS BN U M2XLY
2,160 INEEZEP M22H(42014 7 D3H)
1>24014H 73402
2,160 180,000+ 1H*12&=
127,148 | 5. Z22+Y
= 1 101-7000-7002-115-110 : SL-SE-SSRMABTHY X RA-AKI | ZOIAH|-(SU) sAZS 2 WS RI2AH|-0I12A4H]




[SHel : &, 18]
20184 oflat
e
B S LK o
127,148 | JLLBHHARE
127,148 DEXe Z2
127,148 oh e
1>56=
30,938 13,641 357 B#27 N2 128=
2>63
33,925 11,6343+ L5190 #27 A 2128 =
P7=
20,429 10,5093 * &G E#27 Al 2128 =
4>83
15,283 9,434 3~ A H#2T A2 128 =
5593
22,105 |  8,528@xAH5I8Ex27 AlZh128=
E>H2LIIM LS
4,468 | 13,7902xAH5H Hx27 Al2bx128=
66,300 | 6. 8AU=4H|
63,960 | JLAMY 2
18,720 | eI
18,720 b e
1>4=
6,240 130,000&+4E*128*1.0=
2>53
10,920 130,000&7E*128*1.0=
>U3HU=)
1,560 130,000 *1Hx12&+1.0=
43680 | 2ESH
43,680 RS
1>62
14,040 130,000 x9E*12&*1.0=
2>73
9,360 130,000 x6E*12&*1.0=
3>8=
7,800 130,000 x5 *12&*1.0=
4>95
12,480 130,000 x8E*12&*1.0=
1,560 3)LIIHI
= 1 101-7000-7002-115-110 : S EE-SUBAABHI T F-227|20IAH| () sAESPF DK AQIAHH|-0I21b]




(&9l @ &, 18]
20184 Oil&t
Ic
- =ell LA S
1,560 e
>EEYIIM U3
1,560 130,000&*1H+12&*1.0=
1,560 | LLEZ HA
1,560 NESH
1,560 P EEIEN
1>62
1,560 130,000 1 F+128=
780 | CrOIAte S
780 1O
780 e
I>ESUIA Ot2
780 130,000 *1H+6&=
112,973 | 7.2 ESJH|
108,197 | JLZHMIA EH&A
108,197 NEZH
108,197 JhHeHA
1>6=
42,981 3,979,676 %9 1.2+1.0=
2>73
25,133 3,490,680 *6F+1.2+1.0=
3>8=
17,366 2,894,286 *5H*1.2%1.0=
4>95
22,717 2,366,304 *8H*1.2%1.0=
4776 | LLEZ XA
4,776 NE=H
4,776 JherA
1>65
4,776 3,979,676 x1Hx1.2%1.0=
8.2l R
55,000 55,000,000&=
101,580 | 9.2l 2%H|
97,320 | JLAHA HR
48,000 1SN
= 1 101-7000-7002-115-110 : = =E-=sEFALAZTHEXJ-AZ)|2A01214H|-(SX) =4SSR USRI 2AH|-21 24|
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20184 Ol AF
i(:
- =Ll LK o
48,000 JhH ezl
1>4=2
19,200 400,0003*4%x12&8*1.0=
o>52
21,000 250,000&*7H*12&8*1.0=
B>DZEHLIZ)
7,800 650,000&*1H*128&%1.0=
46,320 2023 H
46,320 Jh etz
1>62
16,740 155,0002*9Y*12&*1.0=
2>72
10,080 |  140,000R+6%*122*1.0=
3>8=2
7,500 | 125,000R0+5%%1221.0=
4>92
12,000 125,0003*8H*12&*1.0=
3,000 | 3)IIHl
3,000 JhH ezl
>E2AINH L2
3,000 250,000&*1¥*128%1.0=
1,860 Lhgx 3
1,860 | 1EZH
1,860 Jhet=!
1>62
1,860 |  155,000%%1 Z*128=
2,400 | ChOllAtA =2
2,400 | 1)
2,400 pS[ILCIES
I>E2AINN IS
2,400 400,0003*1H+x6&=
[110-05] 44137 | HIIEAMH|
44 137 | 1.2 4|
44,137 JLAHA HR
17,349 1)=2H
w1 101-7000-7002-115-110 : sY-=E-SFAXEMALR-AS)I|2ACIHH|-(EU) A S22 NS IAQIHH|-0124H|
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(&9l @ &, 18]
20184 Oil&t
Ic
- =ell LA S
17,349 e
1>45
6,201 6,933,373 +0.78+0.86%42H+20/30%0.5+1.0=
2>53
9,099 5,813,478 +0.78+0.86%7 Z*20/30%0.5+1.0=
3>NSH(LE)
2,049 9,163,488 +0.78+0.86%1 H*20/30%0.5+1.0=
25,847 | 2)E=Hl
25,847 oherA
1>62
10,268 3,979,676 +0.86x9H*20/30%0.5+1.0=
275
6,004 | 3,490,680 +0.86%6F+20/30+0.5+1.0=
3>8=
4,148 2,894,286 +0.86%58+20/30+0.5+1.0=
4>95
5,427 2,366,304 +0.86+8H+20/30%0.5%1.0=
941 3)IIH
941 e
I>ESLUIIM L2
941 4,208,322 +0.78+0.86%1 H*20/30%0.5+1.0=
[134] 68,624,955 | (BM)=HSAMBA=F 12|
$ 129,065
[110] 68,624,955 | QlZ4H|
$ 129,065
[110-01] 66,425,597 | E=
$ 129,065
43,881,807 | 1.8=
39,700,843 | JLAMA FA
32,579,886 1)
7,492,359 HASH
1>3=
384,030 8,000,632 x4 Bx12&+1.0=
2>48
1,798,434 7,136,6433+21H+128+1.0=
3>53
4,886,557 5,655,737 &*72B+12&+1.0=
4>NBHORE)
75,809 6,317,444 +1B+123+1.0=
= 1 101-7000-7002-134-110 : SY-=E-sHFAUASHIE X -25) |20 -(SY) sHSMFAZRQI2HH-1214H]




2018 Oil&t

oy
12

LH

12

5>NBEHLIS)

347,529 5,792,144 215581 22%1 0=
25,087,527 LhESH
1>62
10,345,771 3,622,469 %238 +122*1.0=
2>72
9,626,854 | 2,844,81524%282%*122%1.0=
3>82
3,253,402 2,317,238 %117%*122%1.0=
4>92
1,220,742 2,076,091 %49+ 122 x1.0=
5>M2AHE2(LIR)
321,423 3,348,160 *8%*122%1.0=
E>E2HSHCHD)
319,335 2,217,604 %12%*1221.0=
7,120,957 | 2)HR=
2,931,416 hel=m
1>e12H42)
556,434 |  5,944,8122x8%*122%(.975=
2>ARZ(53)
2,374,982 5,486,21521%37 %*1221%0.975=
4,189,541 LhESH
1>C12Ab
4,189,541 3,653,88221%08%*1221%0.975=
67,869 | LhLEE X
67,869 1)
67,869 JheEH
1>52
67,869 5,655,737 %1 2x128=
4,210,317 | ChLOlAMA =21
3,618,194 1)Y=l
574,851 IHASH
1>52
475,082 5,655,737 %72 128=
2>52
33,934 | 5,655,737 x1Hx6H=
= 1 101-7000-7002-134-110 : S =E-S2SAAIZHET|R-A L) |ZOIHH|—(EH) SUESAAAZ2L0IHH|-01 24|
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i[:
B 3o LK o
P>HE2HAE2A0I2D)
65,835 5,486,215%0%1 H+128=
3,043,343 LHE S
1>62
304,287 3,622,469 %14 H+62=
2>63
738,984 3,622,469 %17 +128=
3>72
1,194,822 2,844,8152%35%+128=
4>72
546,204 2,844,8152x32H«62=
5>82
139,034 2,317,23824x10H+62=
>NBAHEX(LID)
40,178 3,348,160+ 1 H*128=
>ESASA(CHD)
79,834 2,217,60424+3%H*122=
592,123 2) A
197,504 JheEH
1>HIA(5BI)
197,504 5,486,215 %33 +128=
394,619 LhESH
1>HPA
394,619 3,653,882 %9% 1 28=
-97,222 | c2LAXMA 2= M
-97,222 1)Ll
-64,005 JheEH
1>32
-64,005 8,000,632%4x—1 H»8&=
-33,217 LhZH
1>92
-33,217 2,076,091 2x—2H»8&=
2,269,524 | 2. 402(E24Y)
JLAHA HEH
2,073,792 29,277,068,00094/122%0.85=
LEOllata S&
204,037 204,037,0002=
= 1 101-7000-7002-134-110 : S =E-SHHMABHFTA-L27| B2 -(5%) 58



2018 Oil&t

ir:
B 3o LK o
CLERIY 25 =
-8,304 -8,304,000&=
oL o X
-1 | -1,0008=
3402
2,621,542 2,621,542,000&=
5,424,197 | 4. 8N
$ 129,065
4,601,000 | It Bt
$ 129,065
659,280 NoEg
659,280 hotE=sg
1> Xt
331,680 |  40,00021%6912*128=
>ENES
72,240 | 20,00081x301%*128=
3> MRt
89,040 20,0003 *371H+12&=
4>SMAHA
94,320 60,0003 *131H+12&=
LD MESVE
72,000 100,000 x60H*12&=
298,931 PAPNIE ] IR
298,931 JH DS}
I>RHASH B R4S
298,931 467,0802+160F*420|=
738,360 JE2EIRZ
658,800 | JHLBHES
1>54 ~ g
96,000 |  50,00024%1602*128=
2>104 ™~ 144
108,000 60,0002 %150 *12&=
3>15E 7194
153,600 80,0002 *160&*12&=
4>20E 014
301,200 100,000&#251H*12&=
79,560 LHIrZ
1>204 " 244
14,400 10,0002 *120H*128=
= 1 101-7000-7002-134-110 : S E5E-SYUBAABHF T -L2)|ZQI2H|-(EU) S SMAA 2012100121
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2018 Oil&t

ir:
B 3o LK o
2>253014
65,160 30,0003 *181H+12&=
15,000 | 4)2EZ2ALSY
15,000 | JhRHZRASE
>RHTRASY
15,000 50,0003 *x25F+12&=
646,826 Ste=<
646,826 DI
>
646,826 646,826,144&=
600,000 | 6)FOIFELL
600,000 INFOtFEE
1>SO0IE R 4g
600,000 1,000,000 +*50H+12&=
406,200 NeE2R
406,200 hgeals
>2 &
348,600 50,0002+581F*12&=
> =
57,600 40,0002%120H+128=
294,120 8IIEEESE
159,000 |  JhYeHE 2o
1>55014
42,000 50,0002 *70E*128=
2>673
95,400 30,0003 *265EH+12&=
3>850I6t
21,600 20,0002+90H*128=
119,400 L AHA SIS
1>JI= At
3,000 50,0003 *x5F*12&=
2>J18%, JIA
104,400 30,0002%290H+12&=
3>AHADIAL
12,000 20,0002+50E*128=
3,720 ChRAZIHZ
= 1 101-7000-7002-134-110 : S SE-SUSAABHF T -L2)|20I2H|-(ZU) S SAAA 2201210012144
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2018 Oil&t

e
- =ell LA S
120,000 | JHALHHAI AL
DAURHHZ SRR
120,000 200,000 50 *128=
74,716 14)TRA2 R4S
$ 66,121
38,077 hotUslE QAER|OF S(82)
$ 33,697
1>62, hS=
38,077 1H+EUR2,479%122%($1280/1130)=
$ 33,697
36,639 LHOI=Z, 2HHE, 5=, 2AMBY A BAH S
$ 32,424
1>632, hS=
36,639 18«$2,702%128=
$ 32,424
22,311 15)HABL =LY
$ 19,744
4,068 IHMRIBLIIELY
$ 3,600
1>6AM1 ~ 12MI012¢
2,441 3H*$60* 128 =
$ 2,160
2>12M1 ~ 18AI018¢
1,627 2H*$B60* 128 =
$ 1,440
8,950 LHHEXI (B R K=
$ 7,920
1>62, 552, U<
8,950 1 H*$660%1 2=
$ 7,920
9,293 CHOIUBHE, QAER|OF S(82)
$ 8,224
1>632, 553, U<
9,293 1 H+EURB05*12&*($1280/1130)=
$ 8,224
48,816 16) THRIKHABHH| 4=
$ 43,200
48,816 INTHQIRHA B 4=
$ 43,200
ICEPEEGIES=
24,408 3H*$600x 128 =
$ 21,600
2> RARA B 4=E A
24,408 2H*$900x 128 =
$ 21,600
823,196 | Lt =
112,800 1)Jt=4E
112,800 hotELg
1> X
43,200 40,0002«90H+128=
>R ==
16,800 20,0002+70H*128=
= 1 101-7000-7002-134-110 : S SE-STSAABUHT|R-AS)|2QIAH|—-(EX) SIS M H2L0I1H4H|-Q124H]
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2018 Oil&t

i[:
B 3o LK o
3>HM A
13,200 20,000RI*55%*12&=
A>EM R
21,600 60,0001*30*12&=
5>A1THOI S RHA
18,000 100,000 15 *12&=
65,391 O)RHAS | B R At
65,391 JhDSsHAIt
IDNEETISEES=
65,391 467,0802*35H*42 ) |=
153,000 E2LEIRZ
138,600 heexls
1>54 ~ 94
9,000 50,0004+ 15%128=
2>104 ~ 144
18,000 60,000R1*x25ZH*12&=
3>154 7194
33,600 80,000R1*35Zx12&=
4>20H0]| &
78,000 100,000 RIx65Z*12&=
14,400 PN
1>203 ~ 244
3,600 10,00024%30Y*122=
2>2530| A
10,800 30,00024x30H*128=
3,000 4)RHDDRARC
3,000 INRHIRRASE
1>RYHIDANL
3,000 50,00024x5%x128l=
89,885 5) R
89,885 hgesls
>URLFE
89,885 89,885,497 2=
120,000 B)SOtE Xl
120,000 INSOLERSE
= 1 101-7000-7002-134-110 : S SE-STSAABUHT|R-AS)|2QIAH|—-(EX) SIS M H2L0I1H4H|-Q124H]




2018 Oil&t

_—EC
- =ell LA S

>R0Is2E

120,000 1,000,000 *10H+12&=

63,120 NE2R

63,120 hYLEHES
> &8

54,000 50,0003 *90H+12&=
>H 3

9,120 40,0002 +19Ex128=

144,000 8RR

144,000 HeRA
1>01 72

52,800 80,000 *55%*128=
2> A

91,200 80,000&4x95H128=

72,000 9)RUASREE

72,000 MERUESREE

I>HLRHBBLRSL

72,000 | 200,0002+302128=
ChetxH

1| 1,0008=
4,999,842 | 5.ZD224Y
2,694,785 | O EHCHAIKE
2,694,785 | 1DEHMA H
2174830 | I

1>55
291,699 13,641 2+ AGI66H*27 Al 2t 128 =

2>62
723,728 11,6342+ AGH 92 #27 Al 2t 128 =

3=
738,867 10,5092 *AHGH217B#27 Al 2t 128 =

4>85
293,435 9,434 3*AHGIO6H*27 Al 2128 =

5>95
127,101 8,528 »AHGH46H*27 Al 2128 =

519,955 LE) 72l

: 101-7000-7002-134-110 : = =E-=SSAAZHEXA-AZ)|20124H|-(SH) =8 F4HE



2018 Oil&t

ICc
B S LK o
1>HIA(BI)
163,888 13,671 2% L5137 *27 Al 2 122=
2>01 A
356,067 11,214 24 % LH5198H*27 Al 2h 1 22=
2,305,057 | LEBACHAK
1) HHARIAIRERI =S
1,437,399 1,437,399,0002/=
2)SHHAXIORIZ2R4E
323,130 323,130,0002=
JSHUHAKESL2R 4
544,528 544,528,0002=
1,639,443 FOHZAIY|
1,479,543 | JLERIA H
229,125 1)H=ZH)
160,680 LIRS
1>32
6,240 130,00024+4%*1221.0=
2>43
32,760 130,00024%21 H*122*1.0=
3>52
112,320 130,000+ 72 %122*1.0=
4>NESHOIE)
1,560 130,000 %1 212R%1.0=
5>NEEHULIS)
7,800 130,00024+5%*12284x1.0=
68,445 LI R=l
1>AR2(42)
12,168 130,00024+8%x1224%0.975=
2>ARZ(53)
56,277 130,00024%37 2 122%0.975=
1,250,418 2)ESH
1,101,360 pPOILELES
1>62
371,280 130,00024x238H*12&%1.0=
2>72
439,920 130,00024%282%*122%1.0=
=1 101-7000-7002-134-110 : S SE-SSAAZHH T R-AL] | 2H0I21H| (B %) SIS A A2 20124H|-01 24|




2018 Oil&t

ir:
N =l LK o
3>8=
182,520 130,000&*117H*128%1.0=
4>92
76,440 130,0003*49H*12&*1.0=
5>H2AZH(LIR)
12,480 130,0003*8H*12&*1.0=
E>E2AZH(CIR)
18,720 130,000&*12H*12&*1.0=
149,058 L RE
1>01 A}
149,058 130,0002*98H*12&%0.975=
163,020 LEOllArA S&
17,940 | 1)S=RI
13,260 Jh B!
1>52
10,920 130,0003*7H*12&=
2>532
780 130,0003*1 H+x6E=
BDESABROIR)
1,560 130,0003*1Hx12&=
4,680 LA
1>012H(532)
4,680 130,0003*3H*12&=
145,080 2023 H
131,040 Jh) Bkl
1>62
26,520 |  130,0002%17%*122=
2>62
10,920 |  130,000R*14H+62=
72
24,960 130,0003*32H+6& =
572
54,600 130,000@*35H*12&=
5582
7,800 130,000@* 10 +6&=
E>E2AZH(LIR)
1,560 130,0003*1Hx12&=
w1 101-7000-7002-134-110 : sY-=sE-SEAAEMN | R-AZD|2A0IHH|-(EH) sHSAMH A 2201 24H|-2121H|




2018 Oil&t

e
B S LK o
DESFARA(0D)
4,680 130,000&+3E*12&=
14,040 Lhe =
1> AL
14,040 130,000 x9E*12&=
3,120 | CLAXY 2= =3
-1,040 | DX
-1,040 b e
1>33
-1,040 130,000 —1H+8&=
-2,080 | 22H
-2,080 LS
1>95
-2,080 130,000 x—2E«8E=
3,146,588 | 7.2E=JHI
2,927,705 | JLAMY EH
2,927,705 NESH
2,508,751 b e
1>63
1,084,577 | 3,622,46921%238%x1.2x1.0=
2>73
962685 |  2,844,815x282%x1.2+1.0=
3>8=
325,340 2,317,2383*117&*1.2%1.0=
4>95
122,074 2,076,001 2 *49%+1.2+1.0=
5>H2ASARHLIRD)
32,142 3,348,160 +8&H*1.2%1.0=
6T AR HCID)
31,933 2,217,604 x12E*1.2%1.0=
418,954 Lhe A
1> AL
418,954 3,653,882 %98 *1.2+0.975=
221,375 | LLOlAte S&
221,375 | 1ESH
201,644 | JhpHx
= 1 101-7000-7002-134-110 : S EE-SRUBMABHI | 2A-2=2)| 20121 -(BY) SFAZ AR R0I21H|-0I21H|
— 326 —
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2018 Oil&t

=L Ly o
1>62
67,378 |  3,622,4692%3124x1.2+1.0%0.5=
2573
114,362 |  2,844,8152+672+1.2%1.0%0.5=
3>82
13,903 | 2,317,238@+102*1.2+1.0%0.5=
AH>HSAAB(LR)
2,009 | 3,348,16021x12x1.2%1.0%0.5=
5>E2FHRHCIR)
3992 | 2,217,60421x3%x1.2%1.0%0.5=
19,731 | Lp@IRX
1> A}
19,731 |  3,653,8828+0%x1.2x1.0%0.5=
2491 | CLEHA 2= =2
2491 | 1Y
2491 | Jhgwrx
1>92
2,491 | 2,076,091 2x-22x1 2%1.0%0.5=
IRERE L
-1 -1,0008=
8.0l E Rl
826,000 |  826,000,0008=
2,111,328 | 9. 222 xY|
1,912,908 | JLEXA M
534,465 | 1)1= |
388,800 |  JHEHx
1>32
24,000 | 500,0002x4%+122%1.0=
2>43
100,800 |  400,0008%2124x128x1.0=
3>52
216,000 |  250,00024%72%x128*1 0=
4>DREO)
9,000 |  750,00024%1x128x1.0=
5>DREHLI)
39,000 |  650,0002x5% 1221 0=
145665 | LHoI7=
= 1 101-7000-7002-134-110 : SOFSE-SUBAABHET|2-A 5] | 2OIAY|~(BU) S2H A2 HZL0I21H|-012




2018 Oil&t

e
B S LK o
>0 2H43)
37,440 400,000 *8EH*12&+0.975=
2> 72(53)
108,225 250,000 %37 E*128+0.975=
1,378,443 =M
1,198,320 b e
1>6=
442,680 155,000&+238Z*12&+1.0=
2>73
473,760 140,000 +282E+12&+1.0=
3>83
175,500 125,000&*117Zx12&+1.0=
4593
73,500 125,0003 49 *12&1.0=
5>H2RHRA(LID)
14,880 |  155,00021%8%x128x1.0=
6>H2FA2A(TH)
18,000 |  125,00021%1224%128%1.0=
177,723 Lhe =
1>ATA
177,723 155,000 98 *12E+0.975=
2,400 CHEFR X IHA
1>6=0I0t
2,400 200,000&*x1 H*128=
3,000 | LLEE HRA
3,000 | DK
3,000 | Jpetx
1>53
3,000 |  250,0002ix1%x128=
195,420 | ChOlatet S&
34,500 DNeSH
25,500 |  JHYEH=
1>56=
1,500 250,000&*1 H+6E=
2>53
21,000 250,000 +7Hx12&=
1 101-7000-7002-134-110 : SY-=E-SHFAUASHIE XN -25) |20 -(FY) sHSMFAZRQI2H-21214H]




[Er9] @ M, 1$]
2018 Oil&t
i(:
B 3o LK o
DE2AABOND)
3,000 250,000& 1 H+12&=
9,000 Lhe 7=
1>AH2H(55)
9,000 250,000 +3H+12&=
160,920 =M
144,180 LN
1>65
31,620 155,000 *17F+128=
263
13,020 155,000« 14B+68=
>73
26,880 |  140,0002+322+62=
473
58,800 |  140,000&*35%*128=
5583
7,500 125,000+ 10H+6&=
>E2AAB(LID)
1,860 155,000 *1E*128=
>ESAHA(CHD)
4,500 125,000 *3E*128=
16,740 LE) 7=
1>0152A}
16,740 155,000 x9H 128 =
10. ZEAH
494,674 —-494673604&=
[110-02] 1,313,044 | JIEFEES
673,737 | 1.82
631,646 | JLEJAZE
1)154 0|gt
451,101 | 2,506,1198»15%«128=
2)1510[a~23 02k
180,545 | 3,009,077 2*5%x128=
42,091 LL.EEHS
)72 Y2H 25
23,321 485,853 *4H+12&=
e 1 101-7000-7002-134-110 : = =E-=sSSAAZHEXA-AZ)|2A0124H|-(SH) sHFAZ A2 L 0124H|-0124H|
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20184 Oil&t
Ic
- =ell LA S
292 Y8 =5
18,770 391,047 3+x4F+12&=
44,742 | 2. 82+
44742 | JLEJAZE
1)154 0Jgt
31,953 2,506,119&*15%+0.85=
2)1540/4~234 0|8t
12,789 3,009,077 &x5H+0.85=
355,691 | 3.=U2R+H
355,691 JLeHUARt
NELHAXIAIRZIR| S
247,915 247,915,0008=
QEAUAXORIZ2SE
51,681 51,681,000&=
JIUANFL2RSE
56,095 56,095,000&=
24,480 | 4.0t5==2
24,480 | JLIIEZ=E
7,200 1)BH< Xt
7,200 HERIE
1>154 0/
4,800 40,0002 %10 *128=
2>1530(4~234 0)gt
2,400 40,0002+5F+128=
3,840 XAES
3,840 hHEALE
1>154 018t
2,400 20,000&*x10H+12&=
2>15H014~23E 0fet
1,440 20,0003 +x6H+12&=
3,360 3)HMAHA
3,360 HERIE
1>154 012t
2,400 20,0002+10Ex128=
2>15H014~234 0)2t
960 20,0004 F+128=
1 101-7000-7002-134-110 : SY-=E-SHFAUASHIE XN -25) |20 -(FY) sHSMFAZRQI2H-21214H]




2018 Oil&t

== S Il o
10,080 | 4)SMAHA
10,080 | JnEARZ
1>154 0/gt
7,200 | 60,00024%10Z*128=
2>1544014~23 0/2t
2,880 |  60,0002+4%128=
13,078 | 5.XBHIRE+E
13,078 | JLSSHA}
13,078 | DXASHIZE4G
13,078 | =R
1>15 0/t
5,605 |  467,08021%3%*4=|=
2>15140|4~23 0/gt
7473 | 467,0802%4Zx42|=
12,600 | 6. 824G
12,480 | JhBHRS
4,800 | 1)5% 79w
4,800 | JnERAARE
1>151 Dlgr
4,800 | 50,0002+8%128=
3.600 | 2)104~ 14
3600 | IJnEaAAE
1>15 0/gt
3,600 |  60,0002+5%128=
2,880 | 3)154~ 19
2880 | IJnEAARE
1>15E0/&~234 D)8t
2,880 |  80,0002+3%+128=
1,200 | 4)20014
1,000 | JHEAHE
1>15E0/&~231 gt
1,200 | 100,0008%12x128=
120 | LEDIAHD
120 | 1)20& ~ 24
120 |  OpERE
= 1 101-7000-7002-134-110 © S SE-SYSAAZHT X - 257 BOIAH|-(BYU) S S A2 L0121H|-0124H|
— 331 —




2018 Oil&t

oy
12

LH

12

1>15E01a4~23= 0|2t
120 10,0003 «1E+12&=

47,703 | 7.4ta0iS
47,703 | JLEWANS
47,703 NENANHS(HAZE)
47,703 HERIE
1>154 0lgt

35,777 2,168,300+ 15 x1&x110%=

2>15E0|a~23= 0|2t
11,926 2,168,300 +5Ex1&x110%=

1,560 | 8.&d=X=+=E
1,560 | JLESH=E

480 e

iy

480 HERZE
1>15E014~23 0|2t

480 40,0003 *x1 H*128=
1,080 )%

g

1,080 oh

0z
o
L]

1>153014~234 0|2t
1,080 30,0002 *3H*12&=

31,200 | 9. 844l
31,200 | JLEREZBE
1)154 0Igt

23,400 130,000 15 *12&=

2)1540/4~234 0]t
7,800 130,000 x5 128 =

63,164 | 10.2E=0t|
63,164 | JLEJAZE

1)154 0lIgt
45,110 2,506,119&x15H«1.2=

2)15H0/&~23¢ 0fet
18,054 3,009,077 &x5Hx1.2=

15,089 | 11.¢JI2 4|

15,089 | JLEREZE

= 1 101-7000-7002-134-110 : S-SE-SUZAABHY XA 20|20 AY|~(BU) S2SAA = 20121H|-01 24|



2018 Oil&t

Ic
- =ell LA S
1154 0]e*
10,776 2,506,119&+0.86+15%+20/30%0.5=
2)154014~234 0|2t
4,313 3,009,077 +0.86+5H+20/30%0.5=
30,000 | 12. 252 =H|
30,000 | JLEMA H
30,000 DEENI
30,000 hEABE
1>154 0Jet
22,500 125,000 15 +128=
2>15=01a~234 0[2t
7,500 125,000 x5 +128=
[110-05] 886,314 | HItEAM|
891,640 | 1.AItE2 4|
893,627 | JLAMA HEH
194,231 1SN
139,609 e
1>35
7,156 8,000,632 +0.78+0.86%4 2 *20/30%0.5+1.0=
2>43
33,511 7,136,643 *0.78+0.86+21 H*20/30%0.5%1.0=
3>53
91,053 5,655,737-3+0.78+0.86+722+20/30%0.5%1.0=
4>03H0OR)
1,413 6,317,4441%0.78+0.86%1H*20/30+0.5+1.0=
5>3E(L=)
6,476 5,792,14410.78+0.86%x5%*20/30+0.5+1.0=
54,622 L=
1>H72H42)
10,368 5,944,8123+0.78+0.86+8%+20/30%0.5+0.975=
2> A(52)
44,254 5,486,215 +0.78+0.86+37 H*20/30%0.5+0.975=
699,396 2E=H
599,313 e
1>65
247,149 3,622,469 +0.86+238*20/30%0.5%1.0=
1 101-7000-7002-134-110 : SY-=E-SHFAUASHIE XN -25) |20 -(FY) sHSMFAZRQI2H-21214H]




e 20184 Ol
T =l L E
2573
229,975 2,844,815 +0.86+282%*20/30%0.5+1.0=
3>8=2
77,720 2,317,238&3+0.86+117%x20/30%0.5%1.0=
4>92
29,162 2,076,091 &+0.86+49H+20/30%0.51.0=
5>H2AAR(LIR)
7,678 3,348,160 +0.86x8H+20/30%0.5%1.0=
6>H2FARU(R)
7,629 2,217,604 %0.86%12Hx20/30%0.5+1.0=
100,083 LA
1>R1Al
100,083 3,653,882 +0.86+98 2% +20/30*0.5+0.975=
1,987 | LLEEIY 2= ®e
1,198 | eI
-1,193 Jh Bz
1>3=
-1,193 8,000,632 +0.78+0.86%—1H*8/12+20/30+0.5%1.0=
794 | 223w
794 | one
1>95
—-794 2,076,091 21+0.86x—2H*8/12x20/30+0.5+1.0=
2 ZEA
-5,326 —-5326396 &=
[7011] 10,725,000 | ===
$ 278,515
[200] 1,921,000 | (B)II=ZI(SSNLD} S)
[170] 269,304 | eIt
[110-03] 256,304 | 482
255,901 | 1. 2IHUZZX B
ot =3
204,000 1,700,000&*12&*102!=
Lt SiXtR2E0 g
8,442 56,280 *152*100Q1=
Oh Z2Rag
27,859 232,160 *12&*100Q1=

© 101-7000-7011-200-110 :



(o9 &2, 1$]
20184 Ol AF
ir:
N =l LK o
2t Moz Al
15,600 130,000@*12&*1021=
2. 20184 Ollat=d
403 403,000&=
[110-04] 3,000 | ¥=o=
3,000 | 1. dE012
oh AR 22
3,000 1,500,000 32 & *101=
[210] 1,035,026 | 24|
[210-05] 60,000 | E20HA!HI
25,000 | 1. J|&2H
oh E200AHI
22,500 6,000&*x25%x150=
Lt SXZ8 MEAIZDQ U AAR 22X AlCY
2,500 2,500,000 =
21,960 | 2. S22 2A
21,960 | I E200AHI
1) YK F2HnE =2
9,360 | 6,000R%601x260YU=
2) SHEBU2EN U XM2H2
12,600 6,000&%15021x140=
8,190 | 3. Z2FARZtA!
oF S20HAI
8,190 6,000&*x15%*91 LU=
4,850 | 4. HIAHE A
2,718 | JF SXME 22X AlTH
1) H=ler
630 6,000&*1501%7U*1Al=
2) ML
648 6,000 & *x901x4 2Ux3A!=
3) Atzhal
1,440 | 6,0002%2001%4LU*3Al=
1,452 | LL OlHI==3 L DIgesa Al
1) olb2
552 6,000 & *4601x22=
= 1 101-7000-7011-200-210 : s sE-sSAAZHFTA-22I|2H|-(ZU))I2ZH(EXAY S)-28|




[Er2 @ &E, 1]
2018 Ofl&t
i(:
B S LK o
2) ol
900 |  6,000&%15001x1 =
Ch 20t THoed 22X At
360 |  6,000&%20Q1+3x14l=
2h. S20HAlb
1,800 | 6,000&*6*50=
0R2018E OflaHH
-1,480 |  -1,480,00024=
[210-06] 34,500 | ==
34,500 | 1. J|22Y
33,700 | Oh YLHE &g
1) BY s34y
14,820 | 30,0002%201%247 2=
2) BY Y&ELG
18,880 | 40,0002 *401%118L=
L. 20181 OI&HEH
800 |  800,0008=
[210-12] 543,954 | =2|&MH|
48,000 | 1. AFSS3EE XA
Ot £33 JI2ES|
20,000 |  1,000,0002%20H=
Lt SL0E ZIIXILI
8,000 | 1,000,000 *87H=
Ch 22U =53] 43 X2
12,000 | 1,000,000&12JH=
oh BBUIBAL S SARI
3,000 | 500,00024+67H=
Oh 24553| QWEIE
5,000 | 1,000,0002*5H=
495,954 | 2. HeEAm =X
Of HEE =7
480,320 |  608*790,0002=
Lk HIZ322 dex =7
4,000 | 102*400,0002=
Ch 24E242 X
11,634 |  11,634,0002=
= 1 101-7000-7011-200-210 : SsE-SURMAZHATX|-22)|2TH|-(EX))|2THI(SLXYL S)-2H|



el M, 1$]
2018 Oil&t
ir:
B 3o LK o
[210-16] 396,572 | JIEF2ZH|
378,910 | 1. W24l
T Ton =T
99,360 180,000 *46 10k 12&=
Lt SSXIADt
7,560 630,000& *1 0+12&=
Ch JIEr2
271,990 271,990,000&=
10,000 | 2. &Y
Ok CIAHE S eiELY
3,000 200,0002+521+3% &=
Lt 20184 OIAFEH
7,000 7,000,000&=
3. EEERA JIE2IL|
3,342 3,342,000&=
4. ZARA JIEL2 S
2,160 |  2,160,000%=
2,160 | 5. HIAH = RA
Ch JIEt2 S|
2,160 2,160,000&=
[250] 578,300 | H24sAH|
[250-02] 561,300 | ==4s2H|
561,300 | 1. EAHZ
o &
29,700 2,475,000&*121x12&=
Lb. X2
16,200 1,350,000&*1Q1x12&=
Ch 12, D22 JIS3
37,800 1,050,000 #321x12&=
o 233 DT LSS 23012 2
151,200 900,000 %1421x12&=
Oh 82 =48 &
78,000 500,000 %132!x12&=
bt 82 =43 g
5,400 450,000 %1 21x128=
= 1 101-7000-7011-200-250 : s-s=-sUFAAZHTNA-22)|2HH|-(SU)I|2ZH(SL XY S)-Z 23|




2018 Oil&t

== S Ly o
OWENCESIEET
147,000 |  350,00024+3501+128=
O 42 BEIIB 2
10,800 |  300,00024%301+128=
R 42 JIEH
82,800 |  150,0002+4601x12%i=
A 2018 BIAIEH
2,400 | 2,400,0008!=
[250-03] 17,000 | S|
17,000 | 1. ZARRHA
oh 2NES SRET|
16,740 |  93,0002+15%+122=
L. 20184 OlAIEH
260 |  260,0008=
[320] 48,370 | 2I2H0IE
[320-00] 48370 | D822
I RSN ¥ ASH AYBHE
10,043 | 1,859,800%4.5%x122+100l=
3,780 | 2. DEFEE 2L
oh RIIHE L A8
3,348 | 1,859,8002+1.5%+128%1021=
Lt +&32e
432 | 1,200,0002+3H+8% 1 5%=
11,339 | 3. 2L 2HLL
oh RIIHE 2 28X
10,043 | 1,859,8002%4.5%+1221001=
Lt +&32
1,206 | 1,200,0008%4.5%+32+801=
1,512 | 4. dTREE oI9S
oh RIIHE L g
1,339 | 1,859,8002%0.6%+122+100l=
Lt #5228
173 | 1,200,00024+0.6%+32*
5. PIN U 28N gD
21,000 | 2,100,00010=

: 101-7000-7011-200-320 :




2018 0flat
_—EC
B =L LK &
EEEEIPSN]
400 | 400,00084=
7. 2018 OllAFES
296 | 296,0008=
[201] 140,000 | (B%)J1=23HI0I24)
[210] 122,000 | 2l
[210-05] 110,000 | S20HAIHI
1. S20H4lb
110,088 |  662*27826,0008!=
2. &N
-88 | -88,0008=
[210-16] 12,000 | JIEF2EH
6,000 | 1. HIAA 22
b AFAHINA
3,600 |  300,0002*128=
Lt SEAHIAA
2,400 | 200,0008i+128=
2. UMLK SAE
6,000 |  300,00084%203I=
[250] 18,000 | =24
[250-03] 18,000 | SHALALI
I EEEET
18,000 |  150,0008102*128=
[202] 70,000 | (BH)J122H|(sLHM2)
[210] 70,000 | 2|
[210-05] 67,600 | S20HAlH]
1. AlZtel 22 S204A
64,872 |  6,0002+53%#17Ux122=
2NN MEA 2
2,160 |  6,0002*901x40L=
3.2X¢s 22K AR
480 | 6,00021x40Lx241x13]=
5.X%H
88 | 88,000=

©101-7000-7011-202-210 : sY-=&-=



2018 Oil&t

i(:
- =ell LA S
[210-16] 2,400 | JIEr29H|
1. HIMA 29HI(sX=2
2,400 200,0002%128=
[203] 52,000 | (BH)J|=2AH|(A2E 22
[210] 52,000 | 24|
[210-05] 49,600 | S20HAH]
1. S200AlH]
50,400 6000%50%14%12=
2.xH
-800 -800,000=
[210-16] 2,400 | JIEI29H]
1. A R2A 2|
2,400 200,0002%128=
2.xH
O:
[204] 172,000 | (BEH)I|1=2ZHI(2HEARZ)
[110] 115,000 | 1244
[110-03] 115,000 | 2=
1. A2 A2 Q1|
115,000 383333332*x3%=
[210] 45,000 | 24|
[210-05] 40,000 | E204AH]
1. E200AH|
40,320 6,000,142 *40H*122=
2. XX
-320 —-320000=
[210-16] 5,000 | JIEF2 QY|
1. HIAA 29|
5,000 416,6662%128=
[320] 12,000 | I2t0|A
[320-09] 12,000 | D28242
1. QA20X22 40 BEE2
12,600 350,00024%3%*128I=

© 101-7000-7011-204-320 : sH-=E-sHSLAIZH
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2018 Ol &
o
B =L LK &
2.28
—-600 —-600000&=
[205] 60,000 | (B%)J|I2ZHI(SEHHI)
[210] 60,000 | =&HI
[210-05] 54,000 | SZ20HAHI
1. S20HAHI
51,480 6,000 55 *13L*12&=
2. 8
2,520 2520000=
[210-16] 6,000 | JIE+2EH]
1284 292
2,400 200,000&*128=
2122 2HA|
3,600 300,000 *12&8=
[206] 53,000 | (B¥)|I2ZHI(FTSABHHUD)
[210] 53,000 | 2&HI
[210-05] 50,600 | S20HAlH
1. S20§A|
50,595 5,690x57H+13Y+12&=
258
5 5000=
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